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GENERAL CTESCRIPTION
’HI GNISTIC CAN CHRIN 16 DULI Tﬂ’S A4S THAT
gﬁ CEc CAN BE SEQUENTIRLLY éXEs S12EL7 YHE DIAGNTSTIC

mes OME "©ASS BEFCRE PROCEEDING TO THE NEXT CEVICE
ap Enmvus EXERCISING ALL CEVICES IN n-:s FASHION UNTIL

PESUIREMENTS

POP-11 FRMILY STANDARD COMPUTER WITH CR WITHOUT MARCWARE SWITCH
REGISTER (LOC. 177570)

DUL1  SYNCRCNOUS/ISOCRONOUS OPTION
ONE CONSOLE TELETYPE CR EQUIVALENT
STORAGE

LORDING PRCCEDLRE

THE STRANCARRD PRCCEDURE FOR LORDING ABSCLUTE BINARY TRFES
1S 70 BE USED.

STARTING RDDRESS
FOR RBSOLUTE LORCER

4K 617500
B« 037500
12K 057500
16K 077500
20K 117500
24K 13750C
28K 157500

ETARTING PROCEDURE
CONTROL SKITCH SETTINGS

NOTE: SOFTWARE SWITCH REGISTER IS DEFINED RS LOC. 176, WHILE
THE SOFTWARE DISPLAY REGISTER 1S DEFINEC A3 LOC. 174.

AFTER PROGRAM LORD (INITIAL PROGRAM STRRT)
ALL CONSOLE SWITCHES DOWN

TC MODIFY DEVICE VECTOR AND CONTROL REGISTER RDCRESSES
AFTER PRCGRAM RESTART OR TO RUN MULTIPLE DEVICES

Sika0=!
TO START PROGRAM AT SELECTED TEST AFTER A PROGRAM RESTART

Ses COC2
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(ONLY IN SINGLE TEVICE TESTS®
SWil=1

%.1.4 TO LOCk ON SELECTED TEST AFTER R FRCOSRAM RESTART
(CNLY IN SINGLE DEVICE TESTS)

BE USED WHEN SWO2=1 IS LSED

SWd2=1
NOTELl: IN GENERAL SWOl WILL
“.CCK ON TEST™ WILL DEFRULT TQ TEST !

|
{
! NOTEZ: WITHOUT SHO1=1
5.2 STARTING ADCRESS
THE STRRTING RDDRESS FOR ALL TESTS IS 000200
THE RETARTING ADDRESS FCR ALL TESTS IS 000200
, THE STARTING RDDRESS 10 ENTER A SELECTED TEST IS 000200
! THE STARTING ADDRESS TO LOCK CN TEST IS  C00203
4.3 PROGRAM AND/OR OPERATOR ACTION
4.3.1 INITIAL PROGRAM START
, 4.3.1.1 LORD PROGRAM INTO MEMORY WITH RBSOLUTE LCAZER
4.3.1.2 LORD RDDRFSS 000200
4.3.1.3 CLEAR CONSOLE SW®TCHES

4.3.1.4 PRESS STARY

——— =

(T2 ]

NOTE: IF THE SOFTWARE SWITCH REGISTER IS SELECTED THEN THE FOLLOWING
WILL BE TYPED RFTER THE PROGRAM IDENTIFIES ITSELF:
SWR=)0000X NEM=  (REFER TO SECTION 5. FOR OPERATOR'S OPTION)

4.3.1.7 THE PROGRAM WILL TYPE “R™ V0 INDICATE THART IT IS RBOUT
10 STMT TESTING ,AND TFEN TESTING WILL BEGIN

4.3.2 PROGRAM RESTART KITH ALL SWITCHES DOWN
4.3.2.1 THE PROGRAM WILL TYPE “R™ AND WILL COMMENCE TESTING
4.3.3 PROGRAM RESTART WITH SKWO0=1
4.3.3.1 LOAC ADORESS 000200
4.2.3.2 SET SWOO=!
4.3.2.3 PRESS START
NOTE:IF THE SOFTWARE SWITCH REGISTER IS SELECTED TI-CN TME FOLLOWING
WILL BE TYPED AFTER THE PROGRAM IDENTIFIES ITSELF
SWR=XXXXXX NEW=  (REFER TO SECTION S. FOR OPERRTOR S OPTION)

4.3.3.4 THE PROGRAM KILL TYPE * 1ST DEVICE: RECEIVER CONTROL REGISTER
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RCORESS™ RAND WRIT FOR AN INPUT FROM THE TELETYFE KEYECARD
4.3.3.5 TYPE TN THE RCDRESS OF THE FIRST RECEIVER CCNTRCL

REGISIER ARCRESS OF THE DUL1 TO BE TESTED
FCLLOWED BY R <CARRIAGE RETURN>

IF AN INCORRECT ADDRESS IS TYPED , THE onornnn WILL TYPE "o
AND WILL THEN REPEAT THE MESSAGE &F 4.3.3

4.3.3.6 THE PRCGRAM WILL TYPE “VECTOR RDORESS-" AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD

4.3.3.7 TYPE IN THE BASE RECEIVER INTERRUPT VECTOR ADDRESS
FOR THE DUI1 TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN)
IF AN INCORRECT ADDRESS IS TYPED rns PROGRQF WILL TYPE *7*
AND WILL THEN REPEAT THE MESSRGE OF 4.3.3.6

4.3.3.8 THE PROGRAM WILL TYPE “ARE YOU RUNNING MULTIPLE DEVICES °%
(Y OR N)-" AND WARIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

4.3.2.9 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWFT 3V R
«CARRIAGE RETURN)

IF AN INCORRECT ANSWER IS GIVEN, THE PROGRAM WI.L TYPE *2*
AND WILL THEN REPCART THE MESSAGE OF 4.3.3.8

IF A “NO” ANSWER IS GIVEN: JUMP TQ SECTION 4.3.3.12
IF R "YES™ RANSKER IS GIVEN:THE NEXT GUESTION .S RSKED

4.3.3.10 THE PROGRAM WILL TYPE “LARST DEVICE:FECEIVER CONTROL
REGISTER RDDRESS-" AND WRIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
3.3.11 TYPE IN THE RDDRESS OF THE LP5T RECEIVER CONTROL REGISTER

RODRESS OF THE DUIl TO BE TESTED FOLLOWED BY A (CARRIAGE RETURN)

IF AN INCORRECT ANSMER IS TYPED ,THE PROGRAM WILL TYPE =?°
AND WILL THEN REPERT THE MESSAGE OF 4.3.3.10
NOTE:RLL RDDRESSES SHALL BE CONTIGUOUS

4.3.3.11, 1 IF AN “0UT OF RANGE® RODRESS IS TYPED
MORE THAN 16 (10) DEVICES RWAY (UPWARDS),.... THE
PROGRRH WILL TYPE “OUT OF RANGE:RETYPE LAST DEVICE RXCSR RDDRESS-*
RAND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.11.2 TYPE IN THE ADDRESS OF THE LAST RECEIVER CONTROL

REGISTER RDDRESS OF THE DULl TO BE TESTED FOLLOWED
Br R <CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE "?*
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AND WILL REPERT THE MESSAGE OF 4.3.3.11.1

IF A DEVIC ﬂDDRESS LOHER THAN IST DEVIC RDDRESS IS TYPEC...........
......... THERE IS NO PROTECTICN F HIS.

THE PROGRRH HILL DEFAULY TO TWO DEVICES ACTIVE 'UPNQROS FROM
1ST DEVICE ADDRESS).THE SAME APPLIES TO IDENTICAL ADDRESSES
TYPED FOR FIRST AND LAST DEVICE.

OBSERVE LOCRTION @ RCTREG: SEE SECTION 7.2

4.3.3.12 THE PROGRAM WILL TYPE "DU PRIORITY LEVEL-" AND
WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.13 TYPE IN_THE APPROPRIRTE DEVICE PRIORITY LEVEL OF THE
DUIL1 OR DUI1'S TO BE TESTED FOLLOWED 8Y A <CARRIAGE RETURN)
ﬁESEE)THﬂTIgLL SULTIPLE ODEVICES MUST BE AT THE SAME PRIORITY

IF AN INCORRECT LEVEL IS TYPED ,THE FROGRAM WILL TYPE "**
AND REPEAT THE MESSAGE OF 4.3.3.12

4.3.3.14 THE PROGRAM WILL TYPE "# OF SYNC CHARS
EE#E%;EB (1 OR 23)-" AND WARIT FOR AN INPUT FROM THE TELETYPE

4.3.2.15 TYPE IN THE APPROPRIATE ANSWER *1% CR *2* FOLLOWED
gg ?Hécgggé?GE RETURN>. (NOTE:ALL MULTIPLE DEVICES MUST

IF AN INCORPECT ANSWER IS TYPED ,THE PROGRRH WILL TYPE =7
AND WILL REPEAT THE MESSAGE OF 4.3.3.1

4.3.3.16 THE PROGRAM WILL TYPE = IS SEC XMIT JUMPER 86 IN ? (Y OR N)-"
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.3.17 TYPE IN THE RPPROPRIATE ANSWER YES OR NO FOLLOWED

BY A (CARRIAGE RETURN)>.(NOTE THAT ALL MULTIPLE DEVICES
MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE *?*
AND WILL REPEAT THE MESSAGE OF 4.3.3.16

4.3.3.18 THE PROGRAM WILL TYPE *IS SEC REC JUMPER & 5 IN ?
(Y OR N)-" AND KAIT FOR AN INPUT FROM THE TELETYPE KEYBOARRD
4.3.3.19 TYPE IN YHE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <(CARRIAGE KLTURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN _INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE ***
ANC WILL REPEAT THE MESSAGE OF 4.3.3.18

4,3.3.20 THE PROGRAM WILL TYPE IS OPT CLR ENABLE JUMPER

SeQ COCS
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4 IN ? (Y OR N)=" AND WRIT FOR AN INPUT FRGM THE TELETYEE KEYBOARD

4.3.3.21 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED
8Y R <CRRRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SRME)

IF AN_INCCRRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE =7
AND WILL REPEAT THE MESSAGE OF 4.3.3.20

4.3.3.22 THE PROGRAM WILL TYPE "RRE YQU RUNNINs ™'. MQINT.
MCDE EXTERNAL ? AND ...... DO YOU HAVE THE EXTeShA MODEM
BYPRSS JUMPER CONNECTOR ON ? (Y OR N)-" AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARRD

4.3.3.22 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY
R (CRRRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE *?*
AND WILL REPEAT THE MESSAGE OF 4.3.3.22

4.3.3.24 THE PROGRAM WILL TYPE “R™ TO INDICATE THART IT
HRS STARTED AND WIL. COMMENCE TESTING AT TEST |1

4.3.4 PRCGRAM RESTART WITH SWOl=1
NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED
oo X7 WILL NOT WORK IF MULTIPLE DEVICES RRE SELECTED

IF MULTIPLE DEVICES WERE PREVIOUSLY SELECTED,LOAD 000200,
ggg aE%EgT SWO0=1 AND ANSWER “NO™ TO THE MULYIPLE DEVICE QUESTION

4.3.4.1 LORD 000200
4.3.4.2 SET SWOl=l

4,3.4.3 PRESS START

NOTE: IF THE SOF TWARE SHITCH REGISTER IS SELECTED THEN THE FOLLOWING
WILL BE TYPED RFTER THE PROGRAM IDENTIFIES ITSELF:
SWR=XXXXXX NEW= (REFER TO SECTION 5. FOR OPERRTOR'S OPTION)

4.3.4.4 THE PROGRAM WILL TYPE “TEST PC-* AND WAIT FOR AN INPUT FROM
THE TELETYPE KEYBORRD

4.3.4.5 TYPE IN THE ADDRESS OF THE TEST AT WHICH THE PROGRAM IS 10
BE STARTED FOLLOWED BY A <CARRIAGE RETURN>

4.3.4.6 THE PROGRAM WILL TYPE "R™ TO INDICATE THAT IT HRS STARTED
TESTING AT THE SELECTED TEST

NOTE CARE MUST BE TRKEN WHEN THIS FEATURE IS USED
TNCE THERE IS NO PROTECTION RGRINST SELECTING AN RDDRESS
v IS IN THE MIDDLE OF R TEST

4.3.5 PROUGRAM RESTART WITH SWO2 =1
NOTE: THIS WILL ONLY WOF< WHEN A SINGLE DEVICE IS SELECTED

Sed 00C6
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SEE NOTE IN 4.3.4 FOR MORE DETARILS
4.3.5.1 LORD RDDRESS 000200

4.3.5.2 SET _SkQg =!
NOTE: IT MARY BE RDVANTAGEOUS TO SET SWOl=1 (OPTIONAL)

4.3.5.3 PRESS START

NOTE:IF THE SOFTWARE SWITCH REGISTER IS SELECTED THEN THE FOLLOWING
WILL BE TYPED QFTER THE PROGRAM IDENTIFIES ITSELF:
SWR=XXXXXX NEW= (REFER TO SECTION 5. FOR OPERATOR’S OPTION)

4.3.5.4 THE PROGRAM WILL TYPE “LOCK ON SELECTED TEST ? (Y OR N)-*
AND WRIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.5.5 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A
{CARRIRGE RETURN>

IF A_NO ANSWER IS GIVEN: THIS LOCK ON TEST WILL BE IGNORED
AND THE PROGRAM WILL TYPE "R™ TO INDICATE THAT IT HARS STARTED
TESTING AT TEST |

4.3.5.6 IF A YES ANSWER WAS GIVEN:THE PRGGRAM WILL ACT AS FOLLOWS...

THE PROGRAM WILL TYPE "R™ TO INDICATE THAT IT HAS STARTED
TESTING AT TEST AND WILL REMAIN IN TEST 1 UNTIL HALTED

OR IF KEY 1S STRUCK ON THE TELETYPE ,THE PROGRAM
WILL FREEZE ON THE NEXT TEST UNTIL R KEY IS SYRUCK ON

ms TELETYPE AND SO FORTH THRU THE PROGRAM. IF SWOl =1 1IT
WILL PERFORM RS IN SECTION 4.3.4 ALLOWING ONE TO FREZZE

ON A SELECTED TEST RATHER THAN DEFAULTING TO TEST 1

OPERATING PROCEDURE

IF THE DIRGNOSTIC IS RUN ON A CPU WITHOUT A SWITCH
REGISTER THEN R SOFTWARE SWITCH REGISTER IS USED WHICH ALLOWS

THE USER THE SAME SWITCH OPTIONS AS THE HARDWARE SWITCH REGISTER.

IF THE HARDWARE SWITCH REGISTER DOES NOT EXIST OR IF ONE DOES
AND 1T CONTAINS ALL ONES (177777) THEN THE SOFTWARE SWITCH
REGISTER (LOC. 176) IS USED.

CONTROL :

THIS PROGRAM ALSO SUPPORTS THE DYNAMIC LOADING OF THE SOFTWARE SWITCH
REGISTER (LOC. 176) FROM THE TTY. THIS CAN BE ACCOMPLISHED BY
DOING THE FOLLOWING:

1) TYPE CONTROL G ¢(4G>: THIS WILL ALLUW THE TTY TO ENTER DATR INTO
LOC. 176 AT SELECYES FUINTS WITHIN THE PROGRAM.

2) THE MACHIne WILL YHEN TYPE: SWR=XXXXXXNEW= (XXXXXX IS THE OCTAL CONTENTS

OF THE SOFTWARE SWITCH REGISTER.)

3) AFTER THE '’NEW='' HAS BEEN TYPED THEN THE OPERARTOR CAN DO ONE
OF THE FOLLOWING AT THE TTY:

SEQ 0CC?7
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R) TYPE A NUMBER TO BE LORDED INTO LOC. 176 FOLLOWED BY R <CR>.
(ONLY NUMBERS BETWEEN 0-7 WILL BE ACCEPTED AND ONLY & NUMRERS
WILL BE ALLOWED)

IF & <CR> IS THE FIRST KEY DEPRESSED THE SOF TWARE SWITCH
REGISTER CONTENTS WILL NOT BE CHRNGED.

B) IF A CONTROL U <tU> IS DEPRESSED THEN THE PROGRAM WILL SEND YOU
BACK TO STEP 2.

OPERRTIONRL SWITCH SETTINGS
HALT ON ERROR

SH. =1 LOOP ON CURRENT TEST

SWi2 =1 INHIBIT ERROR TYPEOUT

SWil =1 INHIBIT _ITERATIONS

SW10 =1 ESCRPE TO NEXT TEST ON ERROR

SWag =1 LOOP ON %RROR

Sk2 =1 LOCK O s

SWdi =1 RESTRRT PROGRAM AT SELECTED TEST

SWo0 =1 RESELECT VECTOR ~ND CONTROL REGISTER ARDRESSES
3PRRAMETERS AFTER RA_PROGRAM RESTART

TC INHIBIT “END OF PRSS™ TYPEOLT - TURN TELETYPE OFF

ERRORS

ERROR HALTS

THERE ARE FOUR DISTINCT ERROR TYPEQUTS

NOTE: IF THE SOFTWARE SWITCH REGISTER IS TO BE CHANGED AFTER A HALT
THE THE OPERATOR IS REQUIRED TO TYPE R <(tG> BEFORE DEPRESSING CONTINUE.
THE FOLLOWING WILL Be TYFED:

SWR=XXXXXX MNEW=  (REFeR TO SECTION S. FOR OPERATOR OPTION)

PC+2 = ERROR PC
WHERE PC +2 IS THE ARDDRESS OF THE CALL TO THE ERROR HANDLER +2

REFER TO Tve RBOVE “MLT* IN DIAGNOSTIC FOR ZsROR DESCRIPTION

CHECK RDDRESS & RXCSR: TO LOCATE THE DEVICE PRESENTLY UNDER
TEST WHEN RUNNING MULTIPLE DEVICES

PC +2 = REGISTER ERROR PC

REGISTER XPECTED RCTUAL

lbeXX YYYYYY 222222

WHERT 1€XXXX IS THE ARDDRESS OF THE FARILING DEVICE REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THART REGISTER
WHERE 222277 IS THE ACTUAL CCNTENTS OF THAT REGISTER

PC +2 = RECEIVER ERROR PC

REGISTER EXPECTED ACTUAL

16XXXX YYYYYY 222222

HHERE 16XXXX IS THE ADDRESS OF THE FAILING RECEIVER (RXDBUF) REGISTER

SEC 0008

—_— em——— ———
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WHERE YYYYYY IS THE EXPECTED DATR CONTENTS OF THRT REGISTER
WHERE 222222 IS THE ACTUAL DATA CONTENTS OF THAT REGISTER

PC +2_= TRANSMITTER ERROR PC
REGISTER EXPECTED RCTUAL
16XXXX YYYYYY 222222

WHERE 1BXXXX IS THE ADDRESS OF THE FRILING TRANSMITTER (TXCSR) REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THRT REGISTER
WHERE 222222 IS THE ACTUAL CONTENTS OF THRT REGISTER

ERROR DESCRIPTIONS
SEE LISTINGS FOR DETRILS OF ERRORS

ERROR RECOVERY

SWIS =0
IF THE PROGRAM IS RUN WITH SW1S =0 ,NO OPERATOR RCTION IS
REQUIRED TO CONTINUE TESTING

SK1S =1

IF _THE PROGRAM IS RUN WITH SWIS =1 ,T0 CONTINUE TESTING
RFTER THE PROGRAM HRS HALTED ,PRESS THE PROCESSOR
CONSOLE “CONTINUE SWITCH®

NOTE: THE PC + 2 OF THE "HLT™ WILL BE DISPLAYED IN THE DATR LIGHTS

ILLEGAL INTERRUPTS

IF AN INTERRUPT OCCURS TO A VECTOR ADDRESS NOT SELECTED
DURING PROGRAM INITIARLIZATION, THE PROGRAM WILL HALT IN
THE TRAPCATCHER. THE ADDRESS AT WHICH THE PROGRAM

HALTS IS 2 GREATER THAN THE ADDRESS TO WHICH THE INTERRUPT
OCCURED. THE PROGRAM MUST BE RESTARTED AT 000200 TO
RECOVER FROM THIS ERROR.

ADDITIONAL TROUBLESHOOTING RIDS ERRCNT: 8 PASCNT:

CHECK THESE TWO TAG LOCATIONS FOR TOTAL s OF ERRORS AND PASSES RESPECTIVELY.

LORDING 000200 AND RESTARTING WILL CLEAR THESE LOCATIONS.

END OF PASS ROUTINE
THIS TYPEQUT 1S MENTIONED HERE FOR CONVENIENCE
IT IS IN THE FORM:

END OF PASS TAPE Y
16XXxX = DEVICE

WHERE Y IS THE TRPE LORDED
WHERE 16XXXX IS THE DEVICE'S BASE REGISTER ADDRESS
TO INHIBIT THIS TYPEOUT - TURN TELETYPE OFF

SEQ 0003
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RESTRICTIONS

MULTIPLE DEVICES
UP 70 16(10) DEVICES MAY BE TESTED. HOWEVER, THEY
MUST HRVE CONTIGUOUS ADDRESSES AND VECTORS

NOTE: IF ALL DEVICES UNDER TEST ans THE SAME INTERRUPT VECTOR
YOU CAN CHANGE  “ZERO:  ADD  #10,BASEIV -NEXT BLOCK
(VECTORS)™ TO “2ER0:  ADD BQSEIV“

THEREBY THE VECTOR ADDRESSES uILL NOT BE’

UPDRTED AFTER ERCH PASS.

DISQUALIFYING DEVICES WHEN RUNNING MULTIPLE DEVICES

WHEN RUNNING MULTIPLE DEVICES AN ACTIVE BIT IS SET
FOR £ACH DEVICE RUNNING UNDER TEST 1E. BIT O FOR
DEVICE 0 ,BIT 15 FOR DEVICE 1S

TO DISQUALIFY DEVICES:

IF DEVICE 0 IS T0 BE DISQUALIFIED ,SIMPLY RESTART
PROGRAM WITH SWOQ =1 AND OMIT THE FIRST DEVICE.

IF HCWEVER, DEVICES 1 THRU 15 OR ANY COMBINATI(N THEREOF
ARE 10 BE bxsounLIFIEo .LORD THE LOCATION OF -°TREG:
OBSERVE THE ACTIVE BITS (ACTIVE =1, NONARCTIVE = J)

AND DEPOSIT O WHERE THOSE DEVICES ARE TO BE DISQUALIFIED

7.2.2.1 TO RESTART...LORD 000200 IN SWR_AND DEPRESS START..

THE PROGRAM WILL CONTINUE WITH THE DEVICE IT WAS IN BEFORE HALTING.

7.2.2.2 ...c... OR ..... LORD 000200 WITH SHUU =1 AND DEPRESS START..
RNSUER THE QUESTION :1ST DEVICE : ETC...........
.THE PROGRAM WILL CONTINUE WITH DEVICE O

7.2.2.3 IF ALL DEVICES ARE DISQUALIFIED BY MISTAKE = THE PROGRAM
WILL TYPEOUT AN ERROR MESSAGE....... LORD & START AT (000200

CABLE DELAYS
NOTE: EXTERNAL LOOP BACK TESTS ONLY «MODEM CABLE WITH H31S CONNECTOR ON)

TO PROVIDE SUFFICIENT CSLAY FOR CLOCK SIGNAL OVER THE CABLE
LOCATION “HOLD:* MUST BE MODIFIED 1O ACCOMODATE FOR FRSTER MACHINES.
PRESENTLY “HOLD:* =20 IS SUFFICIENT TIME ON AN 11/20 MACHINE.
IF RUNNING ON AN 11,40 OR AN 11/45 “HOLD:"™ €UST BE PARTCHED TO 40
BASICALLY DON'T TRY TO EXCEED 17« TO 12K RATE USING THE EIR DRIVERS
0 USE THE “XOR"™ TESTER ,THE BRRNCH RROUND THE *XOR™
CODE MUST BE PATCHED TO A “NOP™". (SEE LISTINGS FOR DETARILS)
DEFAULT PARAMETERS:
1ST CEVICE: RECEIVER CONTROL REGISTER RDDRESS- RXCSR: 160040

VECTOR ADORESS- DURIV: 770

SEQ 0010
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RARE YOU RUNNING MULTIPLE CEVICES ?- NO MULTD: O
LAST PEVICE: RECEIVER CONTROL REGISTER ADDRESS- LASTADD: O
QU PRIORITY LEVEL- LEVEL S DUPRT: LEVEL §

s OF SYNC (HARRS SELECTED - 2 SYNCNQ: 377

IS SEC XMIT JUMPER % & IN ?- YES SEXMIT: 377

IS SEC REC JUMPER # 5 IN ?- YES SEREC: 377

IS CPT CLR ENRBLE JUMPER # 4 IN ?- YES OPTCLR: 377

DO YCU HAVE THE EXTERNAL MODEM BYPASS JUMPER
CONNECTCR ON (H315)- YES JMRBY: 377

PROGRAM DESCRIPTION

FLOW CHARTS: RECEIVER FLOW, TRANSMITTER FLCW, TRANSMITTER & RECEIVER FLOW
LISTINGS

SEQ 0011
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21-MAY-7& 02:00
.ENRBLE ABS

:0Ull DZDUD-C TAPE D
; COPYRIGHT 1973, DIGITAL EQUIPMENT CORP., MAYNARD, ..+SS. 01754

:STARTING PROCEDURE
:LORD PROGRAM

:PRESS STRRT

: PROGRAM WILL TYPE "DUIl DZDUD-C TAPE D "

s PROGRAM WILL TYPE "R™ TO INDICATE THRT TESTING HAS STARTED
AT THE END OF A PASS, PROGRAM WILL TYPE "END OF PASS TAPE D*
:AND THEN RESUME TESTING

; SWITCH REGISTER OPTIONS

100000 SW15=100000 ;=1,HALT ON ERROR

g40cao SW14=40000 ;=1,L.00P ON CURRENT TEST

020000 SW13=20000 ;=1, INHIBIT ERROR TYPEOUT

010000 - SW12=10000

004000 SW11=4000 ;=1,INHIBIT ITERATIONS

02000 SW10=2000 ;=1,ESCAPE TO NEXT TEST ON ERROR
01000 SW0S=1000 3=1,L00P WITH CURRENT DATA
0Cco4C0 S408=400 ;=1,LO0P ON ERROR

003100 SW06=100

000040 SWOS=40

020020 SW04=20

0oogie SWO3=10

000034 SWO2=4 ;LOCK ON TEST SELECT

000002 SWol=2 :RESTART PROGRAM AT SELECTED |EST
600201 SWO0=1 SREGELECT VECTOR AND CONTROL REGISTER

RDDPESS AFTER PROGRAM RESTART

SEC 0012
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NO1

DZDUDC.P1l  21-MAY-7& 00:00
585
ggg REGISTER DEFINITIONS
{
588 000000 RO=%0 - GENERAL REGISTER
589 000001 R1=%1 : GENERAL REGISTER
593 000002 R2=zY%2 *GENERAL REGISTER
591 930003 R3=3 : GENERAL REGISTER
592 000034 R4=34 : GENERAL REGISTER
£33 0000CS RS=45 : GENERAL REGISTER
594 020806 SP=v6 : PROCESSOR STACK POINTER
535 0000G7 PC=%7 : PROGRAM COUNTER
=]
§gg : LOCATION EQUIVALENCIES
-
599 177570 DSWR=177570 : HARDWARE SWITCH REGISTER LOC.
600 177570 DLIGHTS=177570 :HAROWARE DISPLAY REGISIER LOC.
601 177776 PS=177776 s PROCESSOR STATUS WORD
ggg 001100 sTACK=1100 'GTART OF PRCCESSOR STACK
Egg : INSTRUCTION DEFINITIONS
806 005746 PUSHISP=5746  :DECREMENT PRCCESSOR STACK ! WOR
807 005726 POP15P=5726 : INCREMENT PROCESSOR STACK 1 WOR
08 010046 PUSHRO=10046  ;SAVE RO ON STACK =MOV RO, -(SP)
608 012600 POPRO=12600 *RESTORE RO FROM STACK =MOV (SP)
613 024646 PUSHRSP=24646  :DECREMENT STACK TWICE =CMP -csp
Bil 022626 POP2SP=22626  ; INCREMENT STACK TWICE =CMP (SE)
gis .EQUIV EMT,HLT ;BRSIC CEFINITION GF ERROR CALL
B1Y
615 100000 BIT15=100000
ElB 040000 BIT14=40000
17 020000 BIT13=20000
618 013000 BIT12=10000
B9 004000 BIT11=4000
£20 002000 BIT10=2000
g2l 001000 BIT3=1000
£22 000400 BIT8=400
Be3 000200 BIT?=200
624 000100 BI1T6=100
€25 000040 BITS=40
B2k 000020 BIT4=20
62?7 000010 BIT3=10
o8 000004 BIT2=
629 000002 BITI=
ggg 600001 BITO=1
832 - PROCESSER LEVELS
623 000340 (EVEL7=340
634 000300 LEVEL6=300
£35 000240 LEVELS=240
£2 000200 LEVELY=200
£37 00014 LEVEL3=140
£2g 000100 LEVEL2=100
9 600040 LEVEL1=040
€40 000000 LEVELO=000

D =TST
D =TST
+,R0

) -(SP)
+ (SF)+

-(
(S

S
p

p
)

)
+

SEQ 0013




- G e ———— —— — e

[ ———

cerdL=C MRCY!

&-T’LGAQP:l

1 271206
2i-“Ay-7¢ 0.

BO2

23:3% FE IT

+REGISTER DEFINITIONS

-RXCSR BIT csr:nxv'ons
DSC=BIT15 :CATA SET CHANGE
RING=B]T1M ; NG
CTS=BIT13 CLR 10 SEND
CARDET=BIT12 cnnnxsa DETECT
RECARCT=BITI] REC ACTIVE
SRE=BITI0 .-ec REC DATA
F38=BIT9 :DATA SET ROY
STPSYN=BITE :STRIP SYNC
RXDONE=B] 17 :REC DONE
FINTEN=RITH REC INTR ENRBLE
DSINTE=BITS 0S¢ INTR ENABLE
SYNSCH=BI T4 : SYNC SERRCH
STD=BIT3 :SEC XMIT DATA
]T1S=81T2 ‘REG TO SEND
DTR=BITI :DATA TERN RDY
VCID=BITO

;RXDBUF BIT CEFINITIONS
RXEPR=BI15 :REC ERROR
CVRPUN=BIT1Y : OVERPUN
FRMERR=BITI3 :FRAME ERROR
PARER=BIT12 ‘PARITY ERRCR

-PRRCSR BIT osrxﬁx ous
PAREN=B1t9 ARITY ENRBLE
EVPAR=BITH E N PARITY SENSE

-PARCSR WRC DEFINITIONS
SYNINT=30000 -SYNC EXTERNAL MODE
SYNEXT=20000 :SYNG INTERNAL MODE
1SYMOD=0 :150C MJDE
FIVE=0 :WORD LENGTH 5 BITS
SIx=2000 :WORD LENGTH & BITS
SEVEN=4000 :WORD LENGTH 7 BITS
EIGHT=6000 :WORD LENGTH 8 BITS
NOPAR= :NO PRRITY
CDDPRR=1000 :0DD PRRITY
EVEPAR=1407 :EVEN PARITY

-TXCSR BIT osrxnirxo
ona=BIT1S A NOT AVRILABLE
MTDATA=BITIY ;naxur DRTA
CLK=BIT13 s CLK
BITW=BITIO :BIT WINDOW
MRESET=BIT8 :MASTER RESET
TXDONE=BI 17 s XMIT DONE
TXINTE=BIT6 :XMIT INTR ENRBLE
DNAINTE=BITS :DNR_INTR ENAB
SEND=BI T4 * SEND
HOXEN=BIT3 : HDX/F DX
BREAK=BITO : BREAK

- TXCSR WRO DEFINYTIONS
USER=0 -USER MODE
*INT=4000 MAINT INT MODE
MEXT=10000 :MAINT EXT MODE
SYSTST=14000 :SYSTEM TEST MODE

s TRAOCATCHER FOR' ILLEGAL INTERRUPTS

SEC 0014
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SE¢ OC1S
: STRNDRRD INTERRLPT VECTORS

.sg¥

PFRIL ‘POWER FRIL HRNDLER

340 :SERVICE AT LEVEL ?

. ERROR HANDL ER

340 SERVICE AT LEVEL

. TRPSRV : GENERAL HﬂhDLER DI‘PRTCH SERVICE

340 :SERVICE AT LEVEL 7
:SOFTWARE SWITCH REGISTER
2174

DISPREG: .WCRD O :SOFTWARE DISPLAY REG.

SWREG: .WORD O :SOFTWARE SWITCH REGISTER

JMP .START 60 TO START OF PROGRAM
=:100

INDIRECT POINTERS
SUWR: 177570 :SWITCH REGISTER POINTER
LIGHTS: 177570 :DISPLAY REGISTER POINTER
TKCSR: 177560 TELETYPE KEYBOARD CONTROL REGISTER
TKDBR: 177562 TELETYPE KEYBORRD DRTA BUFFER
TPCSR: 177564 TELEPRINTER CONTROL REGISTER
TPDBR: 1775686 TELEPRINTER DATA BUFFER

: PROGRAM CONTROL PRRRMETERS
RTIRN: O ; SCOPE RDDRESS FOR LOOP CN TEST
NEXT: O RDDRESS OF NEXT TEST TO BE EXECUTED
LOCK: O RDDRESS FOR LOCK ON CURRENT DATA
ICCUNT: O NUHBER OF ITERATIONS TE~T CURRENT TEST WILL BE EXECUTED
LPCNT: O NUHBER OF ITERERTIONS COMPLETED
TSTNO: O NUHBER OF TEST IN PROGRESS
PASCNT: O *NUMBER OF PASSES COMPLETED
ERRCNT: O TOYRL NUMBER OF ERRORS
LSTERR: O Pu OF LAST ERROR CALL

:PROGRAM VARIABLES
HOLD: 0 « TEMPORARY STORAGE=CELARY TIME FOR CRBLES
SKIFT: O TEHPORQRY STORAGE= 8 OF SHIFTS PER CHRR
COUNT: O TEHPORQRY STORAGE= 8 OF TIMES A CHAR WILL BE SENT
TEMP1: O : TEMPORRRY STORAGE
TEMP2: O TEHPORQRY STOR(.GE
TEMP3: O TEHPORQRY TORAGE
TEMPY: O : TEMPORARY STORAGE
TEMPS: O TEHPORRRY STORAGE
SAVRO: O :RO STORRGE
SaVRl: O Rl STORAGE
SAVRZ: O R2 STORAGE
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' Ceedl=C MACYLL 27110063
CoOUDC.PLL 21-MRY-76 03

Griitd BA3RE EavRa:
£3 r.'::1 y'a 000052 SAVRE:
11'

3?2 15 Bees A3

-2
20
:R3 STORAS

iRY ZTORAGE

;RS STORQGE

1 21aCK £Q % BTOPQ E

i PRCGRAM CCUNTER STORAGE

il

ol

OO0




DoOUD-C MACYLL 2T7(10
D<DUDC.PLL

001222
001E23
001224
001225

001226

nD1226
001230
001232
001234
001236
001240
COl24e
001244
001246
001250

21=-MRY

()
~

Eo—ou—oo—-e
=R PP
FoRIER

104411
014362
04412

=03T-T6 09:34 PRGE 20
:09

E02

SEC 0017
s PROGRAM_CONVERSATIONAL PRRQNETER:

SYNCNQ: .BYIE 377 8 OF SYNC CHARS REG'D FOR SYNC'ZATICN
SEXMIT: .BYTE 377 SEC YMIT JUMPER "IN’

SEREC: .3YTE 377 1SEC REC JUMPER "IN"

OPTCLR: .BYIE 377 :OPTIONAL JUMPER CLR "IN“

MULTD: .BYTE O sNO_MULTIPLE DEVICE FLAG

JE@EE: .BYTE 377 s EXTERNAL MODEM BYPASS JUMPER “IN“

; PROGRAM MULTIPLE DEVICE PARAMETERS
BASEADD: PROG CUNTROLLED 1ST DEVICE AUCR

SR 8 e
:

BRSEIV: PPOG CONTROLLED Iv

KE?EEV’ :SAVED INTR VECTOR
RCTREG: 'RSTIVE REGIS ER MODIFY THIS
:LOCATION TO DLSQﬂhLIFY OR QUﬂLIFY
{DEVICES (45 RNy, 0= DON:
ROTADD: 0 TATING POINTER’ ron QC'REG POINTS
:TO DEVICE PRESENTLY UNDER TEST WHEN RUNNING MULTIPLE DE
:PROGRAM CONTROL FLAGS

INIFLG: .BYTE O ; PROGRAM INITIALIZATION FLAG
STFLG: .BYTE G :TEST STARY FLKG

ERRFLG: .BYTE O :ERROR OCCURED FLAG

LOKFLG: .BYTE O :LOCK ON CURRENT TEST FLAG

:DEFINITIONS FOR TRAP SUBROUTINE CﬂLLS
;POINTERS TO_SUBROUTINES CAN BE FOU
:IN THE TRBLE IMMEDIATLY FOLLOHING THE DEFINITIONS

. TRPTAB:
(REERRRREERERERERFREREERRRREREEEREREREFREREERRRRFREEEEEEERERREEEEEFHFEEEER
l'l*!l*i*!iiiii**!l!*l"l'**i**li*il*!il*!*!l***ll******i!*i*!*****ii**!***i!

SCOPE=TRAP+0 ;CALL TO SCOPE LOOP AND ITERATION HANDLER

o SCOP1=TRAP41  ;CALL TG LOOP ON CURRENT DATA HANDLER
:35 TYPE=TRAP+2 ;CALL TO TELETYPE OUTPUT ROUTINE
erg VNSTRETRAPS3  jCALL TO ASCII STRING INPUT ROUTINE
nergr VSTERSTRAPH  (CALL TO INPUT ERROR HANDLER
PARAM=TRAP+S  ;CALL TO NUMERICAL DATA INPUT ROUTINE
:ngos SAVOS=TRAP+6  ;CALL TO REGISTER SAVE ROUTINE
RESOS=TRAP+?  ;CALL TO REGISTER RESTORE ROUTINE
:EESS:T CONVRT=TRAP+10 ;CALL TO DATA OUTPUT ROUTINE
ewgy CNVRTETRAPHLL  jCALL TO DATA QUTPUT ROUTINE WITHOUT CRALF

SETFLG=TRAP+12 ;CALL TO FLAG SET ROUTINE
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v.Pll Y-76 0 StC 0018
813 0C1352 Q14802 .SETFLG
814 044913 CKSWR=TRAP+13  ;CALL TO ALLOW SWREG TO BE LORDED FROM TTY
815 001254 Q815316 .CKSWR )
816 104414 . CNTLU=TRAP+I4  ;CALL TO ALLOW LOADING OF SWREG FROM 7TTY
817 001256 015372 LINTLU
818 :iiiIil!!*l!iiiliiiIlllli*lii!ili*liliilllli&llllllii!lil!*!liilllll!*i!!i
gég ; FRERRFEE R AR R R AR E R LR RN EE R R R R R R R R AR LR AL LR RS R R R A LSS SR AL E242 2252
831 : PROGRAM INITIALIZATION
822 'LOCK OUT INTERRUPTS
823 :SET UP PROCESSOR STARCK
824 :SET UP POMER FAIL VECTOR
825 :CLEAR PROGRAM CONTROL FLAGS AND COUNTS
ggg . :TYPE TITLE MESSAGE
828 001260 012767 000340 176510 .START: MOV 8340, PS :LOCK OUT INTERRUPTS
853 00{256 012;06 801100 000024 :83 :S;?g§tsgueq SET ug 3’2&5 FAIL VECTOR
[} ]
831 :axiés 865023 15?5?3 CLR LPCNT ng Sr xreaa#xou COMPLETED LOCATION
832 001304 105067 177713 CLRB  STFLG CLEQR srnnr FLAG
833 001310 005067 177614 CLR PASCNT :CLEAR PRSS COUNT
834 001314 105067 177704 CLRB  ERRFLG :CLERR ERROR Flﬂu
835 001320 005067 177606 CLR ERRCNT :CLERR ERROR C
63 001324 0050E7 177604 CLR LSTERR :CLEAR LAST snnon POINTER
837 001330 012767 000001 177570 MOV 81, TSTNO :SET UP FOR TEST 1
838 001336 012767 001260 177850 MOV s.$TART,RTRN :SET (P FOR POWER FAIL BEFORE
839 :TESTING STRRTS
840 DOI3YY4 10S767 177652 TSTB  INIFLG ‘HAS INITIRLIZATION BEEN PERFORMED
B4l 001350 ODO100M4 BNE ONCE
E42 001352 104402 015472 TYPE MTITLE : TYPE TITLE MESSAGE
B43 001366 105167 177640 comg  INIFLG IF NOT SET FLAG AND DO
gud 0D1362 012767 177570 177510 ONCE: MOV $0SWR, SWR "RELORD HARDWARE SWITCH REGISTER INTO POINTER
B45 001370 012767 177570 177504 MOV ooLxcﬁTs LIGHTS :RELORD HARDWARE DISPLAY REGISTER INTO POINTER
846 001376 013746 000006 MOV 386, - (SP} :SAVE VECTORS
847 001402 013746 000004 MGV 3y’ -(sp)
B48 00I406 012737 00I426 0D0DOOM MOV 1648, I8y :SET UP FOR TIMEOUT
B4 001414 022777 177777 177456 CMP 8-1, 9SWR :REFERENCE HARDWARE SWITCH RE¢{§TER
8S0 001422 001402 BEQ 65§’
851 00424 000407 BR 66S
001426 BYS:  CMF (SP)+. (SP)+ :ADJUST STACK
e53 00I430 012767 000176 177442 658: MOV 8SWRES, SUR 'POINT TO SOF TWARE SWITCH REG
eS4 001436 012767 000174 177436 MOV 8DISPREG, LIGHTS :POINT TO SOFT DISPLAY REG
855 00444 012637 000004 BES: MOV (SP)+, 984 *RESTORE VECTORS
856 001450 012627 000006 MOV (SP)+. 316
BS? 001484 (B0S?3? 000042 ST 842 : UNDER MONITOR
g58 D0i460 001005 BNE 67$
859 00i4be 022767 000176 177410 CHP 8$SWREG, SWR + 1S SWREG USED
860 001470 001001 B7$
861 001472 104414 CNTLU
862 001474 032777 000001 177376 6&78:  BIT csuoo,asun :RESELECT VECTOR 3 CONTROL REG?
e63 001502 001002 BNE :
864 001504 000167 000446 JMP azcxn
86S 001510 012700 000300 18: MOV 300, R0 :RESTORE VECTOR AREA TO TRAPCATCHER
Beb 001SI4 012701 000302 MOV 8302 R1 :START AT LOCFTION 300
6§67 001520 012702 000004 MOV 84, Re
BE8 001E24 010110 2s: MOV RI' (RO




BeBuB: S IV a1 oAATH

869

870
8¢h

5@ P bt Pt host
onNEnNNO 8

Rk

00S011
060200

822981

002771
104403
J15546

016767
016767
104403
015627
104412
0C1202
105767

100406
005067
005067
000167

104403
015706
104405

1
129970
001210
00.
00!
012767
005067
056767
000241

006167
103421
062767
026767
161362
056787

Dax-“»T-"& 09:34 PRGE 22

CLR
ADD
ADD
001000 CHP
BLT
INSTR
MRE GAD
PARAM

.BYTE

.BYTE |
015616 177420 MOV
015456 JSR
177410 177434 MoV

L8YTE
.BYTE 4
177370 MOV

016132
016074 177360 MOV

60

177334

177342 CLR
177340 CLR
000140 JMP

BBB:
INSTR
MLASTD
PARAM

12999

LASTADD
BYTE 1
.BYTE

[
OO0 -

OO0

Ve 0D~
) —Murv 0

DUBASE , KEEPRDD
PC, DURDDR
KEEPRDD, BASEADD

MULTD

888

RCTREG
ROTADD
OUTMUL

GOe2

;ENC RT LOCATION 776
OUTPUT MESSAGE & GET INPUT STRING
; MESSAGE

: CONVERT STRING
sLOW LIMIT
tHIGH LIMIT

S ORE A1 THIS LCCATION

MRSK
HOH MANY TIMES + 2
; SAVE

:RESTORE FOR ROTRTION
OUTPUEEHES:ﬁuE 8 GET INPUT STRING

;MESSA

s CONVERT STRING

LON LIMIT

:HIGH LIMIT

:STORE AT THIS LCCATION
: MASK

‘HOW MANY TIMES + 2

PIV ; SRV
EIV ;SET UP FOR_ROTATION
; OUTPUT MESSAGE 3 GET INPUT STRING

: MESSAGE
'SET FLAG BASED UPON INPUT STRING
:THIS FLAG

:ARE THERE MULTIPLE DEVICES

:ON THE SYSTEM ?

:YES,ASK NEXT QUESTION

; JUMP AROUND NEXT QUESTION

; OUTPUT MESSAGE 8 GET INPUT STRING
: MESSAGE
CONVERT STRING
?H LIMIT
SRIGH LINMIT
STORE RT THIS LOCATION

MASK
HON MANY TIMES + 2

)
: THE FOLLOWING ROUTINE SETS UP ACTREG FOR THE FIRST TIME

00000f 177310 ls: MOV
177302 CLR
177300 177274 28: BIS
177270 ROL

000010 177244 ROD
177244 177236 cMP

177244 177240 8IS

nctnsc

ROTRDD
39

cs

ROTALD, ALTREG

:SET _UP POINTER

TADD
-CLR ACTYVE REGISTER
ROTADD, ALTREG

:SET UP POINTER
:QRE YOU OUT OF RANGE ?
10, BASEADD
LAStADD, BASEADD ;1
“No 00 I} AGAIN

;MAKE THIS DEVICE ACTIVE

;SET_UP _EASE ADDRESS
THIS THE LAST DEVICE ?

; THIS ASSUMES THAT THERE RRE AT

EEC 0019
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OZOUDC. P11 ~2I-MAY SEC 0020
925 :LEAST TWO DEVICES WHEN YGU ANSWER YES TO
926 MULTIPLE DEVICE QUESTION .
437 001756 012767 000001 177234 &8: MOV 41.ROTADD :SET UP FOR LATER USE IN ENC OF PASS RCJUTINE
328 00176M 016767 177216 177212 MOV KEEPADD, BASEADD :DITTO
929 001772 000414 BR OUTMUL ’:CONTINUE QUESTIONS
930 001774 016767 177206 177202 38: MOV KEEPADD, BASEADD ; RESTORE
93] 002002 i0NN03 INSTR ;OUTPUT MESSAGE 3 GET INPUT STRING
932 002004 016071 MRANGE - MESSAGE
933 002006 104405 PARAM convsnr STRING
934 002010 160000 160000 W LIMIT
935 002012 167776 167776 HIGH LIMIT
936 002014 001210 LASTADD srons AT THIS LOCATICH
937 002016 001 .BYTE | : MASK
938 (002017 i) .BYTE | :HOW MANY TIMES + 2
939 002020 000167 177656 TP 18 D0 IT AGAIN
940 002024 OUTMUL :
941 0020 104403 INSTR ;OUTPUT MESSAGE & GET INPUT STRING
2 002026 016355 MLEVEL : MESSAGE
943 002030 104405 PRRAM :CONVERT STRING
S44 002032 00000 Y Lou LIMIT
45 002034 000007 7 “HIGH LIMIT
946 002036 017244 DUPRT srone AT THIS LOCATION
47 (002048 000 .BYTE o nqsx
Q4 002041 001 "BYTE :HOW MANY TIMES + 2
949 002042 004767 015128 an FC,DULEV
95] ;COMPARE_THE FIRST CHARACTER IN THE TELETYPE INPUT
951 :BUFFER TO THE CHARACTERS “1" AND “2*.
952 :IF THE CHARACTER IS ™I CLEAR THE FLAG
953 :IF THE CHARRCTER IS =2" SET THE FLAG
954 DOZO4S ARA:
955 (002346 104403 INSTR ;OUTPUT MESSAGE & GET INPUT STRING
oSE (002050 016402 MSYNC * MESSAGE
957 (002062 122767 00006l OI4754 3S: CMPB 8’1, INBUF :1S IT "1™ 2
958 (002060 001003 8NE 18
959 (02062 105067 177110 CLRB  SYNCNO . 000
S50 002266 000412 BR 4
9] 002070 122767 000062 O14736 1S: CMPB  &'2, INBUF 1S IT "2 2
862 002076 001004 BNE = S
963 (002100 112767 177777 177070 MOVB  £-1,5YNCNO -377
964 002106 000402 8R 4%
965 002110 10NuDy 23: INSTER :RETRY
act Goz1l2 000757 B8R 33
867 002114 000240 4§: NOP
9%8 002116 104403 INSTR ;OUTPUT MESSAGE 3 GET INPUT STRING
969 002120 016450 MWIRED - MESSAGE
970 002122 104412 SETFLG “SET FLAG BASED UPON INPUT STRING
971 002124 001177 SEXMIT :THIS FLAG
972 002126 104403 INSTR OUTPUT MESSAGE & GET INPUT STRING
973 002130 016516 MWIRES - MESSAGE
974 (002132 104412 SETFLG ser FLAG BASED UPON INPUT STRING
975 0021 001200 SEREC THIS FLAG
976 00213 104403 INSTR ourpur MESSAGE & GET INPUT STRING
977 002140 016563 MWIREY : MESSAGE
978 002142 104412 SETFLG ‘SET FLRG BASED UPON INPUT STRING
§79 002144 001201 OPTCLR ' THIS FLAG
980 002:46 104403 INSTR ourpur MESSAGE & GET INPUT STRING
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C3DUDC.P11 2I-MAY-7B DD:09 SEG 0021
98] Q02150 016637 MEXTY s MESSAGE
982 002152 104412 SETFLG :SET FLAG BASED UFIN INPUT STRING
383 005154 (001203 IMRBY THIS FLAG
ggg s TEST START AND RESTART
987 002156 012767 000340 175612 .BEGIN: MOV £340, PS :LOCK OUT INTERRUPTS
988 002164 012706 001100 MOV sSTAlk,SP +SET UP STACK
983 002170 005737 00004 15T w42 : 1S PROGRAM UNDER MONITGR CONTROL
930 002174 001056 BNE 33
99] 002176 105767 177000 TSTB  MULTD  :DON'T ALLOW LOCK ON TEST IF RUNNING
932 .MULTIPLE DEVICES
933 002202 00407 BEQ 5¢ : 16 NO, TEST FOR LOCK ON TEST
994y 002204 016767 011404 011304 MOV BRUW, TTST ' RESTORE NORMAL SCOPE LOOF
995 002212 016767 011400 011300 MOV BRX.TT5T+2 :DITTO
995 002220 00044 BR 33 : JUMP AROUND IF YES
002222 032777 000004 176850 GS§: BIT 8BIT2, ISWR :CHECK FOR LOCK ON TEST
998 002239 00416 BEQ 18
999 (02232 104403 INSTR :OUTPUT MESSAGE & GET INPUT STRING
1000 002234 016312 MLOCK * MESSAGE
1001 002236 104412 SETFLG :GET FLAG BRSED UPON INPUT STRING
1002 002240 001225 LOKFLG - THIS FLAG
1003 002242 105767 176757 TSTB  LOKFLG IS LOCK ON TEST OPTION SELECTED
1004 002246 001407 BEQ 18
1005 002250 012767 000240 011240 MOV sNOP, TTST
1006 002266 0:2767 000240 011234 MOV sNOP | TTST+2 :SET UP TO LOCK
1007 002264 000406 BR 2%
1008 002266 016767 011322 011222 1S: MOV BRW, TTST
1009 002274 Cl16767 011316 011216 MOV BRX TTST+2 :LOCK NOT SELECTED, SET UP FOR NORMAL SCOPE LOOP
1010 002302 032777 000002 176570 2§: BIT #SWO1 , 3SR :IF SWO1=1, GET STARTING PC
1011 002310 001410 BEQ 38
i012 002312 104403 INSTR : OUTPUT MESSRGE & GET INPUT STRING
1013 002314 016277 MTSTPC s MESSAGE
1014 002316 10440S PARAM :CONVERT STRING
1015 002320 0C2350 1ST1 sLOW LIMIT
1016 002322 0jlo66e TLAST HIGH LIMIT
1017 002324 001114 RTRN :STORE AT THIS LOCATION
10i8 002326 001 JBYTE 1 s MASK
1013 002327 001 BYTE | ‘HOW MANY TIMES + 2
1020 002330 000403 BR 4$
1021 002332 012767 002350 176554 38: MOV $7ST1,RTRN :START AT TEST |
1022 002340 104 J2 016273 4s: TYPE MR TYPE R
igga 002344 000177 176544 MNP JRTRN :START TESTING
1025 -+ THIS TEST VERIFYS WORD LENGTH SELECT OF
1026 s 1 THE TRANSMITTER SECTION, IT USES THE DNR FLRG
1027 ::AND BIT WINDOW TO DETERMINE THAT IT WAS SELECTED
1028 < s CORRECTLY
1029 : 'NOTE: DNA COMES UP ON THE FIRST RISING BIT
1030 s 'EDGE OF THE NEXT CHARRCTER IF NO NEW CHARACTER IS
1031 : \LOADED INTO TXDBUF
1032 ; s MODE : SYNINT
1033 s tPARITY:NO PARITY
iggg s s LENGTH:FIVE
1036 002350 012767 000001 176550 TSTi:  fdv 81,TSTNO :SAVE THIS
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1037 0C2356 012767
1038 002364 052777
1039 002372 012777

1040 002400 0Ser??
1041
1042
1043
1044 002406 012777
1045
1046
1947 002414 012777
.048 002422 016703
1049 002426 112777
1050 002434 012767
%ggé 002442 012787
1053 002450 052777

1064 002524 020001
1065 002526 001401
1066 002530 104003

1069 002532 005367
1070 002536 001352

1072 002540 0S2777
1073 002546 012700
1074 002552 017701
1075 002556 042701
1076 002562 020001
1077 0C2S64 001401
1078 002566 104003

1081 002570

1082 002570 005777
1083 002574 100001
1084 002576 104000

1087 002600
1088 0C2600 104400

J1-0CT-76 08:34 PRGE 25

00:00
002602
000400

030000
003400

004020

030026
015266
00000S

020000
020000

176452
002000
020000
020000

015174
075777

1764¢2

020000
100000
015136
077777

015120

015300

015266
015264
176502
176470

015236
015230

015206
015200

C!5146

MUV
B1S
MOV
BIS

Joe2

BTST2, NEXT
SMRESET,aTXCSR  ;MASTER RESET
$SYNINT . QPRRCSR $SET THE MOCE
SMRESET 9TXCSR :MASTER RESET

;SET MRINTZNANCE MODE & SEND
;NOTE:BIT WINDOWSCLK ARE CLERRED (MTDATR=0)

AoV $MINT!SEND, 3TXCSR
+SET MODE,# OF BITS,PARITY SENSE,3 Lono sxnc REG
MOV csvﬁINT'FIVE'nopr-aE ARCSR
MOV TXCSR 09 FOR ERROR MSG
MOVB  #2I, a?xosur Lono CHAR
MOV 82l TEMPI SHIFTED CHAR
MOV 85, SKIF OF SHIFTS
POKE CLK TO GET INTO SYNFRONIZRTION
BIS 8CLK, 3TXCSR :POKE CLK UP
BIC sCLK | QTXCER sPOKE CLK DOWN
18: CLR RO
ROR TEMP1  ;FORCE CRRRY
BCC 28
o8 BIS $B1TW,RO EQUIV OF BIT WINDOW
BIS $CLK, 3TXCSR :POKE CLK UP
BIC sCLK 9TXCSR °0Kc CLK DOWN
MOV 3TXCSR, RI *ACTU
BIC 8075777 ,R1 : SAVE BITH & DNA
ggs gg Rl ':COMPARE'EXP VS RCT
HLT 3 :BIT NINDON DID NOT MATCH RCTUAL DATA
3 :BIT,....ALSO CHECK DNA
DEC suxrr .8 OF SHIFTS
BNE :D0 IT AGRIN ?
:NOW POKE CLK ro SEE DNR’
BIS sCLK, 9TXCSR :POKE CLK
MOV 100000, RO :EXPECTED
MOV JTXCSR, Al ncrunL
BIC 877777 R1 :GAVE DNA ONLY
ggg ng Rl " COMPRRE’ EXPECTED VS ACTUAL
HLT 3 :DNA SHOULD BE SET
:IF DNA DID NOT SET ,CHECK WORD LENGTH
.8 :SELECT LOGIC OF THE' TRANSMITTER
15T JTXCSR  ;DNR ?
BPL cs$
HLT :DNA SHOULD NOT BE SET
t17 SHOULD HAVE BEEN CLERRED FROM
s s PREVIOUS RERD

SCQPE

>+ THIS TEST VERIFYS WORD LENGTH SELECT OF

: s THE TRANSMITTER SECTION, IT USES THE DNA FLAG
"EEEREE}L$I”°°“ TO DETERMINE THAT IT WAS SELECTED

160 TO THIS TEST WHEN THRU

SEQ 0022
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002602
002610
002618
002624
002632

002840

00ct46
002654
002660
002666
002674

002702
002710
002716
002720
002724
00c726
002732

0.0UD-C MRCYL1 27 (1008
D<bUDC.P1L

012767

012777

012777
016703
118777
012767
012767

05777
Q4777
005000
006067
103002
052700

052777
Q42777
017701
042701
020001
001401
104003

005367
001352

052777
012700
017701
042701
020001
001401
104003

005777
100001
$04000

KO2

Ji-0CT-T6 09:34 PAGE cb

21-"Ry-76 00:09

000002
003034
000400
030000
000400

004020

032326
015034
0c0o2l
090021
0000086

020000
0200C0

176220
002000
020000
020300

014742
075777

176150

020000
100000
014704
Q772777

014666

015034
015032
176250
176236

015004
014776

014754
014746

014714

+sNOTE: CNA COMES UP ON THE FIRST RISING BIT

::EDGE OF THE NEXT CHARACTER IF NO HEW CHARACTER I3
: :LORDED INTQ TXCBUF

s sMOCE : SYNINT

s sPRARITY:NO PARITY

s sLENGTH: SIX

1s72:  Abv 82, TSTNO :SAVE THIS
MOV sTST3, NEXT
B:S SMRESET, JTXCSR  ;MRSTER RESET
MOV 8SYNINT'9PARCSR :SET THE MOCE
BIS SMRESET,QTXCSR :MASTER RESET

:SET MAINTENANCE MODE 8 SEND
NOTE:BIT WINDQWECLK RRE CLEARED (MTDATA=0)

MOV sMINTYSEND, 3TXC
-GET MOCE,# OF BITS,PARITY SENSE,& LOAD SYNC REG
by sSYNINT!SIXINOPAR! 26, JPARCSR
MOV TXCSR,R3 +SET'UP FOR ERROR MSS
MOVB  #21,atXDBUF -LORD CHAR
MOV 221 TEMP! :SHIFTED CHAR
MOV 6, SHIFT -8 OF SHIFTS
;POKE CLK_TO GET IATO SYNCRONIZATION_
BIS #CLK, 3TXCSR :POKE CLK UP
BIC sCLK | QTXCSR *POKE CLK DOWN
18: CLR RO
ROR TEMP1  ;FORCE CARRY
BCC 2% ,
- BIS $BITW,RO +EQUIV OF BIT WINDOM
BIS #CLK, 3TXCSR :POKE CLK UP
BIC $CLK 3TXCSR :POKE CLK DOMN
MOV ATXC4R, R *ACTUAL
BIC 8075777 Rl :SAVE BITW 3 DNA
SEE gg,nx - COMPARE EXP VS ACT
HCT 3 :BIT WINDOW DID NOT MATCH RCTUAL DRTA
8 :BIT,....ALSO CHECK DNAR

DEC SHIFT ;8 OF SHIFTS

BNE 18 :00 IT AGAIN ?
:NOW POKE CLK TO SEE DNR
BIS  #CLK,dTXCSR  ;POKE CLK

MOV 100000, RO s EXPECTED

MOV JTXCSR, A1 : ACTUAL

BIC 877777 Rl :SAVE DNA ONLY

ggg ﬁg,Rl - COMPARE ' EXPECTED VS ACTUAL
HLT 3 :DNA SHOULD BE SET

: IF ONA DID NOT SET ,CHECK WORD LENGTM

+SELECT LOGIC OF THE TRANSMITTER

4s:
TSY JTXCSR ;DNR ?
BPL 3
HLY :DNR SHOULD NOT BE SET

SEC 0023

:G0 _TO THIS TEST WHEN THRU




LO2

O<lUD-C MACYL! 27(1036) J1-00T-U% 09:34 PARGE 27

DZDUDC.PI1L 21-MRY-78 00:09 SEC 0Ce4
1148 +IT SHOULD HAVE BEEN CLEARED FROM
1150 ; PREVIOUS RERD
1151 003032 S%:

182 003032 104400 SCOPE

s+ THIS TEST VERIFYS WORD LENGTH SELECT OF

s s THE TRANSMITTER SECTION,IT USES THE DNR FLAG
;;gggREé;L$INDON TO DETERMINE THAT IT WAS SELECTED
+sNOTE: DNR COMES UP ON THE FIRST RISING BIT

+ ;EDGE OF THE NEXT CHARACTER IF NO NEW CHRRACTER IS
s sLOADED INTQ TXDBUF

s sMODE : SYNINT

+sPRRITY:NO PARITY

s s LENGTH: SEVEN

003034 012767 000003 176064 TST3:  Mdv 83, TSTNO :SAVE THIS

003042 012767 003266 176046 MOV $TSTY, NEXT G0 TO THIS TEST WHEN THRU
003050 052777 000400 014636 BIS #MRESET, 3TXCSR  ;MASTER RESET

003056 013777 030000 014624 MOV 8SYNINT, JPARCSR :SET THE MODE

003064 052777 000400 Clubze BIS sMRESET,JTXCSR ;MASTER RESET

:SET MRINTENANCE MODE & SEND
;NOTE:BIT WINDOWSCLK ARE CLERRED (MTDATA=0)

Q000 0T M O0A0 0 NN NN N NNNNNoro oo oo uitainuiniun
\lgm-CwNHDuDCD30‘(}*IMN*‘D\D%\IO‘U“&%HO\DQ\IU’U‘ILN
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11

11

11

11

13

1

11

11

11

11

11

1

11

11

11

11

il

ii 003072 012777 004020 Ol4614 FOV SMINTYSEND, 9TXCSR

11 .GET MODE, % OF BITS,PARITY SENSE,8 LOAD SYNC REG
1175 003100 0ie?77 034026 O14e02 MbY 8SYNINT ! SEVEN! NOPAR! 26 . 9PARCSR
1176 003106 016702 014602 MOV TXCSR,R3 :SET UP FOR ERROR MSG
1177 003112 112777 000021 014600 MOVB  #21,atXDBUF :LOAD CHAR

1178 003120 012767 000021 176016 MOV 821 TEMPI :SHIFTED CHAR

1179 003126 012767 100007 176004 MOV 87 SHIFT :% OF SHIFTS

11 -POKE CLK TO GET INTO SYNCRONIZATION

1181 003134 052777 020000 014552 BIS #CLK, 3TXCSR :POKE CLK UP

1182 003142 042777 020000 014544 BiC 8CLK JTXCSR POKE CLK DOWN
1183 003150 0O0S000 1$: CLR RO

1184 003152 O00B0B7 175786 ROR TEMP1  ;FORCE CARRY

1185 003156 103002 BCC 28

ii 833{23 052700 002000 o8 BIS $BITW,RO :EQUIV OF BIT WINDOW
1188 003164 052777 020000 014522 BIS $CLK, aTXCSR :POKE CLK UP
1189 002172 042777 020000 014514 BIC #CLK QTXCSR :POKE CLK DOWN
1130 003200 01770f O0I45i0 MOY 3TXCSR, R *ACTUAL

1191 003204 Q42701 075777 BIC 075777 ,R1 :SAVE BITW & DNA
1192 003210 020001 CMP RO,R1 ' ;COMPRRE’EXP VS RCT

1193 003212 001401 BEQ 35

1.84 003214 104003 HLT 3 -BIT WINDOW DID NOT MATCH ACTUAL DATA
1195 :BIT,....ALSO CHECK DNA
1136 003216 33:

1197 003216 005367 175716 DEC SHIFT ;% OF SHIFTS

1198 003222 001352 BNE 1S :D0 IT AGAIN ?

1149 :NOW POKE CLK TO SEE DNR

1200 003224 052777 020000 014462 BIS #CLK, JTXCSR : POKE CLK

120 003232 012700 100000 MOV 100000, RO :EXPECTED

1202 003236 017701 014452 MOV STXCSR,RI t ACTUAL

1203 003242 042701 077777 BIC $77777.R1 :SAVE ONR ONLY

003246 020001 CMP RO,R! ' ;COMPARE’'EXPECTED VS ACTUAL
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mn
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003250
003252

00Z254
003254
003260
003262

003264
003264

003266
003274
003302

003310
003316

003324

003332
003340
003344
003352
003360

003366
003374
003402
003404
003410
003412
003416
003416
D034z4
003432
003436
003442
003444
003446

003450

CZ0UD-C MRCYLl 27(1006)
DZDUDC.P1L

001401
104003

00577
100001
104000

104480

g1a7e7
012767
052777
012777
052777

012777

012777
016703
112777
012767
01e767

052777
042777
00S000
006067
103002
052700

052777
042777
017701
042701
020001
001401
104003

MOe2

Ji-0CT-76 09:34 PAGE 28

21-MRY-76 00:00

014434

000004
003520
000400
030000
000400

004020

036026
014350
009021
000021
000013

020000
020000

175534
002000
020000
020900

014256
075777

175632
175614
014404
014372
014370

014362

014350

C14346
175564
175552

014320
0l431e

014270
0l4cee

BEQ  4$
HLT 3 :ONQ_SHOULD BE SET
:IF DNA DID NOT SET ,CHECK WORD LENGTH
!SELECT LOGIC OF THE' TRANSMITTER

4s:
TST JTXCSR :DNA ?
8PL 5%
HLT +DONA SHOULD NOT BE SET
+ 1T SHOULD HAVE BEEN CLERRED FROM
ce sPREVIOUS RERD

SCOPE

+ s THIS TEST VERIFYS WORD LENGTH SELECT OF

;3 THE TRANSMITTER SECTION,IT USES THE DNA FLAG

s tAND BIT WINDOW TO DETERMINE THRT IT WAS SELECTED
: s CORRECTLY

: sNOTE: DHR COMES UP ON THE FIRST RISING BIT

s ;EDGE OF THE NEXT CHARACTER IF NO NEW CHARACTER IS
:+ ; LORDED INTQ TXDBUF

; s MODE : SYNINT

s sPARITY:NO PARITY

s sLENGTH: EIGHT

T5T4:  fbv 4, TSTNO :SAVE THIS
MOV #7878 NEXT GO TO THIS TEST WHEN THRU
BIS SMRESET, JTXCSR  ;MASTER RESET
MOV 8SYNINT, 9PARCSR :SET THE MOOE
BIS $MRESET,aTXCSR  :MASTER RESET

:SET MAINTENANCE MODE 3 SEND
-NOTE:BIT WINDOWSCLK ARE CLERRED (MTDATA=Q"
fov $MINT!SEND, 3TXCSR

:SET MODE,# OF BITS,PARITY SENSE,3 LOAD SYNC REG
MV 8SYNINT!EIGHT 'NOPAR! 26, aPARCSR
MOV TXCSR,R3 .SET UP FOR ERROR MSG
MOV  #21,3tX0BUF :LOAD CHAR
MOV 821, TEMP] :SHIFTED CHAR
MOV 8S. (SHIFT :8 OF SHIFTS
sPOKE CLK T0 GET INYO SYNCRONIZATION
8IS #CLK, 3TXCSR :POKE CLK UP
BIC 8CLK, QTXCSR sPOKE CLK DOWN
18: CLR RO
ROR TEMPI :FORCE CARRY

BCC 2
-5 BIS $BITW, MO sEQUIV OF BIT WINDOW
' BIS #CLK, TXCSR :POKE CLK UP
BIC #CLK  JTXCSR POKE CLK DOWN
MOV JTXC4R,R1 :ACTUAL
BIC 8075777 Rl :SAVE BITW & DNA
ggg gg,nl :COMPARE EXP VS ACT
HLT 3 :BIT WINOOW DID NOT MATCH ACTUAL DATA
% 'BIT,....ALSO CHECK DNR

SEQ 0025




NO2

CZOUD-C MARCY1L 27(1606) J1-0CT-T6 09:34 PRGE 29

DZDUDC.P11  21-MAY-76 00:09 SEQ 0026
1261 003450 005367 17546M DEC SHIFT ;% OF SHIFTS
1262 003484 001352 BNE 13 :D0 IT AGRIN °
1263 +NOW POKE CLK TO SEE DNA
1964 (003456 052777 020000 014230 BIS #CLK, 9TXCSR s POKE CLK
1265 003464 012700 150000 MOV 2100000, R0 *EXPECTED
1266 003470 017701 0l4220 MOV ATXCSR, Rl s ACTUAL
1267 003474 Q42701 077777 8IC 877777 Rl :SAVE DNA ONLY
1268 003500 020001 CMP-  RO,Rl ' ;COMPARE’EXPECTED VS RCTUAL
1269 003502 001401 BEQ 43
1270 003504 1C4063 HLT 3 :DNA SHOULD BE SET
1271 "IF DNA DID NOT SET ,CHECK WORD LENGTH
1272 :SELECT LOGIC OF THE TRANSMITTER
1273 003506 ) 4$:
1274 003596 005777 014202 ST JTXCSR ;DNR 7
1275 003512 100001 BPL 5§
1276 003514 104000 HLT :DNA SHOULD NOT BE SET
1877 1T SHOULD HAVE BEEN CLEARED FROM
127 :PREVIOUS READ
1279 003516 5§:
. 1280 003516 104430 SCOPE
1281 -+ THIS TEST VERIFYS WORD LENGTH SELECT OF
1282 s+ THE TRANSMITTER SECTION,IT USES THE DNA FLRAG
1263 : *AND BIT WINDOW TO DETERMINE THAT IT WAS SELECTED
1284 : 1 CORRECTLY
1285 :*NOTE: DNA COMES UP ON THE FIRST RISING BIT
1286 * 'EDGE OF THE NEXT CHRRACTER IF NO NEW CHARACTER IS
1287 : :LORDED INTO TXDBUF
1288 + + MODE : SYNEXT
1289 s 'PARITY:NO PARITY
isg? « s LENGTH: FIVE
1292 003520 012767 000005 175400 71STS:  Mdv 85, TSTNO :SAVE THIS
1293 003526 0l2767 003752 175362 MOV #7576, NEXT G0 TO THIS TEST WHEN THRU
1294 003534 052777 O0OO4DC O0l4152 BIS $MRESET,QTXCSR  ;MASTER RESET
1295 (003542 012777 020000 014140 MOV #SYNEXT, JPARCSR :SET THE MODE
igg; 003550 052777 000400 014136 BIS #MRESET,9TXCSR :MASTER RESET
1298 :SET MAINTENANCE MODE & SEND
1239 -NOTE:BIT WINDOWSCLK ARE CLEARED (MTDATA=0)
%gg? 003556 012777 004020 014130 MOV $MINT!SEND, dTXCSR
1302 :SET MODE,# OF BITS,PARITY SENSE,3 LORD SYNC REG
1303 003564 012777 020026 014116 MOV $SYNEXT!FIVENGPAR! 26, JPRRCSR
1304 003572 016703 O0I4116 MOV TXCSR,R3 -SET UP FOR ERROR MSG
1305 003576 11277 000021 014114 MOVB  #21,aXDBUF :LOAD CHAR
1306 003604 012767 000021 175332 MOV $21, TEMP1 :SHIFTED CHAR
1307 003812 012767 000005 175320 MOV 85, SHIFT .3 OF SHIFTS
1308 :POKE CLK TO GET INTO SYNCRONIZAtION
1309 003620 052777 020000 014066 BIS 8CLK, 3TXCSR POKE CLK UP
1310 003626 042777 020000 014080 BIC $CLK . JTXCSR :POKE CLK DOWN
1211 003634 005000 18: CLR RO
1212 003636 006057 175302 ROR TEMP1  ;FORCE CARRY
1213 003642 102002 BCC 2§
i%ig 883233 052700 002000 - RIS $B8ITW, RO :EQUIV OF BIT WINDOW
1316 003650 052777 020000 014036 BIS #CLK, TXCSR : POKE CLK UP
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cover=c MACYIL1 2T(1006) Ji=QCT-T6 C9:34 PARIE 30

SooJOC.PIL ElemAY-TE 00:09 SEL 027
13!7 003856 Qv2T7T 023200 014039 BiC 8CLK, STXCSR <FOKE CLK COWN
1319 DOC36BY 017791 CI4024 MOV aTYCSR,RI sACTJAL
1319 203670 042781 C°sT. BIZ 3075772 Rl :SAVE BITW 8 DNA
1320 gggg?u 020001 CHP RO,R! ':COMPRRE EXP VS ACT
1321 733 05145 BEQ k3
1322 003 104003 HLT 3 :BIT WINDOW DID NOT MATCH ELTURL DATA
1333 :BIT,....ALSN CHECK DNA
1334 003702 . 3%:
1325 003707 005387 178232 CEC SHIFT ;8 OF SHIFTS
1336 003706 o182 BNE 18 :D0 IT AGHIN ?
1327 :NCW POKE CLK TO SEE DNA
1328 003710 062777 020000 01377 815 sCLK, 2TXCSR :POFE CLK
1336 003716 013700 100CCT MOV 100002, RD :EXPECTED
1330 003722 017701 Q13766 MOV JTXCSR, R - RCTUAL
‘33% ggg;gg 20l 077777 BIC 877777 .R1 :SAVE D' ONLY
: 1 CHP RC,R1 ° ;COMPRRE'EXPECTEC VS RCTUAL
1333 0037 001801 BEQ 4§
1339 00373% 105003 HLT 3 :DNR SHOULD BE SEY
1335 IF CNQ DID NOT SET ,CHECK WORD LENGTH
133% :CELECT LOGIC OF THE TRANSMITTER
1337 003740 48: A
1338 003748 00S777 013750 TST JTXCSR ;DNA 7
1339 Q03744 100001 8PL c§ ,
IN0 003746 104000 HLT :DNA SHOULD NOT BE SET '
1M1 1T SHOULD MAVT BEEN CLEARED FRCM .
1392 :PREVIOUS REP) >
1343 003750 gs:
1344 DO37S0 10400 SCOPE
1345 :; THIS_TEST VERIFYS WORD LENGTH SELECT OF
1246 +;THE TRANSMITTER SECTION, IT USES THE DNA FLAG
147 :;AND BIT WINDOW TO DETERAINE THAT IT WAS SELECTED
-248 : s CORRECTLY
1349 :INOTE: DNR COMES UP ON THE FIRST RISING BIT
1360 ::EDGE OF THE NEXT CHRRACTER IF NO NEW CHRRASTER IS
+381 : ;LORDED INTQ TXDEUF
13%¢ + s MODE : SYNEXT
1263 DIPARITY:NO PARITY
iggg s :LENGTH:SIX
1356 00372 01277 DOOOD6 175146 TSTe:  fdv 86, TSTNO sSAVE THIS
1367 003760 012767 004204 175130 MOV sT4T7, NEXT ] GO TO THIS TEST WHEN THRL
1358 0276 Xc77? 000450 013720 BIS sMRESET, QTXCSR  ;MASTER RESET
139 603774 012777 020000 013706 MOV 85'NEXT.QPARSSR :SET THE MODE
{gg? 004702 052777 000400 013704 BIS $MRESET,JTXCSR ;MASTER RESET
132 :SET MAINTENGNCE MODE 8 SEND
1363 -NOTE:BIT WINDOWECLK RRE CLEARED (MTDATA=O)
;ggg 00M010 012777 004020 013676 fov sMINTISEND, 3TXCSR
1366 :SET MODE, s OF BITS,PARITY SENSE,3 LOAD SYNC REG
1367 024016 012777 022026 013664 MOV sSYREXTISIXINOPAR! 26, JPRRCSR -
1268 004024 016703 013664 MOV TXCSR, R3 SET UP FOR ERROR MSG
1369 004030 112777 000021 013662 MOVB 821, 9XDBUF :LOAD CHAR
1370 oD402% 012767 (00021 175100 MOV 821 TEMP] tSHIFTED CHAR
1371 DO4044 Gi2767 000006 175066 MOV 86, SHIFT :8 OF SHIFTS
1372 :POKE CLK TO GET IANTO SYNCRONIZAYION
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| DITJE-C MACYL1_2T.1008) 21=Q3T-Th 03:34 PASE 3l
CTOC.PI1 21-MAY-T6 00:05 ) CEL 0028
1373 004052 252777 022000 013634 B.iS #CLK, STACER :POKE CLK UP
1374 DON0B0 ON2-7? 020300 01382t BIC * sCLK,9TXCSR :POKE CLK COWN
1375 004066 00SOOQ 18: CLR RO -
1376 004070 O0C606T 175089 ROR TEMP]  ;FORCE CARRY ’
1370 O0N0N 103072 BCC 28
1378 00N076 0S27CC 002000 ) BIS $81TW,RO :EQUIV OF BIT WINOOCW
1379 0OM102 zs:
1380 0OMI0Z 0S@777 020000 013e0M RTS sin, JTXCSR :PCKE CLK LP
1381 OO41I0 082777 020000 01357 B1C 8CLK aTaco :POKE CLK DOWN
1382 DO41l6 0.770) 013572 MOV STXCSR, R1 : ACTUAL
1383 00wi22 ON2?01 075777 8I¢ 8075777 R1 :SAVE BITW 3 DNA
1384 DO%126 02C001 CMF RO,R1 ';COMP3E’EXP VS RCT
1386 004130 00401 3£Q 38
1386 004132 (o8003 HLT 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
1387 _ :BIT,....ALSC SHECK DNA
1388 DOMIN 38: o
1389 DOMIN 005387 175000 NEC SHIFT  :8 OF SHIFTS "
1390 OO4i40 DQ13S2 . BNE 18 :00 IT RGAIN * v
1391 - ":NOW POKE CLK TO SEE DNR
1383 DOMI42 0S2777 020000 012544 B1S eCLK, STXCSR :POKE CLK
1393 00410 012700 100200 MOV £100000, RO :EXPECTED
1394 O0MISN 017701 013N MOV JTXCSR, RY *ACTUAL
1395 (004160 042701 077777 BIC 877777 .R1 :SAVE DNA ONLY
1295 DOM1B4 020001 CHP RO,R! ° ;COMPARE EXPECTED VS ACTUAL
1397 DO4166 001401 BEQ 4
1398 0D4170 104003 HLT 3 :DNR SHOULD BE SET
1339 :1F DNA DID NJT SET ,CHECK WORD LEN3TH
1500 :SELECT LOGIC OF THE TRANSMITTER
130 004172 S
1402 04172 DOS?77 013516 157 3TXCSR ;DNA 7
1403 004476 100001 epPL c§
404 006220 104900 HLT :DNA SHOULD NOT BE SET
1405 17 SHOULD HAVE BEEN CLERRED FROM
1406 :PREVIOUS READ
1407  0OY202 , c§:
1408 DOMZ02 104400 SCOPE
1409 - THIS TEST VERIFYS WORD LENGTH SELECT OF
1419 s s THE TRANSMITTER SECTION,IT USES THE DNA FLAG
1411 :TAND BIT LIINDOW TO DETERMINE THAT IT WAS SELECTED

1412 s s CORRECTLY
: : DNQ COMES UP ON THE FIRST RISING BIT
++EDGE OF THE NEXT CHRRACTER IF NO NEW CHARACTER IS
: ;LORADED INTQ TXDBUF
: . MODE : SYNEX”
:sPARITY:NO PHRITY
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i:ig s s LENGTH: SEVEN

1420 0OM204 012767 530007 174714 T15T7:  fdv 87, TSTNO :SAVE THIS

1421 004212 012767 DL4436 174676 MOV 87518, NEXT G0 TO THIS TEST WHEN THRU
1422 004220 052777 0OCOMD0 013466 BIS SMRESET, 3TXCSR  ;MASTER RESET

1423 00M226 012777 020000 01345M MOV 8SYNEXT.SPRRCSR :SET THE MODE

}:gg D04234 052777 000400 013452 BIS SMRESET,JTXCSR ;MASTER RESET

1426 :SET MAINTENANCE MODE & SEND

1427 NOTE:BIT WINDOWSCLK ARE CLERRED (MTDATA=0}

1428 004242 012777 0CH4020 013444 fOV sMINT!SEND, 9TXCSR
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COUDC.PLL el-MRY-T8
1429
1430
1431 QON250 012777
1432 004256 (016702
1433 0093?3 112777
1434 D042 012767
i:gg 004276 112767
1437 0O0M30M 0S2777
1438 Oﬂqgés Q427277
1429 DOM 008200
1840 008322 006067
1941 0ON326 103002
1442 004330 0S2700
a3 DOMIM
IN99 D0N33M 052777
1S DO43¥e Q42777
1446 00430 017701
1847 D034 0N2701
1448 DO4360
o4 OO4362 001401
1450 004364
1481
1452 004366
1453 Q04366 00S3%7
{:gg 004372 0013Se2
1856 00434 0S2777
1457 004402 012730
1458 004406 017701
1459 004412 0M2701
i¥60 004416 020001
1861 004420 00140}
1462 00MM22 104003
1463
1564
1465 004424
1466 00444 DOS777
1467 004430 1C000!
1468 00432 10000
1869
1470
1471 DOWH3Y
1472 004434 104400
1473
1474
1475
1876
877
1478
1879
1480
1481
1482
1483
1484 004436 (012767

Ji=
02:C3

024026
01432
002021
000021
000007
020000
020000
174616
802350
020003
020000
013349

grer?s

174846

C20000
013302
gr7?7?

013264

v
|

D03

-T6 £9:3% PRGE 32

Cl13432
013430
174646
174634

Q1340¢
013374

013352
013344

0133le

000010 174462

:GET MOTE.s OF BITS.PARITY SENSE,8 LOAD SYNC pEr
MV aslnsxr'ssvsn'noﬁnn'as JPARCSR
MOV TXCSR,R T UP FOR ERROR MSG
MOVE  #2l, afxoeur Lono CHAR
MCV sax T'HPI SHIFTED CHAR

MOV OF SHIFTS
+POKE CLK TO GET INYO svncnonxzn?xon

BIS 8CLK, 9TXCSR :POKE CLK UP
BiC ICLK "dTXCSR :POKE CLK DOWN
18: CLR RO
ROR TEMP1  :FORCE CARRY
8¢C 13
- BIS sBITW, RO :EQUIV OF BIT WJINDOW
BIS 8CLK, 3TXCSR :POKE CLK LP
8IC sCLK ATXCSR :POKE CLK DOMls
MOV 3TXC4R, R $ACTUAL
BIC 8075777 ,R! :SAVE BITW & DNR
EE’S 52 Rl ';COMPRRE'EXP VS RCT
HLT 3 «BIT uxnoou DID NOT MATCH ACTUAL DATA
- :BIT,....ALSO CHECK DNR
DEC snxrr :8 OF SHIFTS
BNE :00 IT AGRIN ?
:NOW POKE CLK ro sss ONR'
B1S 8CLK, 3TXCSR +POKE CLK
MOV 100800, RO s EXPECTED
MOV 3TXCSR, Rl : RCTURL
BIC 877277 Rl :GAVE DNA ONLY
SEZ Rg ,R1 " ;COMPRRE’EXPECTED VS RCTUAL
HLT 3 :DNA SHOULD BE SET
1F DNR DID NOT SET ,CHECK WORD LENGTH
. :SELECT LOGIC OF THE TRANSMITTER
157 3TXCSR  ;DONR 7
8PL c§
HLT :DNA SHOULD NOT BE SET
1T SHOULD HAVE BEEN CLEARED FRCM
s : PREVIOUS RERD
SCOPE
,,rnxs TEST VERIFYS WORD .:'uiH SELECT OF
:THE TRANSMITIER SECTION, IT USES THE DNA FLAG
nuo axr uxnoou T0 DETERMINE THAT IT WAS SELECTED
""ch onn COMES UP ON THE FIRST RISING BIT
OF THE NEXT CHARACTER IF NO NEW CHARACTER IS
..Lonoeo xnro TXDBUF
: MODE : SYNEXT
: tPARITY:NO PARITY
..LENGTH EIGHT
T 88, TSTNO :SAVE THIS

SEG 0329
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O<DUDC.PLL

1485
1486
1487
4

14

1430
1491

BROR

uvunuvangunununuen

Pt Pt Prirt Pt st Jrnst =8 Pt Pt Pt

Qo N NLWu—0O

RRRRCR

==t Pt Pt Pt P @ Pt Pt Pt Pt Pt Pt Pt
L]

SRAPBGEERERE

—a
g:unm
S38

OCH4YY
004452
Oou4e0
004466

0044TY

Bzt

OC4514
0C4522

UIEZQZ
P

01277

0Ser?e

012777

B1£703
118777

012767
C1eve?

052777

e77?
ey

103002
052700

osa77?
Q42777
017701
Q42701
020001
001401
104003

00S367
001382

052777
012700
017701
Q42701
020001
001401
104003

0gs777
100001
104000

104400

3i-0CT-T6 09:34 PRSE 33
el-MAY-7¢ 00:00

004670
000400
020000
000400

004020

013288

00002l
303018
020000
174384
002000
020000

020000
0131C6
075777

013032

174444
013234
013c2e
013220

0l3el2

013200
01317t
174414
174432

013150
01314e

13120
13112

013060

MUV 8TSTS, NEXT :G0 10 THIS TEST WHEN THRU
B3 SMRESET, 9TXCSR  ;MASTER RESET
MOV #SVNEXT, JPARCSR ;SET THE MODE
BIS SMRESET JTXCSR :MASTER RESE!
:SET MAINTENANCE MODE 8 SEND
-NOTE:BIT WINDOWSCLK RRE CLEARED (MTDATA=0)
foV sMINTISEND, STXCSR
:SET MODE,s OF BITS,PARITY SENSE,8 LOAD SYNC REG
ngv ssvﬁsxr-excursno#nn~as apnncgn
MOV TXCSR,R3 -SEt UP FOR ERROR MSG
2958 :a{,ggggeur ;ESQETCSRRHQR
o cs.'suxr* 'y 5r §H1$Ts
:POKE uL~ 10 GET INYO SYnCRONIZARYION
BIS CLK, 3TXCSR -POKE CLK UP
31C sCLK ) aTXCSR :POKE CLK DOWN
18: CLR RO
ROR TEMP1  ;FORCE CARRY
BCC 2
28 BIS $BITW, RO -EQUIV OF BIT WINDOW
BIS $CLK, 3TXCSR :POKE CLK UP
BIC 8CLK 3TXCSR *POKE CLK DOWN
MOV JTXCSR, R} * ACTUARL
BIC 8075777 Rl :GAVE SITW 3 DNA
gES gg,m -COMPARE'EXP VS ACT
HCT 3 -BIT WINDOW DID NOT MATCH ACTUAL DATA
8 :BIT,....ALSO CHECK DNA
DEC SHIFT ;% OF SHIFTS
BNE 18 :D0 IT AGAIN ?
:NOW POKE CLK TO SEE DNR )
815 sCLK, 9TXCSR POKE CLK
MOV #160000,R0 s EXPECTED
MOV  STXCSR,Rl SACTUAL
BIC 877777 'Rl :GAVE DNA OHLY
ggz 5g,nx - COMPARE EXPECTED VS ACTUAL
HLT 3 :DNA SHOULD BE SET
:IF DNA DID NOT SET ,CHECK WORD LENGTH
. :SELECT LOGIC OF THE TRANSMITTER
15T JTXCSR  ;DNR ?
8PL c$§
HLT :DNA SHOULD NOT BE SET
1T SHOULD HAVE BEEN CLERRED FROM
s : PREVIOUS RERD

EOQ3

SCOPE

:sTHIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
+s0F THE TRANSMITTER SECTION.

+3 1T ALSO CHECKS DNR TIMING

s s MODE : SYNINT

SEQ 0030
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C MRCYLL 63%) CT-76 09:34 PAR3E M

EEBHBC P11 af wﬁv & 08 8 SEQ 0021

1544 + s LENGTH:FIVE PLUS PARITY

lgﬂg ; :PAR TY: EVEPAR

isgq : ; CHARACTER: 25

1S4S DO4£70 012767 0COO!1 17v239 71579: Mbv 9, TSTNO :SAVE THIS

1546 OO4E76 012767 005112 174212 MOV 875710, NEXT GO TO THIS TEST WmEN THRU

1547 OON7OM4 0S2777 000400 013002 8IS sMRESEY, 9TXCSR  ;MASTER AESET

1548 0Q4zi2 012777 030000 01277C MOY 8SYNINT | 9PARCSR ;SET THE MODE

iggg 004720 052777 000400 012766 8is 8MRESET | QTXCSR :MASTER RESET

1551 :SET MAINTENANCE MODE 8 SEND

1552 ) NOTE:BIT WINDOWBCLK ARE CLEARED (MTDATA=O)

i;ga 004726 012777 004020 012780 40V $MINT!SEND, 9TXCSR

1585 :SET MODE,s OF BITS,PARITY SENSE,8 LORD SYNC REG

1686 D047 012777 031426 012746 Mdv ssvﬁxnr r:vz-svséna'as JPARCSR

1657 004742 Q16203 012746 MOV TXCSR T b ron ERROR MSG

1558 DON746 112777 000025 012744 MOVB %25, afxneu: Lono DATA CHAR

1559 004754 012767 00C0ES 174162 MOV ass TEMP :T0 BE SHIFTED CHAR

1560 004762 012767 000006 174150 MOV 6, SHIF -8 OF SHIFTS

1561 :PCKE CLK TO GET Iﬁro svncnonxznfxon

1562 0OOQ4770 0S2777 020000 012716 BIS #CLK, aTXCSR :POKE CLK UP

1563 004776 042777 020000 012710 BIC aCLK | JTXCSR *PNKE CLK DOWN

1SE4  0OSNON  00S000 '8: CLR RO

1565 00SO06 006067 174132 ROR TEMPL  ;FORCE CARRY

1566 00S0J2 103002 BCC 2 :BR IF CARRY CLR

1567 005014 062700 (002000 BIS $8ITW,RO’ -EQUIV OF BITW

1568 005020 23:

1569 00S020 0S2777 020000 012666 BIS #LK, 3TXCSR :POKE CLK UP

1570 005026 (042777 (020000 012660 BIC sCLK ' dTXCSR POKE CLI’ DOMN

157° 00S0M 017701 012654 MOV STXC4R.RI s ACTUAL

i€72 00SO40 [N2701 075777 1 8075777 Rl :GAVE BITW & DNA

1573 005044 (020001 CMP RO,Rl ' ;COMPARE’EXP VS ACT

1874 00SO46 001401 BEG 3’

1575 00S0S0 104003 HLT 3 :BIT WINDOW DID NOT MATCH RCTUAL DATA

1576 :8IT,...ALSO CHECK DNR

1577 DOS0S2 38:

1578 005052 0D0S367 174062 DEC SHIFT ;& OF SHIFTS

1579 005056 001352 BNE 18 :D0 IT AGRIN 7

15880 :NOW POKE CLK TO SEE DNR'

1581 00SO60 0S2777 020000 012626 81§ sCLK, 3TXCSR - POKE CLK

1582 00SD66 012700 100000 MOV 100000, RO :EXPECTED

1683 005072 017701 012616 MOV JTXCSR, A1 :ACTUAL

1584 005076 (82701 077777 BIC 877777 .R1 :GAVE DNA ONLY

1585 005102 (020001 CHP RO,RI :COMPARE EXP VS ACT

1586 005104 001401 8EQ 4§’

1587 005106 104003 HLT 3 :DNA SHOULD BE SET

1588 :IF DNA DID NOT SET

18g9 :CHECK WORD LENGTH SELECT LOGIC

1390 005110 4§

1691 00E110 104400 SCOPE

1592 ,,THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION

1833 ;i0F THE TRANSMITTER SECTION.

1€G4 1T ALSO CHECKS DNA TIMING

1595 noos SYNINT

1% .,LENGTH FIVE PLUS PARITY
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01e7&7
012767
052777
012777
052777

012777

012777
016703
112777
012767
012767

104+C0

0000ie

004020
031026
012524
000025
000025
000006

020000
020000

173710

173640

020000
100000
012374
Q77777

012536

01254
012522
173740
173726

01247y
0icu4es

012444
012436

0l2404

+ :PARITY:0DDFAR
: :CHRRRCTER: 25

TST10: Mbv 810, TSTNO :SAVE THIS
MOV e75}11, NEXT -GO TO THIS TEST WHEN THRU
BIS sMRESEY, STXCSR  ;MASTER RESET
MOV ®SYNINT,9PARCSR :SET THE MODE
BIS SMRESET)TXCSR i MASTER RESET
:SET MAINTENANCE MODE & SEND
*NOTE:SIT WINDOWBCLK ARE CLEARED (MTDATA=O)
foV $MINTISEND, 3TXCSR
:SET MODE,# OF BITS,PRRITY SENSE,8 LOAD SYNC REG
MOV 8SYRINT!FIVE!ODDPAR! 26, JPARCSR
MOV TXCSR,R3 :SET UP FOR ERROR MSG
MOVB  #25,9%XDBUF -LOAD DATA CHAR
MOV 25 TEMP1 :TO BE SHIFTED CHAR
MOV 86, SHIFT 8 OF SHIFTS
POKE CLK TO GET INTO SYNCRONIZAYION
BIS 8CLK, ITXCSR POKE CLK UP
BIC 8CLK  JTXCSR :POKE CLK DOWN
18: CLR RO
ROR TEMP1  :FORCE CARRY
BCC 2§ :BR IF CARRY CLR
8 BIS $8ITW,RO :EQUIV OF BITW
BIS 8CLK, 3TXCSR :POKE CLK UP
81C sCLK 9TXCSR *POKE CLK DOWN
MOV JTXC4R,R1 s ACTUAL
BIC 8075777 Rl :SAVE BITW 8 DNA
322 gg,nx - COMPARE'EXP VS ACT
HLT 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
- 'BIT,...ALSO CHECK DNA
DEC SHIFT ;8 OF SHIFTS
BNE 18 :D0 IT AGAIN 7
:NOW POKE CLK TO SEE DNA
BIS #CLK, JTXCSR s POKE CLK
MOV $100000,R0 EXPECTED
MOV JTXCSR, Rl *ACTUARL
BIC 877777 R1 SAVE DNR ONLY
528 5g,n1 :COMPRRE EXP VS ACT
HLT 3 :DNA SHOULD BE SET

:1F ONA DID NOT SET
" :CHECK WORD LENGTH SELECT LOGIC

SCOPE

s THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
::0F THE TRANSMITTER SECTION.

++ 1T ALSO CHECKS DNA TIMING

; s MODE : I1SYMOD

¢ s LENGTH:FIVE PLUS PRRITY

« s PRRITY:EVEPAR

SES 0C3e2




271 1605)

012767
012767
Qse7’?
0127277
052777

012777

012777
016703
112777
012767
012767

HO3

Ji-0CT-Tb 09:34 PRGE 35
-MAY-76 00:00

000013

00SSSE
0CC400
000000
000400

004020

001426
012302
000025
000352
000010

020000
020000

173466
002000
020000
020000

0l22i0
075777

173416
020000
000000

Li2l52
Q72777

173564
173546
012336
012324
012322

012314

012302
012300
173516
173504

012252
Gleeyy

0l2le2

: ; CHRRRCTER: 25

7STi1: Adv $11. TSTNO +SAVE THIS
MOY #7512, NEXT GO TO THIS TEST WHEN THRU
BIS sMRESEY, 8TXCSR  ;MASTER RESET
MOV 81SYMOD, aPRRCSK :SET THE MODE
BIS SMRESET QTXCSR :MASTER RESET

:SET MAINTENANCE MODE & SEND
‘NOTE:BIT WINDOWSCLK ARE CLEARED (MTDATA=0)
AoV SMINT!SEND, 3TXCSR

:SET MODE, s OF BITS,PARITY SENSE,8 LOAD SYNC REG
MOV $1SYMOD!FIVE 'EVEPAR! 26, 9PARCSR
MOV TXCSR,R3 :SET UP ronczggon MSG

MOVB 825, atXDBUF :LORD DAT
MOV aasé TEMPI :T0 8BS SHIFTED CHAR
MOV 8 OF SHIFTS
:POKE CLK TO GET ln?o svncnonxznfron
BIS 8CLK, aTXCSR :POKE CLK UP
BIC ICLK JTXCSR *POKE CLK DOWN
18: CLR RO
ROR TEMP1  ;FORCE CARRY
BCC 28 :BR IF CARRY CLR
- BIS $8ITW,RO’ EQUIV OF BITW
BIS $CLK, 3TXCSR :POKE CLK UP
BIC 8CLK’ 9TXCSR POKE CLK DOWN
MOV 3TXCSR,RI :ACTUAL
BIC £075777 ,R1 *SAVE BITW 3 DNR
ggg gg Rl ";COMPARE’EXP VS ACT
HLT 3 81T WINDOW DID NOT MATCH ACTUAL DATR
- :BIT,...ALSO CHECK DNA
DEC CHIFT .3 OF SHIFTS
BNE 1s :D0 IT AGRIN ?
-NOW POKE CLK TO SEE DNA
BIS sCLK atxcsa . POKE CLK
MOV 80, RO XPECTED
MOV STXCSR, Rl ncrunL
BIC 77777 R1 :GAVE DNA ONLY
EEE Rg JR1 conpnns EXP VS ACT
HLT 3 :DNA SHOULD BE SET
{IF ONA DID NOT SET
s :CHECK WORD LENGTH SELECT LOGIC
SCOPE
THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
:0F THE TRANSMITTER SECTION.

1T ano cuscxs DNA TIMING
: MODE : ISYMOD

: mmrwcmmmeY

H

0-1
U'l

RRITY: 0DDOPR
CHARACTER: 25

SEC 0033




CIDUD-C MACY11 2ri1006) 3i-0CT-T6 09:34 PAGE 37
D3DUDC.PI1  2I-MAY-76 00:09 SEC 0034

1709 ‘s
1710 005556 012767 0000I4 173342 TSTi2: MoV 812, TSTNO s SAVE THIS
1711 00SSeY 012767 006000 173324 MOV 87513 NEXT T0 THIS TEST WHEN THRU
1712 005558 0S3777 002400 012114 BIS sMRESEY, STXCSR s MASTER hsss
1713 005808 012777 0COO0G 012102 MOV #ISYMOD | JPARCSR SSET THE MODE
i;ig COSe06 052777 000400 012100 BIS SMRESET, JTXCSR  :MASTER RESET
171 +SET nnxnrsnnnce MODE 8 SEND
171 TE:BIT WINDOWBCLK ARE CLERRED (MTDATA=0)
i;ig 005614 0:2777 004020 012072 ﬁov SMINT!SEND, JTXCSR
1720 «SET MODE,# OF BITS,PARITY SENSE,8 LORD SYNC REG
1731 00Se22 012777 001026 012080 MOV 815YMODIFIVETODDPAR! 26, aPARCSR
1722 005630 016703 012060 MOV TXCSR,R3 -SET UP FOR ERROR MSG
1723 005634 112777 000C2S 012056 MOVB %25, atxDBUF :LORD DATR CHAR
1724 00Se42 012767 000252 173274 MOV 8252, TEMPI :TO BE SHIFTED CHAR
1726 005650 012767 000010 173262 MOV 28,  SHIFT -8 OF SHIFTS
1726 :POKE CLK T0 GET INYO svucnonzznfron
1737 0O0SeSe 052777 020000 012030 BIS sCLK, 3TXCSR :POKE CLK UP
1728 005664 042777 020000 012022 BIC sCLK, QTXCSR :POKE CLK DOWN
1729 DOS672 005000 18: CLR RO
1730 005674 DOB06? 173244 ROR TEMP1  ;FORCE CARRY
1731 005700 103002 BCC 2§ *BR IF CARRY CLR
1732 00S702 0S2700 002000 BIS $8ITW,RO’ -EQUIV OF BITW

, 1733 DOS706 28:
1734 005706 0S2777 020000 012000 BIS #CLK, 3TXCSR : POKE CLK UP

| 1735 005714 042777 020000 011772 BIC ¢CLK QTXCSR :POKE CLK DOWN

| 1736 005722 017701 011766 MOV STXCSR, RI : ACTUAL
1737 005726 042701 075777 BIC 8075777,R1 s SAVE ex*u & DNA

1738 005732 020001 CMP RO,R1 ';COMPARE’'EXP VS ACT

. 1733 005734 (00140l BEQ 3’

{1790 005736 104003 HLT 3 -BIT HINDOH DID NOT nnrcn ACTUAL LATA
1741 :BIT,...ALSO CHECK DNR
1742 005740 38:
1743 00S740 005367 173174 DEC SHIFT ;8 OF SHIFTS
1744 00S744 001352 BNE 18 :00 IT AGARIN ?
1745 :NCW POKE CLK TO SEE DNA
1746 00STYe 0S2777 020000 011740 B1S sCLK arxcsn -POKE CLK
1747 005754 012700 000000 MOV 20, R0 XPECTED
1748 005760 017701 011730 MOV JTXCSR, Rl - ACTUARL
1749 005764 042701 077777 BIC 877777 .R1 :SAVE DNR ONLY
1750 005770 020001 CMP RO, R1 :COMPARE EXP VS ACT
1751 005772 00140} BEQ 4§’
1752 005774 104003 HLT 3 :DNA_SHOULD BE SET
1753 :IF DNA DID NOT SET
1754 :CHECK WORD LENGTH SELECT LOGIC
1785 005776 4§:
i;gg 00S776 104400 SCOPE
1758 ,,THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
1759 i0F THE TRANSMITTER SECTION.
1760 1T ALSO CHECKS DNA TIMING
1764 noos SYNINT
1762 .,LENGTH SIX PLUS PARITY
1763 :PARITY:EVEPAR

1764 + :CHARACTER: 25
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1765

1766 00000 012767
1767 005006 012767
1768 006014 052777
1769 008022 012777
1770 008030 052777

1771
1772
1773
1774 00803t 012777
1775
1776
1777 0060WM 012777
1778 006052 016703
1779 008056 112777
1780 COB0&Y 018767
781 00E072 012767
1783 00BIDD 052777
1784° 006106 0942777
1785 006114 005000
1786 006116 0ORDE?
1767 DD6122 103002
1788 0061 052700
1763 005130
1790 006130 052777
1791 006136 04777
1762 DOBI44 017701
1793 006150 042701
1794 006154 020001
1795 006156 001401
1795 006160 104003
1797
1798 006162
1793 006162 005367
1800 006166 001352
1802 006170 0S2777
1803 006176 012700
1804 006202 017701
1805 006206 042701
1806 006212 020001
1807 006214 001401
1808 005216 104003
1809

006220

006220 104400

Pt Pt Pt Pt Pt Pt Pt Pt Pt Poumn

$n § =0 et P i Bt Pone Bt Dt Pt B
00 DA O (O o 00 0 0O
g\om\w‘m:wmo—m

JO3

2i-0CT-T6 09:34 PAGE 38
PZ0UDC.PI1 21-MAY-76 00:00

000015
006222
023400
023000
000400

004020

033426
011636
000025
000125
000007

020000
020000

173022
002000

020003
020000
Cl1544
075777

172752

020000
100000
011506
Q77777

0116580

011636
011634
173052
173040

011806
011630

011516

TST13: FdV £13, TSTNO :SAVE THIS
MOV #75t14 NEXT .G0 TO THIS TEST WHEN THRU
BIS sMRESE}, QTXCSR  ;MASTER RESET
MOV #SYNINT, 9PRRCSR SSET THE MODE
BIS 8MRESET ATXCSR :MASTER RESET

:SET MAINTENANCE MODE 8 SEND
:NOTE:8IT WINDOWACLK ARE CLEARED (MTDATA=0)
MoV $MINT!SEND, JTXCSR

:SET MODE,# OF BITS,PRRITY SENSE,8 LOAD SYNC REG
MOV #SYNINT!SIX!EVEPAR! 26, aPARCSR
MOV TXCSR,R3 -SET (JP FOR ERROR MSG
MOVB  #25,aYXDBUF :LORD DATA CHAR
MOV 8125, TEMP1 :TO BE SHIFTED CHAR
7 -% OF SHIFTS

MOV 87, SHUIFT 8
:POKE CLK 70 GET INTO SYNCRONIZAYION
BIS 8CLK. 3TXCSR :POKE CLK UP
BIC aCLK,ﬂTXCSR POKE CLK DOWN

18: CLR 0
ROR TEMP1  ;FORCE CARRY
BCC 2¢ ‘BR IF CARRY CLR
28 BIS 8BITW,RO -EQUIV OF BITW
BIS #CLK, 3TXCSR +POKE CLK UP
81C ALK’ ITXCSR :POKE CLK DOWN
MOV JTXCSR, RI : ACTUAL
BIC 8075777 Rl :GAVE BTTW & DNA
ggg gg,nl :COMPARE EXP VS *°T7
HLT 3 -BIT WINDOW DID NOT MATCH RCTUAL DATA
2 :BIT,...ALSO CHECK DNA

DEC  SHIFT ;8 OF SHIFTS
BNE 1§ :D0 1T RGAIN 2
NG POKE CLK TO SEE DNR

#CLK, 3TXCSR : POKE CLK
MOV $100000, R0 s EXPECTED

MOV aTXCSR, R1 s ACTUAL

BIC 877777 .R1 :SAVE DNA ONLY

EEE ﬁg,nx :COMPARE EXP VS ACT
HLT 3 :DNA SHOULD BE SET

;IF DNAR DID NOT SET
us sCHECK WORD LENGTH SELECT LOGIC
SCOPE
s THIS TEST VERIFYS CHRRACTER PLUS PARITY GENERATION
+sOF THE TRANSMITTER SECTION.
31T ALSO CHECKS DNR TIMING
: sMODE : SYNINT
+ s LENGTH:SIX PLUS PARITY
: s PRRITY:0DDPAR
: :CHARACTER: 25

)
'’

SEG 0035




efihc”

1821
1822
1823
1824
1825
1826

€ MACY!L!
PL1

0Ce222
006230
005236
006244
006252

006260

006266

00e402

0aS404
006404
006410

006412
UOEHEU
036 M4

006430
006434
0OEY36
006440

006442
006442

00&44Y

KO3

ETtlDG;s Og}ESCT-?& 4%:34 PRGE 39

2l-MAyY-
012767

012787

052777
Q42777
005000
006067
103002
052700

52777
042777
017701
042701
020001
00:401
104003

00S367
001352

052777
012700
017701
Q42701
020001
001401
104003

104400

012767

02C316
00B44Y
000400
032000
0C0NG0

004020

033026
011414
000007

020000
020000

172600
002C00
020000
020000

011322
075777

172530

023000
100000
011264
077777

000017

172675
172660
011450
011436
011434

Cl1e74

172454

TSTIN: MoV #14, TSTNO : SAVE THI:
MOV #75115 NEXT T0 THIS TEST WHEM THRU
8IS sMRESEY, 9TXCSR  ;MASTER hrssr
MOV #SYNINT, QPARCSR :SET THE MODE
BIS RMRESET,TXCSR :MASTER RESET
SET MAINTENANCE MODE & SEND
NOTE:BIT WINDOWBCLK ARE CLERRED (MTDATR=0)
frov $MINT!SEND, dTXCSR
-SET MODE,® OF BITS,PARITY SENSE,8 LORD SYNC REG
MOV osvhxnr-sxx'ooophn-as JPARCSR
MOV TXCSR,R3 :SET UP FOR ERROR MSG
MOVB %25, afxosur :LOAD DATA CHAR
MOV uas E :T0 BE SHIFTED CHAR
MOV 7, SHT :8 OF SHIFTS
:POKE CLK TO GET xﬁ'o svncnonzznflon
BIS #CLK, 3TXCSR s POKE CLK UP
BIC 8CLK JTXCSR *POKE CLK DOWN
18: CLR RO
ROR TEMP1  ;FORCE CARRY
BCC 28 :8R IF CARRY CLR
og BIS 81TU,RO’ -EQUIV OF BITW
BIS 8CLK, ITXCSR :POKE CLK UF
BIC 8CLK  dTXCSR POKE CLK DOWN
MOV 3TXC4R, R :ACTUA
BIC 8075777 ,R1 * GAVE BITu & DNR
ggg gg Rl ":COMPRRE’EXP VS ACT
HLT 3 -BIT WINDOW DID NOT MATCH ACTUAL DATA
- *BIT,...ALSO CHECK DNA
DEC SHIFT ;% OF SHIFTS
BNE 18 :D0 IT AGARIN 7
:NOW POKE CLK TO SEE DNA’
8IS #CLK, JTXCSR : POKE CLK
MOV 100000, RO sEXPECTED
MOV JTXCSR, Rl * ACTUAL
BIC 877777 Rl :SAVE DNA ONLY
ggg Rg ,R1 :COMPARE EXP VS ACT
HLT 3 :DNA SHOULD BE SET
:IF DNAR DID NOT SET
. *CHECK WORD LENGTH SELECT LOGIC
SCOPE
- s THIS TEST VERIFYS CHARACTER PLUS PRRITY GENERATION
t'0F THE TRANSMITTER SECTION.
i 1T ALSO CHECKS DNA TIMING
+ MODE : 1SYMOD
,,LENGTH SIX PLUS PARITY
: tPARITY: EVEPAR
; ; CHARACTER: 25
15715: by 815, TSTNO :SAVE THIS

SEC 00386
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1877 006452 012767
1878 006460 0S277?

{86d Boed%s BASo%?

1881
1882

1884 006502 012777
1887 006S10 012777

1888 006516 016703
1889 006522 112777

1890 00BS30 12767
1831 00853 Clere?
4

1893 006544 052777
1894 00BSS2 042777
1895 006560 005000
1836 006562 006067
1897 0D0eSes 103002
1898 006570 0S2700
1899 006574
1200 096574 052777
00se02

1304 006620 020001
130S D0bbe2 00140l
1306 006624 104003

1309 00b&cb (£0S367
32 001352

006534 (0Se2777
00ee42 012700
Qgee4e 017701
006652 042701
020001
00see0 001401
G0geb2 134003

OO0 0D O OO0 00
U= =s e papops P pa pe
—OwuoO~NONLEWN-—D
S
&

R

006b6M
922 00bbbY 104400

Pt Pt s Pt Prem Pt Pt et Pt Pt Pt P—s Pt

1931 006bee 0.£767
1932 00sb74 412767

LO3

J1-0CT-76 09:34 PARGE 40

00:09
006666 172436 MOV TST16, NEXT .30 TO THIS TEST WHEN THRU
000400 011226 BIS sMRESEY, ATXCSR  sMASTER RESET

330988 Biisfd IY  AIRYHOR.geeRCaR {cET THE MOO

+SET MAINTENANCE MODE & SEND
;NOTE:BIT WINDOWSCLK ARE CLEARED (MTDATA=0)

004020 011204 MOV sMINT!SEND, 9TXCSR

:SET MODE,# OF BITS,PRRITY SENSE,8 LORD SYNC REG
003426 011172 MOV #ISYMOD!SIXEVEPAR! 26, PRRCSR
01117 MOV TXCSR,R3 -SET (P FOR ERROR MSG
000025 0:1170 MOVB  #25,atXDBUF :LOAD DATA CHAR
0006SZ 172406 MOV 8652, TEMP1 :TO BE SHIFTED CHAR

MOV 9., SHIFT :4 OF SHIFTS
:POKE LK 1O GET INYD SYNCRONIZATION
BIS #CLK, aTXCSR s POKE CLK UP

000011 172374
020000 011142

020000 011134 s g{s agLK,arxcsn POKE CLK DOMWN
172356 | ROR TEMPL  ;FORCE CARRY
BCC 2% :BR IF CARRY CLR
002000 - BIS $BITW,RO EQUIV OF BITW
020000 O111l2 BIS #CLK, 3 XCSR :POKE CLK UP
020000 011104 BIC $CLK aTXCSR :POKE CLK DOWN
0111C0 MOV 3T¥C4R,RI s ACTUAL
075777 BIC $07577? Rl :SAVE BITW 8 DNA
ggs gg,ax sCOMPARE EXP VS ACT
HLT 3 -BIT WINDOW DID NOT MATCH ACTUAL DATA
- :BIT,...ALSO CHECK DNA
172306 ) DEC SHIFT ;% OF SHIFTS
BNE 18 :D0 IT AGAIN ?
+NOW POKE CLK TO SEE DNR
020000 011052 BIS ¢CLK, JTXCSR - POKE CLK
N000CH MOV 80, R0 EXPECTED
011042 MOV JTXCSR, R} - ACTUAL
077777 BIC 877777 Rl sGAVE DNA ONLY
ggg 5g,ax : COMPARE EXP VS RCT
HLT 3 :DNA SHOULD BE SET

; IF_DNR DID NOT SET
4s ; CHECK WORD LENGTH SELECT LOGIC

SCOPE

s3s THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
::0F THE TRANSMITTER SECTION.

+:IT ALSO CHECKS DNA TIMING

: sMODE : ISYMOD

s ;LENGTH: SIX PLUS PARITY

+;PARITY: ODOPAR

; s CHRRACTER: 25

000020 172232 TSTi6: MOV %16, TSTNO sSAVE THIS
007110 172214 MOV #75t17 NEXT :GO TO THIS TEST WHEN THRU

SEG 0037




CZ0UD-C MARCYL1 27(1006)

1933 006702 052777
1934 006710 012777
1935 008716 052777

1939 006724 012777

1942 006732 012777

1946 006760 012767

1948 006766 052777
1949 006774 Q42777
i950 007002 005000
1951 007004 006067
1952 007010 103002
1953 0070i2 052700

1955 007016 052777
1956 007024 042777
1957 007032 017701
1358 007036 042701
1959 (007042 020001
1360 007044 001401
1861 007046 104003

1964 007050 00S367
1965 007054 001352

1367 007056 052777
1968 007064 012700
1969 007070 017701
1870 007074 (042701
1871 007100 020001
1972 007102 001401
1973 007104 104003

1376 007106
1977 007106 104400

1987 007110 012767
1968 (9711¢ O0i2

MO3

Ji=0CT-T6 09:34 PAGE 4!
C20UDC.P1L 21-MAY-76 00:00

000400
2C0000
00C400

004020

003026

000011

020000
020000

172134
002000

020000
020000
010656
075777

172064

020000
000000
010620
Q77777

000021
007332

11004
10772
10770

o000

010782

016750

010746
172184
172152

010720
010712

C&670
062

oo
o e

010830

172010
171772

B1S MRESET,3TXCSR  ;MASTER RESET
MOV #]1SYMOD, QPARCSR :SET THE MODE
BIS SMRESET @TXCSR :MASTER RESET
:SET MAINTENANCE MODE 8 SEND
-NOTE:BIT WINDOWBCLK ARE CLEARED (MTDATR=O)
AoV sMINT!SEND,3TXCSR
:SET MCDE,# OF BITS,PARITY SENSE,8 LOAD SYNC REG
MOV $1SYMOD!SIX? ODDPAR® 26, 9PARCSR
MOV TXCSR,R3 :SET UP FOR ERROR MSG
MOVB  #25,atxDBUF :LOAD DATA CHAR
MOV 8452, TEMPL :TO BE SHIFTED CHAR
MOV 29, SHIFT -8 OF SHIFTS
:POKE CLK 70 GET INY0 SYNCRONIZATION
BIS (LK, aTXCSR :POKE CLK UP
BIC $CLK ) TXCSR :POKE CLK DOWN
18: CLR RO
ROR TEMPL  :FORCE CARRY
BCC 28 :BR IF CARRY CLR
3 BIS $BITW,RO -EQUIV OF BITW
BIS $CLK, JTXCSR :POKE CLK UP
BIC sCLK @TXCSR *POKE CLK DOWN
MOV ATXC5R,R1 : ACTUAL
BIC 8075777, R! *SAVE BITW & DNA
ggg gg,nx - COMPARE "EXP VS ACT
HLT 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
- :BIT,...ALSO CHECK DNA

BNE 1
; NOW POKgIgLK TO SEE DNA

4§:

TST17:

DEC SHIFT ;8% OF SHIFTS
$ ;00 IT AGRIN ?

#CLK, 9TXCSR - POKE CLK
MOV 20, R0 Risxpccrsb

MOV JTXCSR, s ACTUAL

BIC 877777 Rl +SAVE DNA ONLY

ggg 5g,n1 : COMPARE EXP VS ACT
HLT 3 :DNA_SHOULD BE SET

; IF_ ONA DID NOT SET
; CHECK WORD LENGTH SELECT LOGIC

SCOPE

s s THIS TEST VERIFYS CHARACTER PLUS PRRITY GENERATION
:+:0F THE TRANSMITTER SECTION.

;31T ALSO CHECKS DNR TIMING

s sMODE : SYNINT

+ s LENGTH: SEVEN PLUS PARITY

+ sPARITY:EVEPAR

; s CHARACTER: 125

Wv  #17,T5TNO .SAVE THIS
MOV 75t 18, NEXT

;GO TO THIS TEST WHEN THRU

SEQ 0038
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1933 QC7124 352777
1930 007132 012777
193] 007140 052777
1932

1993

1994 .
1995 Q07146 012777
1995

1997

1993 007154 Qi
.3399 007162 016703
2060 007166 1l
2091 007174 012767
2052 (07202 012767

2304 007210 052777
005 00216 042777
2006 007224 00SO0D
20J7 007226 0OORDE?
008 007232 103002

007234 00

2J10 007240

2011 007240 0S2777
2012 007246 042777
2013 007254 017701
2014 007260 042701
2015 007264 020001
2dle 007266 001401
2017 007270 104003

2019 007272
2020 007272 0CS367
£Jel 007276 0CL13%2

2323 007300 0S2777
2024 007306 012700
2025 0073ie 017701
2026 007316 042701
20e7 007322 02000l
2028 007324 001401
2029 007326 104003

c032¢ 007330
2033 007330 104400

2042 007332 012767
2043 00734C 012767
044 007346 (52777

NO3

Ji-0CT-76 09:34 PAGE 42

00:03

003400 010Se2 BiS #MRESET,dTXCSR ;MASTER RESET
0302C0 010550 MOV #SYNINT,JPARCSR ;SET THE MODE
CO0400 010846 BIS sMRESET,JTXCSR ;MRSTER RESET

:SET MRINTENANCE MODE & SEND
-NOTE:BIT WINDOWBCLK ARE CLERRED (MTDATA= .)
054020 010540 AoV sMINT!SEND, 9TXCSR

;SET MCDE, » OF BITS,PARITY SENSE,& LORD SYNC REG

035426 C1052¢ Y sSYNINT! SEVEN! EVEPAR' 26, dPARCSR
010526 MOV TXCSR.R3 +SET UP'FOR ERROR MSG
030125 010524 MOVE  #125,aTXDBUF  :LOAD DATA CHAR
000125 171742 MOV %125’ TEMPL +TO BE SHIFTED CHAR
000016 171730 8. SHIFT % OF SHIFTS

MOV 8.  SHI
- FOKE CLEIgo GET INYO SynNcronizatioN

020007 010476 #CLK, aTXCSR :POKE CLK UP
020000 G13+70 s QES ang,aTxcsn :POKE CLK DOWN
171712 | ROR TEMP1  ;FORCE CARRY
BCC 23 :BR IF CARRY CLR
002000 - BIS $BITW,RO -EQUIV OF BITU
020000 010446 BIS #CLK, aTXCSR :POKE CLK UP
020000 01040 BIC #CLK ' ITXCSR 'POKE CLK DOWN
010434 MOV aTXCSR,R1 s ACTUAL
075777 BIC 8075777, R1 :SAVE BITW & DNA
ggz gg,nl : COMPARE 'EXP VS ACT
HLT 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
- :BIT,...ALSO CHECK DNA
171842 ) DEC SHIFT ;& OF SHIFTS
BNE 1% :D0 IT AGRIN ?
sNOW PCKE CLK TO SEE DNA
020000 010406 BIS #CLK, 3TXCSR -POKE CLK
100000 MOV #100000,R0 :EXPECTED
010376 MOV ATXCSR, A1 s ACTUAL
077777 BIC 877777 Rl :GAVE DNA ONLY
ggz sg,al : COMPARE EXP VS ACT
HLT 3 :DNA_SHOULD BE SET
“.F DNA DID NOT SET
. :CreCK WORD LENGTH SELECT LOGIC
) SCOPE

« s THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
:sOF THE TRANSMITTER SECTION.

<+ IT ALSO CHECKS DNA TIMING

s s MODE : SYNINT

+ s LENGTH: SEVEN PLUS PARITY

s ;PARRITY: ODDPAR

; ; CHRRACTER: 125

000022 171566 T5T18: MOV £18, TSTNO :SAVE THIS

007554 171850 MOV #75t19, NEXT GO TO THIS TEST WHEN THRU
000400 010340 8IS sMRESET, 9TXCSR  ;MASTER RESET

4

SEQ 0039
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SonuUD-C MACYIL 2T11008) 21-0CT-T6 09:34  PRSE 43
OSDUWOC.PIL  2l-“AY-T& 00:09 SES 0040
0 oc"asw Q12777 C£32300 2.03z8 MOV 8SYNINT, 2PARCSR ;SET THE MODE
§ 007362 Os2~rr 13430 Zig3ad BI¢S sMRESET QTXZSR  sMASTER RESET
gowa +SET naxmev-nme,noms § SEND
049 TE:BI7 WINDOWBCLK ARE CLERRED (MTCATA=C)
% DO73TD 21277t N0M022 10315 ﬁcv sMINTISEND, 2TXCSR
£262 A ;SET MCDE,® OF BITS,PARL"Y SENSE,3 LOAD SYNC nec
23853 DpO73%6 L0.2777 035026 2.0304 phv ssmmvsevzwoobm'as JPARCSR
2064 3CP4D4 D0:6703 010304 MOV TXCSR, R3 :SET UP'FOR ERPOR MSG
£055 00741p 112777 OCOISS 0103C2 MOVB  #125,8TXDBUF  :LOAD onm CHAR
£%k 0CTw16 012767 000325 1520 nov :335 Erm :TO BE SHIFTED CHAR -
2267 oG24 012767 000DID 1TiE3e 8 OF SHIFTS
2058 ~ POkE e cer INED S ricronIZatTo
2069 DO7N3R T77 020000 019254 EIS sCLK, 3TXCSR :POKE CLK UP
2967 042777 020003 DIC246 31¢ 8K, TXCSR :POKE CLK COWN
2961 007446  0OSD00 18: CLR RO
2262 007950 006067 171470 ROR TEMP1  ;FORCE CRRRY
2063 007454 103002 BCC 2§ :BR IF CARRY CLR
2064 0074Sp 052700 0C2000 8IS $BITK,RG’ EQUIV OF BITW
20ES  DO74be 28:
2066 007462 0S2777 020007 LlC224 BIS 8CLK, 3TXCSR :POKE CLK UP
2067 DOPM7D Q42777 020000 ClIC2ie 31c sCLK QTXCSR :POKE CLK DOWN
2068 00747 0177C1 Q1Czle MOy STXCER,RL :ACTUAL
2069 DO7S02 (Me70l 07s777 eIC 8075777 Rl 'SAVE BITW & DNA
2270 025001 CHP RO,R1 ';COMPRRE'EXP VS RCT
2571 DO7510 001491 BEQ 3s
2072 007512 108002 HLT 3 .BIT WINDOW DID NOT MATCH ACTUAL DATA
2073 i :BIT,...ALSO CHECK DNAR
2074 DOTSIY 38:
€75 DBOPE14  00S3%7 171420 DEC SHIFT ;8 OF SHIFTS
2076 07820 01362 BNE 18 :00 IT AGAIN ?
2077 :NOW POKE CLK TO SEE DNAR’
2078 00752 052777 020090 012184 BIS 8{LK,@TXCSR :POKE CLK
2079 007€30 012700 100000 MOV 8100600, RO :EXPECTED
2090 DO7534 017701 01J!SY MV QTXCSR,RI s ACTUAL
2281 D07S40 O4z?01 077777 BIC 877777 Rl snvs ONR ONLY
Zo82 Q07544 020001 CHP kO,R1 : COMPRRE EXP VS ACT
2083 00784 OC1401 BEQ "y
3 &9 104003 HLT 3 :DNA snouw BE SET
P :IF ONA DID NOT SET
2086 :CHECK WORD LENGTH SELECT LOGIC
20687 007552 4s:
2088 007552 104400 SCOPE
2089 ,,rnxs TEST VERIFYS CHARACTER PLUS PARITY GENERATION
2°%0 F THE TRANSMITTER SECTION.
2091 .,17 AL S0 cuecxs ONA TIMING
2082 + 1MODE ; ISYM
2093 s tLENGTH: sevsn PLUS PRRITY
2094 ,.Pmm EVEPAR
eaggss ; ; CHARACTER: 125
5399 DoTSSY 012767 000023 171344 TSTIS:  fbv 819, TSTNO sSAVE THIS
2098 007882 012767 007776 171326 MOV 875120, NEXT G0 TO THIS TEST WHEN THRU
£5%9 007570 (082777 000400 010116 BIS sMRESEY, 9TXCSR  ;MASTER RESET
2100 007876 CGlz7?77 000000 010104 MOV 81SYMOD, JPARCSR :SET THE MODE
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cl=-MRY=76 0N

JSEJ(

CL1ar™?

012777
Ci67C3
122777
012767
01P787

0s277?
Qua777?
095300
006067

103002
052700

052777
Q42777
017701
42701
020001
0C1401

012767
012767
052777
G1e?77
0se777

ca4

OA-gLT-.S 09:34 PAGE WM

00U+00 010102 BiS SMRESET,9TXCSR  ;MASTER RESET

+SET MRINTENANCE MODE 8 SEND
;NOTE:BIT WINDOWSCLK ARE CLERRED (MTDRTR=0)

004020 010074 AoV sMINTISEND, QTXCSR
:SET MCCE, s OF BITS,PARITY SENSE,8 LOAD SYNC nec
00S426 010062 MAv olsvnoo'ssvzn-svépnn'as JPAR
010062 MIV TXCSR, R -SEY wrmsmmn%
00012 01C060 MOVB 8125 érxoaur :LORD DATA CHAR
001252 171276 nov sxasé T np1 TO as suxrrso CHAR
000012 .7i26M SHIFTS
: POKE CLK TO 3ET xurb svncnouxzntlou
029006 010032 B1S 8CLK, 3TXCSR -POKE CLK UP
020000 01002 s g{g RBLK STXCSR :POKE CLK DOWN
171246 ROR TEMPL  ;FORCE CRARRY
BCC 2$ :BR IF CARRY CLR
002000 - BIS BITH,RO’ -EQUIV OF BITW
020020 C103C2 BIS CLK, 3TXCSR -POKE CLK UP
020000 007774 B1C sCLK ' STXCSR :POKE CLK DOWN
007779 MOV 3TXC4R,RI :R7TUARL
075777 BIC 8075777 R} :SAVE BITW & DNA
SE‘S gg Rl ';COMPARE'EXF VS RCT
HLT 3 sxr uINDOH DID NOT nnrcu ACTUAL DATA
- :BIT,...ALSO CHECK DNA
171176 DEC SHIFT ;8 OF SHIFTS
ENE 18 00 1T RGAIN *
:NOW POKE CLK 1O SEE DNR'
020000 0907742 BIS OCLK JTXCSR - POKE CLK
000520 MOV 0,R0  :EXPECTED
007732 MOV arﬁ Rl ACTUAL
Q77777 BIC 77777 'Rl :SAVE DNA ONLY
825 ng JRi :COMPARE EXP VS ACT
HLT 3 :DNA_ SHOULD BE SET
:1F DNA DID NOT SET
.8 :CHECK WORD LENGTH SELECT LOGIC
SCOPE
s THIS TEST VERIFYS CHQRACTER PLUS PARITY GENERATICN
:10F THE TRANSMITTER SECTION.
$31T ALSy CHECKS ONA TIMING
: MODE : 1SYMOD
.,LENGTH SEVEN PLUS PRRITY
: PARITY: ODDPAR
..cunancrsn 125
000024 171122 T5T20: hby 820, TSTNO :SAVE THIS
010220 171174 MOV 875121, NEXT - GO TO THIS TEST WHEN THRU
00CN00 007674 BIS eMRESEY, QTXCSR  ;MASTER RESE
000000 007662 MOV 81SYMOD, OPARRCSR ;SET THE noos
000400 007660 BIS SMRESET.JTXCSR :MASTER RESET

SEQ 0041




CoOUl-C MeCYLl 27010080 J1-0CT-76 09:34 PRGE 45
CIBULDC.PLL 21-MAY=-76 00:00 SEC 0042

2157
2158 :SET MAINTENANCE MODE 8 SEND

2159 _ ‘NOTE:BIT WINDOWSCLK ARE CLEARED (.1TDATA=0)
5%2? 010034 01277° 004020 007852 MoV 8MINTISEND, 3TXCSR

2162 +SET MODE, s OF B1T1S,PARITY SENSE.3 LOAD SYNC REG
2163 0100v2 012777 005026 007640 MOV 8ISYMOD? SEVEN! 0DDPAR! 26, 3PARCSR

cl64 01000 0lE?03 00?7640 MOV TXCSR,R3 SET UP FOR ERROR MSG
2165 0I100SM 112777 (OPNIS 007636 MIVB  #125,JTXDBUF  ;LOAD DATA CHAR

2ith 210062 Clezbs ODlose 171054 MOV 81652, TePl ;TO BE SHIFTED CHAR
2167 010070 0ie?e7 000012 171042 MOV 210, ,SHIFT *8 OF SHIFTS

2168 . ;POKE CLK_T0 GET INTH SYNCRONIZA}ION

2i6S 010075 052777 020000 0J7610 81S #CLK, 3TXCSR :POKE CLK UP

2170 Gl0104 042777 023006 007602 B1¢ sCLK JTXCSR :POKE CLK DOWN

2171 010112 00SDOC 18: CLR RO

2172 010114 006067 171024 ROR TEMPL  ;FORCE CARRY

2173 018126 103002 BCC 13 :BR IF CRRRY CLR

g%;; gigigé 052700 002000 - 8IS $BI7W,RO -EQUIV OF BITW

3176 0i0i2e 052777 020000 00TS&C 8IS aCLK, 3TXCSR :POKE CLK UP

2177 D101 042777 020000 (GCrSs2 BIS 8CLK JTXCSR :POKE CLK DOWN

2178 010142 017701 DO07S46 MOV 3TxC4R, R} :ACTUAL

2179 QI10I14% 082701 075777 8IC 8075777 Rl :SAVE BITW 3 DNA

2 80 D1Cis2 020001 CMP RO,RL ';COMPARE EXP VS ACT

2181 010154 001401 BED 3

2182 0i0156 104003 HLT 3 :BIT WINDOW DID NOT MATCH ACTURL DATA
2183 :BIT,...ALSO CHECK DNA

2184 010160 3s:

2186 010160 005367 170754 DEC SHIFT ;8 OF SHIFTS

2186 O0I1C16M 001352 BNE 18 :D0 IT AGAIN ?

2157 -NOW POKE CLK TO SEE DNA

2188 010166 020000 007520 B1S ¢CLK, 3TXCSR : POKE CLK

2189 0i0174 012700 000200 MOV 80,R0  .EXPECTED

2190 0I0200 017701 007510 MOV 3TXCSR,R] -ACTUR,

2191 DI04 N270L (077777 BIC 877777 .R1 :GAVE DNA ONLY

2192 010210 020001 CHP RO,R1 : COMPARE EXP VS ACT
2:93 DiG2le 001401 BEQ 4§

2194 010214 104003 HLT 3 :DNA SHOULD BE SET

2195 :1F DNAR DID NOT SET

219 :CHECK WORD LENGTH SELECT LOGIC
2197 [1n2lk 4§:

Sigg GiC2ie 104400 SCOPE

2290 : s THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
2201 ::0F THE TRANSMITTER SECTION.

2202 -+ IT RLSO CHECKS DNR TIMING

2203 : 1 MODE : SYNINT

2204 : LENGTH: EIGHT PLUS PARITY

c20S s sPRRITY:EVEPAR

2206 s s CHRRRCTER: 125

5559 010220 012767 002025 170700 7TsT21: FAbv 821, TSTNO :SAVE THIS

2209 010226 012767 010442 170662 MOV sTS5t22, NEXT -GO T0 THIS TEST WHEN THRU
2210 010234 752777 0OQ4D0 (07452 BIS MRESEY, STXCSR  ;MASTER RESET

2211 010242 012777 030000 007440 MOV $SYNINT! QPARCSR ;SET THE MODE

2212 010250 052777 000400 007436 8IS SMRESET QTXCSR :MASTER RESET




EOY

SaDU-C MRCY1L 2711006 Ji-0CT-T6 09:34 PRGE 46

CIOU0C.P1l  2l-"AY-re £0:00 SEQ 00N3
2213
c:iN SET MAINTENANCE MODE 8 SEND
2215 “NOTE:BIT WINDOWECLK ARE CLEARED (MTDATA=0)
ggig 010256 01277 004020 007430 MOV sMINTISEND, 9TXCSR
2218 :GET MODE,® OF BITS,PARITY SENSE,8 LORD SYNC REG
2219 010264 012777 037426 007416 MOV sSYAINT'EIGHT!EVEPAR? 26, 3PARCSR
2220 010272 0IE?03 007416 MOV TXCSR,R3 +GET UP'FOR ERRGR MSG
2221 010276 1.2777 000125 O0074i4 MOVB  8125,dTXDBUF  ;LOAD DATA CHAR
2222 010304 (2767 000126 170632 MOV 8125’ TEMP] :T0 8E SHIFTED CHAR
£223 010312 012767 020011 170620 MOV #3. SHIFT 8 OF SHIFTS
:POKE CLK T0 GET IN'D SYNCRONIZATION
2225 010320 0S2777 020000 0J7366 BIS 8CLK, 3TXCSR s POKE CLK UP
2226 010326 042777 020000 O0073€EC BIC $CLK | aTXCSR :POKE CLK DOWN
2227 D103 00S000 18: CLR RO
2228 01033% 006067 170602 ROR TEMPL  ;FORCE CARRY
2229 01032 103002 BCC 28 :BR IF CARRY CLR
2230 010344 052700 002000 BIS $8ITW,RO -EQUIV OF BITW
2231 010350 28:
2232 010350 0s2777 020000 007336 BIS 8CLK, 3TXCSR -POKE CLK UP
2233 01036 042777 020000 O0C7330 BIC 8CLK' TXCSR POKE CLK DOWN
2o 010368 017701 007324 MOV JTXCSR, R] : RCTUAL
2235 013370 042701 075777 BIC 8075777 ,R1 :GAVE BITW 3 DMR
223% 010374 020001 CNP RO,R1 ';COMPARE'EXP VS ACT
| 2237 0.0376 001401 BEQ 38
2238 010400 104003 HLT :BIT WINDOW DID NOT MATCH ACTURL DATA
| 2239 :BIT,...ALSO CHECK DNA
010402 38:
2241 010402 00S38? 170532 DEC SHIFT ;8 OF SHIFTS
2242 0.0406 001352 BNE 1§ 00 IT RGAIN ?
2243 :NOW POKE CLK TO SEE DNA
So44 DIOMI0 0S2777 020000 007276 BIS 8CLK, JTXCSR :POKE CLK
2245 0iD416 012700 100300 MOV 100000, R0 ' EXPECTED
2246 0l1(u22 017701 007266 MY JTXCSR, Rl s ACTUAL
2247 010M26 (M2701 077777 8IC 877777 Rl :SAVE DNA ONLY
2248 010w32 020001 CHP RO,R1 :COMPARE EXP VS ACT
2249 010434 001401 BEQ i3
2260 010436 104003 HLT 3 :DNA SHOULD BE SET
2251 :IF DNA DID NCT SET
2252 : CHECK WORD LENGTH SELECT LOGIC
2253 010840 4§:
2254 010440 104400 SCOPE
2255 . ' THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
2256 :10F THE TRANSMITTER SECTION.
2257 + 21T ALSO ?ugcxs DNR TIMING
S8 ¢+ :MODE : SYNIN
2259 ;;bzncruzsxcnr PLUS PARITY
2280 s tPRRITY: ODDPAR
226l + s CHRRRCTER: 125
2263 010442 012767 000026 170456 TST22: MbV 822, TSTNO sSAVE THIS
2264 D10MS) 012767 010664 170440 MOV 875t23, NEXT G0 TO THIS TEST WHEN THRU
2265 010456 052777 000400 007230 BIS sMRESEY, 9TXCSR  ;MASTER RESET
ockb 010464 012777 030000 C07216 MOV SYNINT, JPARCSR ;SET THE MODE
Eggg 01047z 052777 000400 007214 BIS SMRESET,@TXCSR :MASTER RESET
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020000

170360
002009
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170234
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006774
006772

:SET MAINTENANCE MODE 8 SEND
*NOTE:BIT WINDOWSCLK ARE CLEARED (MTCATA=0)
AoV sMINT!SEND, 9TXCSR

SET MODE,® OF BITS,PARITY SENSE.8 LOAD SYNC REG
MOV sSYNINT!EIGHT ' ODDPAR? 26, 3PARCSR
MOV TXCSR, R3 :SET UP'FOR ERROR MSG
MOVB  8125,dTXDBUF  ;LOAD DATA CHAR
MOV :sas rsnpx +TO BE SHIFTED CHRR

MOV 8 OF SHIFTS
:POKE CLX T0 GET xn?o svncnonxzntxon
8IS #CLK, aTXCSR :POKE CLK UP
81C 8CLK ] 3TXCSR :POKE CLK DOWN
1%: CLR RO
ROR TEMPL  ;FORCE CARRY
8CC 2 :BR IF CRRRY CLR
8 BIS $8ITW, RO’ EQUIV OF BITW
BIS 8CLK, 3TXCSR :POKE CLK UP
BIC 8CLK ITXCSR :POKE CLK DOWN
MOV JTXCSR, RI :ACTUAL
BIC 075777 R} SAVE BITW & DNR
EES SE’RI s COMPARE 'EXP VS ACT
HLT 3 :BIT uxnoou DID NOT MATCH ACTUAL DATA
- :BIT,...ALSO CHECK DNAR

DEC SHIFT ;8 OF SHIFTS

BNE 18 :D0 IT AGAIN ?
:NOW POKE CLK TO sss ONA
BIS sCLK, 9TXCSR :POKE CLK
MOV 2100000, RG expecreo
MOV JTXCSR, Al :ACTURL
81C 877777 'Rl *SAVE DNR ONL
SES ng JR1 : COMPARE sxp vs ACT
HLT 3 :DNA SHOULD BE SET
:IF DNA DID NOT SET
. : CHECK WORD LENGTH SELECT LOGIC
SCOPE
THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
.,or THE TRANSMITTER SECTION.
1T ALSO CHECKS DNR TIMING
: :MODE : 1SYMOD
: iLENGTH: sxcnr PLUS PARITY
t PARITY : EVEPAR
,,cunancrsn 125

157123: Ay 823, TSTNO :SAVE THIS
MOV sT5t24, NEXT GO TO THIS TEST WHEN THRU
BIS sMRESET, 9TXCSR  ;MASTER RESET
MOV 81SYMOD, 9PARCSR (SET THE MODE
BIS SMRESET,TXCSR :MASTER RESET

; SET MRINTENANCE MODE 3 SEND

SEG 0044
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8’5d3; P1l af-ni#-?é oa 0% SEG 00MS

2325 -NOTE:BIT WINDOWSCLK ARE CLERRED (MTDATA=0)

2326 010722 (012777 004020 O00B76M MOV sMINT!SEND, JTXCSR

Siés +GET MODE,® OF BITS,PARITY SENSE,8 LOAD SYNC REG

2329 010730 012777 DO742b 0067S2 MOV :xs?noo'zxcnr EVEPAR! 26, SPARCS

2330 01073 016703 006752 MOV TXCS :SET UP'FOR ERROR MSG

2331 010742 112777 000125 006750 MOVB axas brxoaUF :LOAD DATRA CHAR

2332 0I0750 012767 002252 170166 MOV aaasé TEH°1 70 BE SHIFTED CHAR

2333 010756 012767 000013 170154 MOV SHIF % OF SHIFTS

234 ;POKE CLK TO GET *INT GvicRon1Zat 1o

335 (QIC7BM 052777 020000 008722 BIS #CLK, 9TXCSR :POKE CLK UP

233 010772 042777 020000 006714 BIC 8CLK 9TXCSR POKE CLK DOWN

2337 011000 005000 18: CLR RG

2338 011002 O00EC67 170136 ROR TEMP1  ;FORCE CARRY

2339 011006 103602 BCC 2$ :BR IF CARRY CLR

2340 011010 0S2700 002000 BIS $8ITW,RO’ :EQUIV OF BITW

21 011014 28: \.

2342 011914 0S277? 020000 006672 BIS #CLK, dTXCSR sPOKE CLK UP

2343 011022 042777 030000 OCEEbY 8ic sCLK QTXCSR :POKE CLK DOWN

2394 DI1030 017701 0O0&66D MOV JTXC4R, R1 s ACTUARL

2345 011034 042701 075777 BIC 8075777 ,R1 :SAVE BITW 8 DNA

236 011040 020001 CMP no Rl ';COMPARE’EXP VS RCT

2347 0l1042 001401 BEQ 3’

2348 011044 104003 HLT :BIT WINDOW DID NOT MATCH ACTUAL DATA

2349 :BIT,...ALSO CHECK DNA

2350 01104 38:

2351 011046 005367 170086 DEC snxrr -8 OF SHIFTS

2352 011052 001352 BNE :00 IT AGAIN ?

2353 :NOW POKE CLK ro sss ONA'

2354 011054 052777 020000 DOBE3E BIS sCLK arxcsn -POKE CLK

2355 01ip6e 012700 000000 MOV %0, R0 EcrEb

23%6 011066 017701 006622 MOV arkcsn Rl ACTUAL

2357 011072 042701 077777 BIC 77777 .R1 snvr-: DNA ONLY

2358 011076 020001 CHP RO,R1 :COMPARE EXP VS ACT

2359 011100 001401 BEQ 3

2360 011102 104003 HLT 3 :DNA SHOULD BE SET

2361 +1F DNA DID NOT SET

2362 'CHECK WORD LENGTH SELECT LOGIC

2363 011104 4§:

2364 011104 104400 SCOPE

2365 .,ruxs TEST VERIFYS cnnancren PLUS PARITY GENERATION

2366 :0F THE TRANSMITTER SECTICN.

2367 ::1T ALSO CHECKS DNA TIMING

2368 ,,noos 1SYMOD

2369 "%ﬂm :EIGHT PLUS PRRITY

2370 s ODOPAR

S%;é ,.cnnanc1sn 125

5373 011106 012767 000030 170012 TST24: Hdv 824, TSTNO : SAVE HIS

2374 011114 012767 011330 167774 MOV s75t25 NEXT omrmsmmuwnmw

2275 011122 052777 000400 00656 BIS sMRESEY, 9TXCSR  :MASTER AESE

2376 011130 012777 0C000C 006552 MOV 8]SYMOD | 9PARCSR ;SET THE noos

gg;g 011136 052777 000400 006550 BIS SMRESET @TXCSR >MASTER RESET

2379 :SET MAINTENANCE MODE 8 SENO

2380 ;NOTE:BIT WINDOWLCLK ARE CLEARRED (MTDRTAR=0)
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gggé 011144 Q12777 004020 00BS42 MUV SMINT!SEND, 3TXCSR
2383 +SET MODE, % OF BITS,PARITY SENSE,8 LOAD SYNC ©7G
23849 011152 012777 007026 006530 Mbv 81S¥YMOD!E IGHT ! ODOPAR! 26, IPARC 31
238 011160 016703 00&S30 MOV TXCSR, R3 :SET UP'FOR ERROR MSG
2386 Ol1i64 112777 000125 006526 MOVB  #125,dTXDBUF  :LOAD DATR CFAR
2387 011172 012767 003252 167744 MOV 83252, TEMP] :TO BE SHIFTED CHAR
2388 011200 012767 000013 167732 MOV 811, SHIFT 8 OF SHIFTS
2389 :POKE CLK TO GET INTO SYNCRONIZAYION
2390 011505 0S2777 020000 006520 BIS 8CLK, 3TXCSR :POKE CLK UP
2391 011214 042777 020000 006472 BIC 8CLK, 9TXCSR *POKE CLK DOWN
2332 011222 00S000 13: CLR RO
2393 011224 006067 167714 ROR TEMP1  ;FORCE CARRY
2399 011230 103002 BCC 28 'BR IF CARRRY CLR
2395 (011232 062700 002000 BIS sBITW,RO -EQUIV OF BITW
23% 01123% 28:
239° 011236 052777 020000 0OBNSC BIS #CLK, 3TXCSR :POKE CLK UP
2258 011294 Q<2777 020000 006442 BIC eCLK 3TXCSR *POKE CLK DOWN
2399 011252 017701 006436 MOV 3TXCSR, R1 s ACTUARL
2400 011256 042701 075777 BIC 8075777 Rl SAVE BITW 3 DNA
2401 011262 020001 CMP RO,R1 ' ;COMPRRE’EXP VS ACT
2402 011264 001401 BEQ 3§
2403 011266 104003 HLT 3 -BIT WINDOW DID NOT MATCH ACTUAL DATA
2404 :BIT,...ALSO CHECK DNA
2405 011270 33:
2406 011270 005367 167644 DEC SHIFT ;& OF SHIFTS
2407 011274 001352 BNE 18 :DC IT AGAIN ?
2408 _ :NOW POKE CLK TO SEE DNA
2409 011276 0S2777 50000 OOBMIO BIS $CLK, aTXCSR -POKE CLK
2410 0113 §ic700 000000 MOV 80,R0  :EXPECTED
2uit {11310 017701 00&400 MOV aTkCSR, Rl - ACTUAL
2412 011314 042701 077777 BIC 877777 Rl GAVE DNAR ONLY
2413 D0ii320 020001 CMP RO, R! :COMPARE EXP VS ACT
2414 011322 001401 BEQ 4§
2415 011324 104003 HLT 3 :DNA SHOULD BE SET
2416 :IF DNA DID NOT SET
2417 :CHECK WORD LENGTH SELECT LOSIC
2418 011326 ys:
5353 011326 104400 SCOPE
2421 : s THIS TEST VERIFYS CHARRCTER PLUS PRRITY GENERATION
2422 ::0F THE TRANSMITTER SECTION.
2423 21T ALSO CHECKS DNA TIMING
24N : $MODE : SYNINT
2425 s tLENGTH: EIGHT PLUS PARITY
2426 : PARITY: EVEPAR
g:gg + s CHRRACTER: 252
2429 011330 012767 000031 167570 75T25: Hbv 825, TSTNO :SAVE THIS
2430 011336 012767 011552 167552 MOV 875126, NEXT GO TO THIS TEST WHEN THRU
2431 011344 052777 000400 0063de BIS sMRESEY, 9TXCSR  ;MASTER AESET
2432 011352 012777 030000 006330 MOV #SYNINT, JPRRCSR :SET THE MODE
5333 011360 052777 000400 006326 BIS SMRESET,JTXCSR ;MASTER RESET
2435 :SET MAINTENANCE MODE 8 SEND

436 ;NOTE:BIT WINDOWSCLK ARE CLERRED (MTDATA=0)
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p2oulc.P1l 2l- n v-ﬁs 03 8 SEQ 0047
g:gg 011366 012777 004020 006320 MUV $MINT?SEND, 3TXCSR
2439 :GET MODE,# OF BITS,PARITY SENSE,8 LOAD SYNC REG
2440 011374 012777 037426 006306 Mbv sSYNINT{EIGHT!EVEPAR! 26, SPARCSR
2441 011802 016703 006306 MOV TXCSR, R3 sSET UP’FOR ERROR MSG
2442 011406 112777 000252 006304 MOVB  #252,4dTXDBUF  :LORD DATA CHAR
2443 011414 012767 000252 167522 MOV uesa TEMPL :T0 BE SHIFTED CHAR
2444 Q011422 012767 00001I 167510 MOV SHIFT % OF SHIFTS
2445 -POKE CLK TO GET znto svncnonxznfxon
2446 011430 052777 020000 006256 BIS 8CLK, 9TXCSR :POKE CLK UP
2447 011436 042777 020000 006250 BIC $CLK, TXCSR POKE CLK DOWN
2448 011444 005000 18: CLR RO
2448 Q11446 00B067 167472 ROR TEMF]  ;FORCE CARRY
2450 Gliys2 103002 BCC 28 :BR IF CRRRY CLR
2451 011464 052700 002000 BIS $BITW,RO’ :EQUIV OF BITW
2452 011460 23:
2453 011460 052777 020000 006226 BIS #CLK, STXCSR :POKE CLK UP
2454 D114e6 042777 020000 006220 BIC $CLK . 9TXCSR s POKE CLK DOKN
2455 D11474 017701 006214 MOV JTXCSR, R1 ACTU
2456 011500 042701 075777 BIC 8075777 ,R1 snvs arru & DNA
2457 011504 020001 CMP RO,Rl ' ;COMPARE’EXP VS ACT
2458 011506 001401 BEQ 38’
2459 011510 104003 HLT 3 BIT uxnoou DID NOT MATCH ACTUAL DATA
2460 sBIT,...ALSO CHECK DNR
2461 011512 3s:
2462 011512 005367 167422 DEC SHIFT ;8 OF SHIFTS
2463 011516 001352 BNE 18 :D0 IT AGAIN ?
2464 :NOW POKE CLK TO SEE DNR’
2465 011520 052777 020000 0O061E6 BIS 8CLK, 9TXCSR :POKE CLK
2466 011526 012700 1060000 MOV 100000, RO EXPECTED
| 2462 011532 017701 00&1Sk MOV JTXCSR, Rl *ACTUAL
' 2468 0115836 042701 077777 BIC 877777 R1 :SAVE DNA ONLY
| 2469 011542 020001 CMP RO,R1 :COMPARE EXP VS ACT
2470 OG1I544 001401 BEG 4§’
o471 D11546 104003 HLT 3 -DNR SHOULD B SET
| 2472 IF DNA DID NOT SET
2473 :CHECK WORD LENGTH SELECT LOGIC
2474 D11550 4§:
| 2478 011550 104400 SCOPE
2476 - THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
| 2477 ::OF THE TRANSMITTER SECTION.
2478 s+ 1T ALSO CHECKS DNA TIMING
. 2479 ,,noos SYNINT
| 2480 t LENGTH:EIGHT PLUS PRRITY
. 2481 : tPARITY: ODOPAR
' g:gg ,,cunnncrsa 252
| S48% 011552 012767 000032 167346 TST2h: MOV 826 TSTNO s SAVE ans
2485 011560 012767 011774 167330 MOV s75¥27. NE 70 THIS TEST WHEN THRU
2486 011566 052777 000400 006120 BIS unassef avxcsn :MASTER RESET
2487 011574 012777 030000 006106 MOV 8SYNINT.GPARCSR ;SET THE MODE
; g:gg 011602 0S2777 000400 006104 BIS 8MRESET.JTXCSR :MRSTER RESET
2480 :SET MAINTENANCE MODE 8 SEND
249] -NOTE:BIT WINDOWLCLK ARE CLERRED (MTDATR=0)

2482 011610 012777 004020 006076 MoV #MINT!SEND, 9TXCSR
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DoDUDC.PILl  21-MAY-7& 00:00 SEG 0048
2493
2494 SET MODE,# OF BITS,PARITY SENSE,3 LOAD SYNC REG
2495 011616 012777 037026 0CEO6M MOV #SYNINT! EIGHT'ODbPRR'EB SPARCSR
2486 011624 0167202 008064 MOV TXCSR, R3 :SET UP'FOR ERROR MSG
497 811&30 657*7 Bcuags 006062 MOVB  %252,aTXDBUF  ;LORD oam CHAR
498 011636 012767 000652 167300 MOV cssa TEMPI :T0 BE SHIFTED CHAR
2499 DO11644 012767 00001f 167266 MOV SHIF :3 OF SHIFTS
2500 +POKE CLK TO GET Into SYNCRONIZRTION
2501 011852 052777 020000 006034 BIS #CLK, 3TXCSR : POKE CLK UP
2502 011660 042777 020000 006026 31C 8CLK JTXCSR :POKE CLK OOMWN
2503 011666 005000 1%: CLR RO
2504 011670 006067 167250 ROR TEMP1  ;FORCE CARRY
2505 011674 103002 BCC 2§ :BR IF CARRY CLR
2506 011676 052700 002000 BIS $B8ITW,RO’ -EGUIV GF BITW
2507 011702 23:
2508 011702 0S2777 020000 006004 B1S 8CLK, 3TXCSR :POKE CLK UP
2509 011710 042777 020000 005776 BIC #CLK aTXCSR :POKE CLK DOWN
2510 011716 017701 005772 MOV 3TXCSR n1 ,ncrun
2511 011722 042701 075777 BIC 8075777 R SAVE BITW & DNA
2612 011726 020001 CMP RO,R1 conpnns EXP VS ACT
2513 011730 001401 BEQ 3s’
2518 011732 104003 HLT 3 -BIT WINDOW DID NOT MATCH ACTUAL DATA
2515 :BIT,...ALS0 CHECK DNA
€16 01173y 33:
| 2517 D11734 095367 167200 DEC suxrr .8 OF SHIFTS
2518 011740 00132 BNE :D0 IT AGRIN ?
| 2519 :NOW POKE CLK TO sze DNR’
2520 011742 052777 020000 DOS744 815 sCLK, JTXCSR :POKE CLK
2521l 011750 012700 100000 MOV 100000, R0 s EXPECTED
2552 011754 017701 005734 MOV JTXCSR, A1 : ACTUAL
| 2623 011760 042701 077777 BIC 77777 Rl :GAVE DNA ONLY
| 2524 011764 020001 CMP RO,R1 : COMPARE EXP VS ACT
262 0il7e6 001401 BEQ 4§’
2626 011770 104003 HLT 3 :DNA SHOULD BE SET
2527 :IF DNR DID NOT SET
| 2528 :CHECK WORD LENGTH SELECT LOGIC
2529 011772 4§:
2630 011772 104400 SCOPE
2631 - < THIS TEST VERIFYS CHARARCTER PLUS PARITY GENERATION
. 2632 or THE TRANSMITTER SECTION.
2633 : 11T ALSO CHECKS DNA TIMING
I 2634 nooe SYNINT
2635 ,,LENGTH EIGHT PLUS PARITY
253% s PARITY: EVEPAR
gggg ; ; CHARACTER: 0
. B839 011774 012767 000033 167124 TST27: My $27, TSTNO :SAVE THIS
2590 012002 012767 012216 167106 MOV sTst28, NEYT G0 TO THIS TEST WHEN THRU
264l 012010 052777 00G400 00SE76 BIS sMRESEY, 9TXCSR  ;MASTER RESET
2542 012016 012777 020000 00SE64 MOV #SYNINT, QPARCSR ;SET THE MODE
gg:g 012024 052777 000400 005662 BIS $MRESET QTXCSR :MASTER RESET
2645 :SET MAINTENANCE MODE & SEND
2546 “NOTE:BIT WINDOWBCLK RRE CLEARRED (MTDATA=0)
247 (012032 012777 004020 0OSESY fov SMINT!SEND, 3TXCSR
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2549 :SET MCDE,# OF BITS,PARITY SENSE,3 LORD SNC REG
2550 012040 012777 037426 00SEY2 MOV 8SYNINT?EIGHT!EVEPAR! 26, PARCSR
2551 012046 016703 005642 MOV TXCSR,R3 SET UP FOR ERROR MSG
2552 012052 112777 000000 OOSEMD MOVB %0, 3TXDBUF :L0AD DATA CHAR
2553 012060 012767 0COOCO 167056 MOV 80) TEMP1 :T0 BE SHIFTED CHAR
2554 012066 012767 000011 167044 MOV 3. SHIFT 4 OF SHIFTS
2555 :PCKE CLK 10 GET INtD SYNCRONIZAYION
2556 012074 052777 020000 0OSBl12 BIS #CLK, 3TXCSR :POKE CLK UP
2557 012102 Q42777 020000 005604 BIC #CLK, aTXCSR :POKE CLK DOWN
288 012110 0065000 18: CLR RO
2559 012112 O00B06? 167026 ROR TEMP1  ;FORCE CARRY
2560 O0l211p 103002 BCC 2% :BR IF CARRY CLR
2561 012120 052700 002000 8IS $BITW,RO -EQUIV OF BITH
2562 Gl2iad 28:
2563 012124 052777 020000 005562 BIS #CLK, ATXCSR :POKE CLK UP
2564 012132 042777 020000 005554 BIC sCLK ' @TXCSR : POKE CLK DOMWN
2565 012180 017701 00SSS0 MOV STXCSR,R1 - ACTUAL
2566 012144 042701 075777 BIC 8075777 ,R1 sSAVE BITW & DNA
2567 012150 020001 CMP RO,R1 ' ;COMPRRE’EXP VS ACT
2568 012152 001401 BEQ 33
2569 012154 104003 HLT 3 :BIT WINDOW DID NGT MATCH ACTUAL DATA
2570 :BIT,...ALSO CHECK DNA
2571 012156 33:
2572 012156 ODOS3t7 166756 DEC SHIFT ;8 OF SHIFTS
2573 012162 001352 BNE 18 :00 IT AGAIN ?
2574 :NOW POKE CLK TO SEE DNA
2575 012164 0S2777 020000 005522 B1S 8CLK, 9TXCSR - POKE CLK
2576 012172 012700 100000 MOV 100000, R0 s EXPECTED
2677 012176 017701 00SSie MOV JTXCSR, R1 : RCTUAL
2578 012202 Q42701 077777 BIC 877777 R1 :SAVE DNR ONLY
2679 012206 020001 CMP RO, R1 s COMPARE EXP VS ACT
2580 012210 001421 BEG 4§
2681 012212 104003 HLT 3 -DNA SHOULD BE SET
2582 :IF DNA DID NOT SET
| 9t83 CHECK WORD LENGTH SELECT LOGIC
| 2584 012214 y§:
| 2585 012214 104400 SCOPE
2586 -+ THIS TEST VERIFYS CHRRACTER PLUS PARITY GENERATION
© 2567 :10F THE TRANSMITTER SECTION.
| 2588 1 IT LSO CHECKS DNA TIMING
2c89 s :MODE: SYNINT
2530 2 'LENGTH:EIGHT PLUS PARITY
2591 : :PARITY: ODOPAR
gggg s 1 “tARACTER: O
2694 012216 012767 000024 166702 7TST28: fdv 28, TSTNO :SAVE THIS
2596 (012224 012767 012440 166664 MOV 875123, NEXT -GO TO THIS TEST WHEN THRU
259 0lg232 052777 000400 00SHSH BIS sMRESEY, 9TXCSR  ;MASTER RESET
2597 012240 012777 030050 00SH442 MOV §SYNINT, 9PARCSR ;SET THE MODE
gggg 012246 052777 000400 005440 BIS $MRESET.QTXCSR :MASTER RESET
2690 :SET MAINTENANCE MODE & SEND )
2601 -NOTE:BIT WINDOWSCLK ARE CLEARED (MTDATA=0)
gggg 012254 012777 004020 005432 fov $MINTISEND, 9TXCSR

ce04 +SET MODE,# OF BITS,PARITY SENSE,3 LORD SYNC REG
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2805 012262 09127277
2606 0122;3 016703

2607 012979 112777
2608 012302 012767
g503 012210 Olere?
2611 012316 1052777
612 012324 042777
2613 012332 00SOCQ
2614 012334 00637

34
cblS 012340 103002
cble 01234e 052700

cbi8 (012346 052777

2623 012374 001401
2624 012376 104003

2626 012400
cb27 012400 005367
2528 012404 0013ce

2630 012406 052777
€31 01414 01700
2632 0Olgye0 017701
2633 0lg4a 042701
€34 012430 020001
2635 Ql2432 OOINCL
E35 0I2434 104003

2633 0le43b
eb40 012436 1044C0

012440 012767
012446 012767
b5l 0124cH 052777
01g42 012777
012470 052777

2657 012476 012777

ebb0 012504 Cle2777

91-0CT-T6 09

00:09

037026
00s420
000000
000400
0cootl

020000
020000

166604
002000

020000
020000
005326
075777

166534

020000
100000
£os270
Q77777

000035
012662
000400
030000
000400

004020

037426

00S420

005416
166634
lebb22

005370
005362

005340
00533e

005300

166460
166442
005232
005220
005216

0oc210

005176

LOY

:34 PAGE 53
MOV #SYNINT!EIGHT! ODDPAR! 26, 9FARCSP
MOV TXCSR,R3 SET UP FOR ERFOR MSG
MOVBE 0, aTXDBUF :LOAD DATA CHAR
MOV 0500, TEMPL 170 BE SHIFTED CHAR
MOV 9. SHIFT % OF SHIFTS
:POKE CLK 70 GET INtD SyNCRONIZATION
BIS #CLK, 3TXCSR : POKE CLK UP
BIC #CLK  TXCSR :POKE CLK DOWN
18: CLR RO
ROR TEMP1  ;FORCE CARRY
BCC 2§ :BR IF CARRY CLR
o5 BIS $BITW,RO :EQUIV OF BITW
BIS #CLK, 3TXCSR :POKE CLK UP
BIC #CLK 3TXCSR +POKE CLK DOWN
MOV 3TXCSR,RI AL TUAL
BIC 8075777 Rl +SAVE BITW & DNA
ggg gg,al -COMPARE EXP VS ACT
HLT 3 :BIT WINDOW DID NOT MATCH ACTUAL DATA
2 :BIT,...ALSO CHECK DNA
DEC SHIFT ;% OF SHIFTS
BNE 13 :D0 IT AGAIN ?
:NOW POKE CLK TO SEE DNi
B1S 8CLK, 9TACSR : POKE CLK
MOV 100000, R0 *EXPECTED
MOV JTXCSR, Rl : ACTUAL
BIC 477777 R1 :SAVE DNR ONLY
ggg ﬁg,nx : COMPARE EXP VS ACT
HLT 3 :DNA SHOULD BE SET
:1F DNA DID NOT SET
. :CHECK WORD LENGTH SELECT LOGIC
SCOPE
s THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
::OF THE TRANSMITTER SECTION.
$1T ALSO CHECKS DNA TIMING
¢+ sMODE : SYNINT
: \LENGTH: EIGHT PLUS PARITY
s *PARITY: EVEPAR
s *CHARACTER: 377
15729: fbv 829, TSTNO :SAVE THIS
MOV #7530, NEXT GO TO THIS TEST WHEN THRU
BIS $MRESEY, ITXCSR  ;MASTER RESET
MOV $SYNINT, QPARCSR :SET THE MODE
BIS $MRESET,9TXCSR ;MASTER RESET
:SET MAINTENANCE MODE 8 SEND
-NOTE:BIT WINDOWSCLK RRE CLERRED (MTDATA=0)
Hov $MINTISEND, dTXCSR
:SET MODE,# OF BITS,PARITY SENSE,8 LOAD SYNC REG
MOV 8SYNINTIEIGHT!EVEPAR' 26, JPARCSR

SEC 00S0




D2CUD-C MRCY11 27(1G0S)
D<DUDC.PLL

2861 012512 016703
2662 012516 112777
2663 012524 012767
2664 012832 012767

2666 012540 052777
2667 012546 042777
2668 012554 00S000

2675 012604 017701
2676 012610 042701
2677 012614 020001
2678 012616 " 001401
2679 012620 ' 104003
2680 _
2581 012622
2682 012622 005387
2683 012626 001352
2684

\ 2685 012630 052777

2685 Di2636 012700
| 2687 Q12642 017701
| 2688 012646 042701
. 2689 0I2eS2 (020001
3¢90 012654 001401
+ 2691 012656 104003

2634 012660
2635 01260 104400

e704 0l2662 012767
2705 012670 012767
2706 0lee76 052777
2707 012704 012777
2708 012712 052777

e7le 012720 012777

2715 0le726 012777
2716 012734 016703

MOY

2i-0CT-T6 09:34 PAGE SY

21-MAy-76 00:00

005176
000377
000377
000011

020000
020C00

166362
002000

020000
020000
00S104
Q75777

leb3le

02C0C0
100000
00S046
gr7777

000036
013104
000400
030000
000400

004020

037026
004754

00S0S6

166236
166220
005010
004776
004774

004766

004754

MOV TXCSR,R3 :SET UP FOR ERROR MSG
MOVB  #377,4dTXDBUF  :LCRD DATA CHAR
MOV 2377’ TEMPL !T0 BE SHIFTED CHAR
MOV 23, SHIFT % OF SHIFTS

:POKE CLK 70 GET iNY0 SyncrRONIZAtION
BIS #CLK, aTXCSR : POKE CLK UP

8IC #CLK,aTXCSR ; POKE CLK DOWN
1%: CLR RO
RIR TEMPL  ;FORCE CRRRY

BCC e ;BR IF CARRY CLR

BIS ¥BITW,RO ;EQUIV OF BITW

cs:

8IS #CLK, 3TXCSR :POKE CLK UP

BIC #CLK aTXCSR :POKE CLK DOWN

MOV JTXCSR,R1 s ACTUAL

BIC 8075777 ,R1 :SAVE BITW & DNA

ggg gg,n1 - COMPARE "EXP VS ACT

HLT 3 «BIT WINDOW DID NOT MATCH ACTUAL DATR
- :BIT,...ALSO CHECK DNA

DEC SHIFT ;8 OF SHIFTS

BNE 1§ :D0 IT AGRIN ?
sNOW PCKE CLK TO SEE DNA

BIS #CLK, 3TXCSR s POKE CLK

MOV #100000, RO *EXPECTED

MOV ITXCSR, R1 : ACTUAL

BIC 877777 R1 s SAVE DNA ONLY

EES 5g,91 s COMPARE EXP VS ACT
HLT 3 :DNA SHOULD BE SET
*IF DNA DID NOT SET
. s CHECK WORD LENGTH SELECT LOGIC
) SCOPE

s s THIS TEST VERIFYS CHARACTER PLUS PARITY GENERATION
1:0F THE TRANSMITTER SECTION,

3 IT ALSO CHECKS DNA TIMING

: s MODE : SYNINT

s sLENGTH:EIGHT PLUS PARITY

s s PARITY: ODDPAR

+ s CHARACTER: 377

15T30: fdv #30, TSTNO sSAVE THIS
MOV 8. EOP,NEXT G0 TO THIS TEST WHEN THRU

BIS sMRESET, 9TXCSR  ;MASTER AESET

MOV $SYNINT,@PARCSR ;SET THE MODE

BIS 8MRESET QTXCSR ;NASTER RESET

:SET MAINTENANCE MODE & SEND
NOTE:BIT WINDOWSCLK ARE CLERRED (MTDATA=D)
fov $MINT!SEND, 9TXCSR

:SET MODE,# OF BITS,PARITY SENSE,8 LOAD SYNC REG
MOV sSYNINT'EIGHT ! 00OPAR! 26, IPARCSR
MOV TXCSR, R3 :SET UP'FOR ERROR MSG

SEG 00S1




0.CUD-C MRCY1! 27(1006)
DZDUDC.P1l 2l-MRY-76

er17 012740 112777
2718 012746 012767
719 012754 012767

781 012762 052777
2re2 012770 042777
2723 012776 095000
c7ed 013000 006O06?
cr25 013004 103002

226 013006 052700
2727 013012
er28 013012 052777
2725 013020 042777
2730 013026 017701
2731 013032 042701
2732 013036 020001
2733 013040 00I401
2734 013042 104003
2735
2736 013044
2737 (012044 005367
2733 013050 01352
2740 013052 052777
| 2741 013060 012700
274% 013084 017701
2743 013070 042701
| 2744 013074 020001
2745 013076 00140}
2746 013100 104003
747
| E74B

2
2 104400

NO4

gi=0CT-76 08:34 PAGE S5
00:03

000377 004752 MOVB  #377,3TXDBUF  :LORD DATA CHAR
060777 166170 nov 0777 TEMPI :TO 3E SHIFTED CHAR
000011 166156 SHIF % OF SHIFTS
- POKE CLK TO GET INTo svncnonlzntlow
020000 004724 BIS #CLK, 3TXCSR : POKE CLK UP
020000 004716 s ?Eﬁ agLK ' 3TXCSR :POKE CLK DOWN
166140 ROR TEMPL  ;FORCE CARRY
BC 23 :BR IF CARRY CLR
002000 g BiS $B8ITW,RO’ -EQUIV OF BITU
020000 004674 BIS 8CLK, 3TXCSR sPOKE CLK UP
020000 0J46Eb 8IC #CLK aTXCSR : POKE CLK DOWN
004662 MOV JTXCSR, R1 : RCTUAL
075777 BIC 8075777, R1 :SAVE BITW & DNA
ggg gg Rl ';COMPARE’EXP VS ACT
HLT 3 :BIT WINDOW DID NOT MATCH RCTUAL DATA
- :BIT,...ALSO CHECK DNA
166070 DEC SHIFT ;8 OF SHIFTS
BNE 18 :D0 IT AGAIN ?
:NOW POKE CLK TO SEE DNR’
020000 004634 BIS #CLK, QTXCSR :PCKE CLK
100000 MOV 100000, RO sEXPECTED
004624 MOV JTXCSR, R1 * ACTUAL
077777 BIC 877777 .R1 SSAVE DNA CNLY
ggz Rg ,R1 :COMPARE EX® VS ACT

HLT 3 ;ONR SHOULD BE SET
:IF_DNA DID NOT SET
s CHECK WORD LENGTH SELECT LOGIC

SEQ OS2
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BRRE JEL 2R

BOS

21-037-T6 09:3¢ PRIE 5B
5:29 SEG J0S3
:END OF PARSS
:TYPE NAME OF TEST
{UFDATE PASS COUNT
TCHECK FCR EXIT TO RCT-11
:RESTART TEST
JECP: TYPE + TYPE NAME OF TEST
MEPASS
013342 CONVRT , OUTCRY
015767 TYPE DEVICE
166058 1ST8  fUCTD ARE YOU RUNNING MULTIPLE CEVICES °
8EQ ¢Ce s N JUMP ARCUND
166084 757 ACTREG :ARE ANY CEVICES RCTIVE ?
ENE RUNIT : YES
016001 TYPE MCOW ‘NG
166052 MOV ACTREG, R :DISPLAY ACTREG
HALT :SELECT SOMETHING TO k.N & RCTREG:
\SELECT SWITCHES 3 HIT CONTINUE LPUT SWOD =1)
166106 Yup .START :START OVER AGAIN...... YOU DESELECTED EVERYTHING
000010 166024 RLNIT: RDD #10, BASEADD *NEXT BLOCK (RDCRESSES)
000010 166084 ZERC: ?EE 810 BASEIV :NEXT BLOCK (VECTORS)
166024 ROL ROTADD :UP DATE ROTATING POINTER
BCS 3 15 IT THE LARST DEVICE
10 BE TESTED IN THIS PARSS ?
166016 166012 BIT ROTRDD, RCTREG :TEST THIS DEVICE FOR ACTIVE STATUS
BEQ RUNIT :1F NOT ACTIVE, TRY NEXT ADDRESS
00003 JSR PC, REPLAY : CALCULATE MNtld’ PRRAMETERS
000174 i IMP RESTRT :YES IT WAS ACTIVE,TEST 1HIS DEVICE
000C0! 165774 Z2§: MOV ¢1,ROTADD :0K? NOW SET UP ROTATING
:POINTER FOR NEXT MULTIPLE PASS
165756 165752 MOV KEEPRDD, BRSERDD :RESTORE BRSE RDDRESS i
165756 1865752 MOV KEEPIV, BASEIV :RESTORE BRSE INTERRUPT VESTORS
000002 JSR PG, REPLAY :CALC NEW PARAMETERS
BR ccl : JUMP AROUND REPLAY
165732 CO4126 REPLAY: MOV BASEADD, DUBASE :GET UP FOR NEW ADDRESSES
003770 ISR PC DURDDR :CREATE NEW ADDRESSES
165726 024436 MOV BASEIV DURIV :CRERTE DURIV
000002 165716 ADD  82,BASEIV
166712 004424 MOV BARSEIV.DURIS :CRERTE DURIS
000002 1£5702 ADD 82, BASEIV
165676 OON41P MGV BARSEIV, DUTIV - CREATE DUTIV
000002 165666 ADD 82, BASEIV
165662 004400 MOV BaASEIV. DUTIS :CREATE DUTIS
004366 1E56S2 MOV DURIV,8RSEIV : RESTORE
RTS PC
GUTCRY: |
002 .BYTE 8,2
RXCSR
ccC: '
165560 CLR LSTERR :CLEAR LAST ERROR PC
1ESENY CLR ERRFLG :CLEAR ERROR FLAG
165544 INC PASCNT » +UPDRTE PASS COUNT




cocu=C MACYLL 27010063 J1-QCT-T6 09:34 PRASE 57 '
DZDUDC.PL1  21-MRY-?6 00:00 SEG 00SY

2807 013364 016777 165540 185510 MOV . PRSONT, SLIGHTS :DISPLAY PRSS COUNT
2808 013372 013701 000042 MOV 2u42.R| :CHECK FOR ACT-1]1 JR DOP
209 DI337h 0OINOS BEQ Resrhr *1F NOT, CONTINUE TESTING
z310 013400 00090S RESET
2811 013402 004711 LOGICAL: ISR PC, (P1)
2812 O13d0N 000240 NOP
2813 013406 030240 NOP
2814 O0I3MI0 000240 _ NOP
28.5 013412 2:2767 000340 164356 RESTRT: MOV 8340, PS ;PREVENT INTERRUFTS (PRIO:
2816 01w20 104413 CKSWR :CHECK FOR 16
2817 0I13N22 012767 0C2350 165484 MOV 87ST1,RTRN
gglg 013430 000;67 166714 INP TSTL
235? :SCOPE LOOP AND INTERATION HANDLER
2822 DI™N .SCOPE:
2823 ;#0222 START OF CODE FOR THE X OR TESTER Raasas
2824 O13M3N  D0O4M BR 4s -IF RUNNING ON THE X OR TESTER CHANGE
2825 :THIS INSTRUCTION TO A “NOP* (NOP=240)
2826 DIXN® 01374 000004 MOV ae4,-(SP) :SAVE CONTENTS or ERROR VECTOR
2827 013ww2 012737 013462 COOOCH MOV 818 Jsh :SET FOR TIME O
2828 0IvS0 00S737 1727060 157 38177060 :TIME QUT ON xon ?
2829 0I1d54 012637 0000ON MOV (SP)+,a84 RESTORE ERROR VECTOR
2830 013460 DOO4DM BR 23 GO TO NEXT TEST
2831 QI346e 022626 18: cMP (SP)+, (5P)+ :CLEAR THE STACK AFTER A TIMEGUT
2832 013v6N 012637 00COCM MOV (SP)+. a8y :RESTORE ERROR VE-TOR
2833 0IN70 000MI3 A BR K} :LOOP ON PRESENT TEST
2834 DIN7e 016767 165420 16SHI4 28: MOV NEXT,RTRN :SET UP NEXT TEST IN RTRN
28X 01300 01676 165410 33: ﬂov RTRN, (SP) :SET UP STRCK FOR RTI
2% 013504 0000C2 RTI
2837 013506 NS -x4e% END OF CODE FCR THE X OR TESTER #¥a##
2838 013506 104413 éx :CHECK FOR ¢G
2839 013610 032777 0840000 165362 #SW1Y4, JSKR :LOOP ON CURRENT TEST 2
2840 01316 001407 T1S7: esc 1§
2841 013620 000432 BR K} ]
2842 013622 105777 165356 TSTB  &TKCSR :TEST TTY FLAG
2843 013526 100027 BPL 38
2844 013530 017700 165352 MoV aTKDBR, RO :CLR DONE BIT
2845 01X3MN 000412 BR 2$ “IF A TTY KEY IS STRUCK GO TO NEXT TST
284 01X3% 004000 165334 1S: BIT 83411, ISWR : INHIBIT ITERATIONS ?
2847 013544 001006 BNE 28
2848 01334 00SeH7 165352 INC LPCNT
2849 013552 026767 !BS346 16S342 CHP LPCNT, ICOUNT :CHECK FOR ITERATIC CNT FINISH
2650 01360 101412 _ BLOS 3%
2861 013562 105067 1%543% 2s: CLRB  ERRFLG
2962 013366 005067 165332 CLR LPCNT
2853 01372 012767 00000S 165322 MOV 85, ICOUNT SET UP ITERATION SOUNT
2654 013600 016767 165312 165306 MOV NEXT, RTRN :SET UP NEXT TEST IN RYRN
2855 01306 016716 165302 3s: MOV RTRN, (SP) :SET UP STACK FOR RTI
2856 013612 RTI
2057 013614 001407 BRU: 1407 :RESTORE “BEQ 13" INSTRUCTION
gggg 013616 000432 BRX: 432 :RESTORE “BR 3% INSTRLCTION
5329 :CHECK FOR FREEZE ON CURRENT DATA
r's
2862 013620 10413 .SCOP1: CKSWR :CHECK FOR 1G




‘ ) DOS
CoDUD-C MRCYLL 27u1026) J1-0CT-"b 09:34 PAGE S8
DDJDC.PL1L 21-MAY-76 00:09 SEG £0SS
2863 013622 032777 001000 168250 BiT #SW09, 3SR
2864 012630 001402 BEOQ 13
2865 013632 016716 165262 MOV LOCK, (SP)
gggg 013636 000002 18: RTI
(
gggg - TELETYPE OUTPUT ROUTINE
2870 01%M40 010546 JTYPE: MOV RS, -(SP)
2871 013642 017605 000002 MOV 321SP), RS
2872 013646 062766 000002 (0CCOC2 Q00 282,2(5P)
2873 013654 105715 18: 7518 (R&) :LOOK FOR 0"
2874 oxgggg 0014 BEQ 3
2875 01 105 165224 28: TST8  3TPCSR - TEST DONE BIT
2876 013664 100275 BPL 2$
2877 DI36bb 112577 185220 MOVB  (RS)+,3:PDBR : TYPE CHAR
2878 013672 000770 BR 18 :DC IT AGRIN UNTIL "0 1S SEEN
| 2879 013674 012605 33: MOV (SP)+,RS
ggg? 013676 000002 RTI
gggg :ASCII STRING INPUT ROUTINE
2884 013700 010346 .INSTR: MOV R3,-(SP)
2886 013702 DIO446 MOV R4’ -15P)
2886 U1I70M 017667 000004 000010 MOV a4lspy, .MsG
| 2887 013712 0e2766 000002 00000M ROD 82, 4(SP)
2888 013720 .CwM02 .INST1: TYPE
, 2889 013722 000000 JMSG: 0
2890 013724 012704 017034 MOV 8INBUF , RY4
2891 013730 012703 000007 MOV $7.R3
2892 DI13734 105777 1BSIW 18: TSTB  @TKCSR
2893 013740 10037% BAL 18
v P94 S13742 117714 165140 MOVB  STKDER, (RY)
2895 D13746 142714 000200 8ICB 8200, (RY)
289 013752 121427 000025 CMPB  (R4), 825 15 IT
2897 013756 001003 BNE 2008
2838 013760 104402 016156 TYPE, MCRLF
2899 013764 000755 . BR .INST1
2900 013766 122427 0000iS 2008: CHMPB  (R4)+, 815
2971 013772 001423 BEQ INSTRA
2302 013774 117777 165106 165110 MOVEB  3TKDBR,3JTPDBR
2903 014002 105777 1&5102 2s: TSTB  QTPCSR
294 014006 100375 BPL 2$
2305 014010 00S303 DEC R3
906 014012 001350 BNE 1$
2907 014014 000402 BR _INSTG
2908 O14016 010346 .INSTE: MOV R3,-(SP)
2909 014020 010446 MOV R4, -(5P)
2910 014022 IC 12 .INSTG: TYPE
2911 01404 DiolS2 MQN
2912 014026 005737 015314 157 J¥RDSW
2913 014032 001402 BEQ 400§
29'4 DIM03N  10N402 016156 TYPE, MCRLF
2815 0IN0N0 000727 4008: BR . INST]
2916 014042 012604 INSTR2: MOV (SP)+,RY
2617 OI4044 012603 MOV (SP)+.R3
29.8 014046 000002 RTI
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i=Q27-76 09:34 PRGE 59

;CONVERT RSCII STRING T0 OCTAL

.PARAM: MOV RS, = (SP)
MOV R4’ -(SP)
MOV 4(8P),RS
MOV (RS)+ LOLIM
MOV (R5)+ HILIM
MOV (RS)+.DEVADR
MOVB  (RS)+.LOBITS
MOVB  (RS5)+ ADRCNT
MOV RS, 4(5P)

PARAM1: CLR RS

MOV s INBUF, RY

CMPB  #i5, (R%)

BEQ PARERR
18: CMP8  (R4),880
BLT PARERR
CMPB (RY), 867
BGT PARERR

BEQ LImtts
ASL RS
ASL RS
=5
PARERR: ggza 258*(R41 : IS FIRST CHARACTER A <CR»
1T SSROSK .15 CKSWR ROUTINE BEING USED
BNE PARTI
1208:  INSTER
BR PARAM]
:TEST TO SEE IF NUMBER IS WITHIN LIMITS
LIMITS: CMP RS, HILIM
Bl POREMR
PARERR

BLO

BITB  LOBITS,RS

BNE PARERR

; STORE NUMBER AT SPECIFIED RDDRESS
MOV DEVADR R4

18: MOV RS, (R4)+
ADD 82,RS
DECB  ADRCNT
BNE 18

PARTI: MOV (SP)+,RY
MOV (SP)+ RS
RTI

LOLIM: O

HILIM: O

SEG 00Sk




297%
f

58

R
OO NTNEWNN—DO

3022

HRRR

DIDUD-C MACY11_2T¢1006
DZDUDC.PLL

al'?‘!ﬂ\'-:

014260 000000
Ol4e62 (Q000CO
014263

014264 ODl6GE?

Bly272 010567
014276 0

014302 010367
014306 010267
Ql4312 010167
014316 010067
014322 000002

014324 016700
014330 016701
014334 O0le702
014340 016703
0l43¥4 016704

014350 016705
014354 000002
014356 104402
014360 016156
0i436e 010046
014364 010146
014366 010346
014370 010446
014372 010546
014374 017601
014400 016767
014406 062766

014414 012167
Cl4420 112167
Ol44ed 112167
0i4430 013167
Oi4434 016704
Ol14440 116705
Q14444 012700
014450 010403
Oi44S2 (42703
Qlu4S6 062703
014462
014464 006204
0l446b 042704
0l4472 006204
Di4474 (006204
Cl<4476 005305

FOS

) Ji=0CT-"b (08:34 PRGE &0
& 00:03

DEVRDR: 0O
LCBITS: O
RDRCNT=L0B. TS+!1

:SAVE PC OF TEST THAT FAILED AND RO-RS

000COY 164702 .SAVOS: MOV H4(SP1,SAVPC

; CONVERT QCTAL NUMBER TO ASCII AND OUTPUT TO TELEPRINTER

: SAVE RO-RS
164672 Sv05: MOV RS, SAVRS
164664 MOV R4, SAVRY
164656 MOV R3, SAVR3
164650 MOV R2, SAVR2
164642 MOV RI.SAVRI
164634 MOV RO SAVRD
RTI
-RESTORE RO-RS
164626 .RESCS: MOV SAVRO, RO
164624 MOV SAVR1 . R1
164622 MOV SAVR2 R2
164620 MOV SAVR3.R3
164616 MOV SAVRY, R4
164614 MOV SAVRS RS
RTI
.CONVR: TYPE
MCRLF
.CNVRT: MOV RO, - (SP)
MOV R1,-(SP)
MOV R3,-(5P)
MOV RY, -(SP)
MOV RS’ -(5P)
000012 MOV 312(SP), Rl
002470 164542 MOV TEMP, TEMP3
000002 000012 ADD 82, 12(SP)
000154 MOV (R} )+, WRDCNT
000152 18: MOVB  (R1)+ CHRCNT
000147 MOVE  (R1)+.SPACNT
00. .44 MOV 3(R1)4, BINWRD
000140 28: MOV BINWRD, R4
000132 MOVB  CHRCNT.RS
017074 MOV 8TEMP, RO
38: MOV RY,R3
177770 BIC 8177720,R3
000060 ADD 8060, R3
MOVB  R3,(RD)+
ASR R4
100000 BIC 3100000, R4
ASR RY
ASR RY
DEC RS

;SHIFT FOR NEXT &
‘8%¥9E TO STOP BIT 1S PROPRGRTING.

:0ITT0

SEQ 00S7




> e ——— —— —

4 -C_MRCY11 27100
SbUBcpl ;

3031

014500
014502
014506
014510
OI4S14
014516

2o00opeRLoen
£ P -
AL

EI-H Y=y

Q17134
000062
0000SS

000040
000043

0ooC24
164372

000000
0001186

000131

122777
000002

000002
000000

177001
001226
0C0000

002314

002220

002204

) SI-SCT-TB 09:34 PRGE b1
6 00:0

BNE
MOV
43: MOVB
DECB
BNE
TSTB
8EQ
Ss8: MOVB
CECB
BNE
bs: CLRB
TYPE
MDRTA
DEC
BNE
MOV
MOV
MOV
MOV
MOV
MOV
RTI
WRDCNT: D
CHRCNT: C
SPACNT=CHRCNT+!
BINWRD: O

GOS

33
sMDATA,R3
-(RO), IR3)+
cHRONT

4§

SPACNT

63

8040, (R3)+
SPACAT

S§
(RI)

TRDCNT

;COMPRRE THE FIRST CHARACTER IN THE TELETYPE INPUT
;BUFFER TO THE CHARACTERS "N" RAND "Y*.
; IF THE CHARACTER IS “N” CLEAR THE FLAG

:IF THE CHARACTER I8 Y= SET THE FLAG
.SETFLG: MOV 3(SP),RS
CMPB  #'N, INBUF 16 IT =N* *
BNE 1$
CLRB  (RS) ;000
BR 28
18 CMPB  8'Y, INBUF IS IT =y~ *
BNE 3s
MOVB  8-1, (RS) 1377
2s: 2?? 82, {SP)
3s: INSTER :RETRY
BR .SETFLG

- TRAP DISPATCH SERVICE

! ARGUMENT OF TRAP IS EXTRACTED

!AND USED RS OFFSET TO OBTAIN POINTER
:70 SELECTED SUBROUTINE

. TRPSR: MOV
Sus
MOV
TRPOK: RSL
BIC
ROD
MOV

(SP), ~(SP) :GET PC OF RETURN
82, (5P) :=PC OF TRAP
3(5P), (SP) :GET_TRP

(SP) MULTIFLY TRAF ARG BY 2
8177001, (SP) :CLEAR LUNWANTED BITS
8. TRPTAB, (SP) :POINTER TO SUBROUTINE ADORESS
3(SP), (SP) :SUBROUTINE ADDRESS

cgs

- W

gles




HOS

DUD-C MACY1l 27(1008) 21-0CT-T6 09:34 PAGE 62
DZDUDC.PI1 2I-MAY-75 03:09 SEG 0059

gggg 014700 000136 IMP A(SP)+ : G0 TO SUBROUTINE

gggg -ERROR HANDLER

309: 014702 104413 JHLT:  CKSKR :CHECK FOR $G

3083 014704 032777 020000 164166 BIT $SW13, ISKR : INHIBIT ERRCR TYPE OUT ?

3033 0i4712 07106l BNE HALTS

3094 OIN7IN 021667 164214 cHP (SP),LSTERR

3035 014720 OO14CH BEQ 18

3096 Ol4722 0I1667 164206 MOV (SP),LSTERR

3097 0I4726 105067 le4272 CLRB  ERRF(LG

3038 018732 1049406 18: SAVOS

3099 0147 011608 MOV (SP).RS

3100 Gl473% 162705 000002 SUB 82, RS

3101 0i4742 011504 MOV (RS),RY

3102 018749 006304 ASL RY

3163 O0l474% DBISOM ADD (RS), R4

3104 014750 0063M ASL RY

3105 Ol47S2 ON2704 177001 BIC 177001, R4

3106 014756 062704 017650 ADD 8.ERRTAB, Ry

3107 0l4762 012467 000040 MOV (RY)+, ERRMSG

3108 DI4766 012467 000046 MOV (R4)+ DRTAHD

3109 014772 OiI467 0O0OSH MOV (R4), DATABP

3110 014776 10S7€7 164222 TSTB  ERRFLG

3111 015002 001403 BEQ TYPMSG

3112 015004 0O0S767 00002 ST DATABP

3113 015010 0O010!d BNE TYPDRT

3114 015012 104410 TYPMSG: CONVRT

3115 0150!14 O0I5144 ERTABO

3116 015016 112767 177777 164200 MOVE  8-1,ERRFLG

3117 015024 104402 TYPE

3118 015026 000000 ERRMSG: 0

3119 015030 005767 000304 75T DATAHD

3120 015034 001402 BEQ TYPDAT

3121 015036 104402 TYPE

3122 015040 DATAHD: 0

2123 015042 005767 000OCH TYPDAT: TST DATABP

3124 015046 001402 BEQ RESREG

3126 015050 104410 CONVRT

3126 015052 DATABP: 0

3127 015054 104407 RESREG: RESOS

3128 015056 005777 164016 HALTS: TST JSUR

3129 015062 100005 BPL EXITER

3120 010y (015046 PUSHRO

3131 015066 016600 000002 MOV 2(SP),RO

3132 0158072 GOGONO HALT

3133 015074 012600 POPRO

3134 015076 104413 EXITER: CKSWR :CHECK FOR 16

3135 0I5100 005267 164026 INC ERRCNT

3136 015104 032777 000400 163766 BIT 5138, ISKR :LOOP ON ERROR ?

3137 016112 001007 BNE 1§ "

3138 0iS114 032777 002000 163756 BIT #SW10, wSKR :ESCAPE TO NEXT ON ERROR ?

3139 015122 001407 BEQ 28

3140 015124 016767 163766 163762 MOV NEXT,RTRN :SET UP FOR NEXT TEST

3141 016132 012706 001100 18: MOV 8STALK, SP REINITIRLIZE SP

2142 015136 000177 163752 JMP JRTRN

- -t e m—



105

CoDUD-C MRCYLL 27(10068) Ji1-0CT-T6 09:34 PAGE &3

DZDUDC.P1l  2l-MAY-7& 00:00 SEQ 000
3143 015142 000002 2% R(I
3144 015144 000001 ERTABO: 1
3145 015146 006 002 .BYTE &,2
3146 015150 001174 SAVPC
3147 ENTER HERE ON POWER FRILURE
314
310 015152 01004 .PFAIL: MOV RO, -(SP) :SAVE RO-RS oiv PROCESSOR STACK
3151 0l5154 QiD0146 MOV RL.-(SP)
3182 015156 0!0246 MOV R2,-(5P)
3153 015160 010346 MOV R3.-(SP)
254 015162 010446 MOV R4, -(SP)
3155 015164 010546 A MOV RS, -(SP)
3156 015166 016746 162632 MOV 24’ -(5P)
3157 015172 010667 16377 MOV SP’ SAVSP :SAVE STACK POINTER
3168 016176 012767 015210 162620 MOV sRESTART, 24 :SET UP FOR POWER UP TRAP
3159 015204 000000 HALT HALT ON POWER DOWN NORMAL
g%g? 015206 000777 1§: BR 18
gigg :PROCESSOR WILL TRAP HERE WHEN POWER IS RESTORED
3164 015210 016706 163756 RESTAR: MOV SAVSP, SP :RESTORE STACK POINTER
3165 018214 012605 MOV (SP3+.RS :RESTORE RO-RS
3166 015316 012604 MOV (5P)+.RY
3167 01520 012603 MOV (SP)+.R3
3168 018222 0leo602 MOV (SP)+ R2
3169 015224 012601 MOV (5P)+.R]
3170 01226 012600 MOV (5P)+ RO
3171 015230 012767 015152 162566 MOV s.PFAIL, 24 :SET UP FOR POWER FAILURE
3172 015236 012767 000340 1£2532 MOV 8340, PS
3173 015244 012706 001100 MOV sSTRCK; 5P
3174 015250 0OSNE? 001620 CLR TEMP
3175 015254 005267 001614 18: INC TEMP
3176 015260 001375 BNE 13
3177 015262 104410 CONVRT
3178 015264 015306 PFTAB
2179 015266 104402 TYP
3189 015270 016161 MPFAIL
3181 015272 67 163726 CLR ERRFLG
3182 015276 005067 163632 CLR LSTERR
3183 015302 000177 163606 INP SRTRN
3184 015306 000001 PFTRB: 1
3165 015310 006 002 .BYTE 6,2
3186 015312 O0D11IM RTRN
3158
3189 :CHECK SWITCH REGISTER ROUTINE. CHECKS FOR G TO ALLOW CHANGING
219) :OF LOC.176.
318} :LOCATIONS USED:
3192 015314 000000 AOSW: .WORD O
e
3195 015316 005737 00004 .CKSWR: TST 42
3196 015322 001042 BNE ouT
2187 015324 022767 000176 163546 CMP #SWREG, SWR sSOFTWARE SWITCH REGISTER PRESENT
3198 015332 001036 BNE ouT :NO, GET oUT :
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3

015334
015340
015342

5532
5S40

Pt Pt Pt s Pt ot Pt Pt Bt Pt Pt Pt Pt Pt Pt P Prma Pt Pt Pe
N

qinngn
RENTHE

16714
15722

OOoO0O0000000000000000000000000 OO0

CcOUD-C MACYLL 27(1006)
DZDUDC.P1!

105777
100033
017767
Q42767
182767
001021
104402

005015
042040
035105

JO5

Ji-0CT-T6 09:34 PAGE B4

el-MAY-76 00:09

163544
163540

+7600
0C000?

015444

G4eSe2

0G0
0Slile?

0S350S

030525
052504
040524
006440

052103
Q42104
0000SS

026523

042522
051040
Q43S16

- 044524

042504
020123
047440
0000SS
0seles
041511
042503

1578 JTKCSR
BPL ouT

: /ES, WAIT FOR

tREADY, GET CHARACTER
:AND SYRIP OFF

: THE GARBAGE

'IS IT A <46

.RSCIZ («15>¢12>/]1ST DEVICE: RECEIVER CONTROL REGISTER ADDRESS-/

.RSCIZ <«15><12>/ARE YOU RUNNING MULTIPLE OeVICES ? (Y OR N)-/

MOV JTKDBR, . MSG
BIC 8177600, . MSG
CMPB  #7,.MSG
BNE out
TYPE, SCNTG
LCNTLU: COM J4RDSW
TYPE, SMSLR
CNVRY, SUREGC
INSTR, EMNEW
gnann
177777
SWREG
.BYTE 0,1
TYPE, MCRLF
OuT:  CLR J#RDSH
RTI
SWREGC: 1
BYTE  B,2
SUREG
§CNTG: .ASCIZ (15°¢<12)/1G/
§MSWR: .ASCIZ <¢15)¢12>/SWR= /
SMNEW: .ARSCIZ 7 NEU= 7/
.EVEN
MTITLE: .ASCIZ <15>¢12><12>/DUll DZDUD-C TRPE D /<15>¢12>
MVECTO: .ASCIZ <¢15>¢12>/VECTOR ADDRESS-/
MREGRD:
MMULT:
MLASTD:

.RSCIZ (15>¢(12>/LAST DEVICE:RECEIVER CONTROL REGISTER ARDDRESS-/

SEQ 0061




3255
325k
3257
3258
3259

60

32

3261
3262
3263
3264
3265

015730
015736
015744
015752
015760
015766
015767
015774
016001
016006
016014
016022
016030
016036

3
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0oOUD-C NMRCY11 27(1006)
D20UDC.PLL

053111
047117
051040
Q4asa4
051104

046105
00s015

Ji-0CT-T6 09:34 PAGE &5
21-MAY-76 00:09

051105
CS1124
043505
0201c2
051805

Q42504
020040
g44012
053517
047127
020077
Q46105
Q4?7523
047111
051040
041501

000
Q47412
020106
035105
042520
020124
Q42503
051123
O4eSee

000077

000
050040
g43040
Q42522

0000SS
020043

0Slied

052125
040522
Q42522
Q46040
042504
051040
040440
051523

053517
044501
020054
040522
052123
052101
020124
C47522
000123
020104
051501
042520

000
051505
0000SS
045503
042523
042105
037524
051117

000
02012S
Q44522
053105

043117

DEVICE:

MCOU:

MRRNGE :

MGM:
MCRLF:

MPFARIL:

MEPASS:

MR:

MTSTPC:

MLOCK:

MLEVEL:

MSYNC:

.ASCIZ
.ASCIZ

.RSCIZ

.RSCIZ
.RSCIZ
.RSCIZ

.RSCIZ

.ASCIZ
.RSCIZ

.RSCIZ

.ASCIZ

.ASCIZ

KOS

/=DEVICE 7
«15>¢12>7HOW NOW BROWN COW? ...SELECT SOMETHING TO RUN ZRCTREG/

<15>¢12>/0UT OF RANGE:RETYPE LAST DEVICE RXCSR ARDDRESS-/

/7 Y
SX<le
/ POWER FAILURE, PROGRAM RESTART AT TEST IN PROGRESS/

<15><12>/END OF PRSS TAPE D/

(18)¢12>/R/
1Sy ¢12>/TEST PC~/

<15)¢12>/L0CK ON SELECTED TEST? (Y OR N)-/

<15><12>/0U PRIORITY LEVEL-/

«15><¢12>7# OF SYNC CHARS SELECTED ( 1 OR 2)-~

SEQ 0062




r- —_

D=DUD-C MACYI! 27(1038) 0i-0CT-Tb 09:34 PASE bb
DOUDC.P1l  2I-MAY-T& 00:03 SEC 0083
3311 OIE410 OS1440 047131 020103
3312 0lE4l6 094103 051101 020123
3313 0lE¥24 Q42593 0942514 052103
3314 016432 Q42105 024040 030440
3315 0IE440 Q47440 020122 Ga4462
3316 Dl16446 000055
3317 016450 005015 051511 051440 MWIREG: .ASCIZ <155>¢12>/18 SEC XMIT JUMPER %6 IN? (Y OR N)=-/
3318 0I6456 041505 Q054040 OW451S
33139 016464 0201e4 052512 050116
3320 016472 051105 021440 02006k
3321 016500 047111 020077 054450
3392 016506 047440 020122 024516
3323 D16514 0ODOSS
3324 016516 O0OSCI5S 051511 051440 MWIRES: .ASCIZ «15)¢12)/1S SEC REC JUMPER 85 IN? (Y OR N)-/
3395 016524 041505 051040 041505
3326 016532 [M5040 D4ES2S 042820
3327 016540 020122 032943 044440
3328 016546 037516 024040 020131
3329 016554 051117 047040 026451
3330 0ieSke 000
3331 016563 015 044412 020123 MWIREY: .ASCIZ <15>¢12>/1S OPT CLR ENRBLE JUMPER #4 IN? (Y OR N)-/
016570 050117 020124 046103

3333 016576 020122 047105 041101
3334 016604 042514 045040 O46525
3335 DI6El2 (42520 020122 032043
333 016620 044440 037516 024040

| 3337 016626 020131 051117 047040
3338 016634 026451 _ 000
3339 016637 __ 0I5 040412 042522 MEXTI: .ASCII <15><12>/ARE YOU RUNNING IN MAINT MODE EXTERNAL?/
3340 DIEEWY 0S444Q 052517 (OSI04O
334] 016652 047125 094516 043516
3242 016660 044440 020116 04051S
3343 0ibbee 047111 020124 047515
3344 016674 042504 042440 052130
3345 016702 051105 040516 037514
3346 016710 005015 OQ4OWOl 042116 LRSCII  (1SX<12>¢)/AND ..... DO YOU HAVE THE EXTERNAL MODEM BYPASS/
2347 016716 027040 027056 027036
3348 0l6re4 042040 020117 047531
3349 016732 020125 O4OSI0 042526
3350 016740 0S2040 042510 042440
3351 016746 062130 0SII05 040516
3352 016754 020114 047515 Q42504
3353 016762 020115 OS4502 040520
3354 016770 051523
336c 016772 005015 045001 046525 .ASCIZ <15>¢12><1>/JUMPER CONNECTOR ON ?(Y OR N)-/
3356 017000 042520 020122 047503
3357 017006 047116 041505 C47524
3358 017014 020122 047117 037440
3389 017022 0S44E0 (047440 020122
3360 017030 024516 0000SS
3361 (EVCY
3362
3363 ;BUFFERS FOR INPUT-QUTFUT
3365 017034 0OOOHO INBUF: .BLKB Y40
3366 017074 000040 TEMP: .BLKB 40




- ———-
CCUD-C MACYLI1 27(10086)

3365 017134 000040

3369
337
3371
337
3373 017174 3006367
3374 017200 006367
3375 017204 006367
3376 017210 006367
3377 017214 006367
2378 017220 016767
3379 017226 162767
3380 017234 042767
3381 Q017242 000207
3382 017244 000240
3383 017246 000200
3384
3385
3386 017250 016767

0
3387 017256 00S267
3388 017262 016767
3389 017270 005267
3390 017274 0167€7
v 3391 017302 016767
3392 017310 00S2e?
| 3393 017314 016767
3394 017322 016767
3395 017330 005267
339% 017334 016767
3397 017342 00See7
, 3398 017346 016767
3399 017354 005267
3400 017360 016767
3401 017366 005267
3402 017372 016767
2403 017400 003207
3404 017402 000000

3408

2407

3408

3409 017404 042777
3410 Qi7412 005067
3411 017416 006067
3412 017422 006067
3413 017426 006267
3414 017432 042767
3415 017440 056777
3416 017446 042777
3417 017484 052777
3418 017462 005367
3419 017466 001346
g:sg 017470 000207

MOS

J1-0CT-T6 09:34 PRGE &7

D2DUDC.Pl1 21-MAY-76 00:00

MCATA: .BLKE 40
SRERERRERRERRERRERREREERREFRRSERRSRFERRFRRFRRSRERAS S AR S3 I 44

{UTILITIES
SERERERERRERRASERPERRRRRTRRERIRRRERREFRRIP IS S BRS R RS S RRRAS 4SS

: THIS UTILITY CALCULATES PRIORITY LEVEL

00004Y OULEV: ASL DUPRT  ;SHIFT LEFT

000040 ASL DUPRT :

000034 ASL DLPRY

000030 ASL DUPRT ;

000024 ASL DUPRT  : ) A
000020 000029 MOV DUPRT,LESS] ‘MJVE THIS TO LESS:
000001 0JCOI2 Sus ], LESS] :CR-ATE LESSI
000037 00000 g%g ;g?,Lsssx :CLEAR TNZV2

DUPRT: LEVELS
LESSl: LEVELY ;LEVEL TO ALLOW INTERRUPTS

:NEW DU ADDRESSES
000126 000422 DURDDR: MOV gugggé,nxcsn s XXX0

000120 INC U

000114 000412 MOV DUBASE ,HRXCSR  ; XXX1
000106 INC DUBASE

000102 Q00402 MOV DUBARSE,RXDBUF  ; XXX2
000C74 000400 MOV DUBASE,PARCSR  ; XXx2
000066 INC DUBASE

000062 0003b4 MOV DUBASE , HRXDBUF  ; XXX3
rJoos4 000362 MOV QUBRSE ,HPARCSR  ; XXX3
000046 INC DUBASE

000042 0003S2 MoV DUBASE, TXCSR ; XXXY4
000034 INC DUBASE

000030 000342 Mov DUBASE ,HTXCSR  ; XXX5
000322 INC DUBASE

000016 000332 Mov DUBRSE, TXDBUF  ; XXXb
000010 INC DUBRSE

000004 000322 E?g ggBQSE,HTXDBUF ; XXX?7

OUBKSE: O

s THIS UTILITY POKES THE MAINT DATA BASED UPON THE
: INFORMATION CONTAINED IN TEMPL AND IT IS
:SHIFTED IN BY THE CONTENTS OF SHIFT

040000 000302 RPOKE: gxc $MTDATA, 3TXCSR

161530 LR TEMP2
161522 ROR TEMPL  ;FORCE CRRRY
161520 ROR TEMP2  ;PICK UP CARRY IN BIT 1S
161514 ASR TEMP2  :SHIFT INTO BIT 1M
100000 161506 BIC sBITIS TEMP2 (LR BIT 1S
161602 00C246 BIS TEMP2,0TXCSR  :POKE MAINT DATA
020000 005240 BIC sCLK, 8TXCSR s POKE CLK
020000 000232 BIS $CLK JTXCSR :
161452 DEC SHIF}

ENE RFOKE

RTS PC

; THIS ROUTINE CALCULATES OCD PARITY FOR AN 8 BIT CHAR

SEG COe+




3423
3424

017556
017564
017570
Q17574
017576
017602
017606
Qi7&l2
017614
017620
017622
017630
017632

017640
017842

017646

017650
017652
017654
017656
017660
017662

celJD=-C MACYLl 27110306)
CZOUBC.P1L

016767
005067
012727
0C0000
006067
005567
005367

000403
042767

000207

016767
005067
012727
000900
006067
005567
0OS3E?
001371
006067
103004
052767
000403
042767

000207
062716

000002

017734
000000
000000
017750
020121
020142
020012
0edlel
020142
020054
020icl
020142

160040
160041
160042
16C043
160042
160043
160044

i-0CT-T6 03:34 PRGE 68
el-MAy-7% 00:00

161446
161444
00C010

181430
161426
177762
161414
000400

0004Co

161362
161360
0C00L0
161344
16134¢
177762
161330
0co400

000400

000002

161446

161400
161370

161362

161314
161304

NOS

TEMPL, TEMP2 ;SAVE TEMFI

aCD8: MoV
CLR TEMP3
MOV 88., (PC)+
4g: 0
13: ROR TEMP2
ADC TEMP3
NEC 4§
BNE 13
RO TEMP3
8CS 23
"és gnge TEMPL SET COD PARITY
d
2%: 8I¢ 88178, TEMP :CLR EVEN PARITY
‘TEMP1 NOW Hné 00D PARITY CHARACTER
33: RTS PC
THIS ROUTINE CRLCULQTES EVEN PARITY FOR nn 8 BIT CHARACTER
EVENB: MOV TEMP1, TEMF2 SAVE TEMP
CLR TEMP3
MOV %8., (PC)+
4¢- 0
18: ROR TEMP2
ADC TEMP3
DEC 4§
BNE 13
ROR TEMP3
BCC 2%
gés 52179 ,TEMP1 :SET EVEN PARITY
2s: BIC #3178, TEMP1 -CLR ODD PARITY
25 pTE"P‘ Ngg MRS EVEN PARIYY CHARACTER
TRPREG: RDD %2, (SP) ;ALLOW IT TO "CRUNCH" INTO HLT BACK
eI :IN MARIN PART OF THE PROGRAM
ERROR HLT TRBLE
.ERRTAE: gno :HLT O BIT ERROR (GENERAL)
0
EML KLT 1 REGISTER ERROR
DH1
0Tl
EM2 :HLT 2 RECEIVER ERROR
3
Eﬂ? sHLT 3 TRANSMITTER ERROR
DTl
-DEFAULT DU ADDRESSES A
RxCSR: {e0o40
HRXCSR: 160041
RXOBUF: 160042
HRXDBUF : 160043
PARCSR: ~ 160042
HPARCSR: 160043
TXCSR: 16004M

Ses OCES




SSTJD-C MACYIL ET(1008) JI-0CT-TB 09:34 FRGE 69
OSDRL. Pl 21-MAY-rp 00:09 SEC 0066
J°3 DITTIE  16004S 4TYCSR: 180045
g0 017720 160046 TXCBUF: 160046
431 GI~r22 160047 HTADBUF : 160047
N82 ;CEFAULT DU VECTORS
83 01774 000770 DURIV: 70 :REC INTR VECTOR
ue4 QO177ee COO772 OCRIS: 772 :REC INTR STATUS
85 017730 D0077M BUTIV: 774 +XMIT INTR VECTOR
348 017732 00778 DUTIS: 776 :XMIT INTR STATUS
2987 _ ;ERROR MESSAGES
438 017734 056440 O4a4N0 051122 EMO: "RSCIZ /= ERRCR PC~/
3483 017742 DEi117 000103
(2430 017780 036440 051040 £-3805 EMI: .RSCI12 / = REGISTER ERROR PC/¢15>¢12>¢1>/REGISTER /
| 3431 017786 0S5.511 0[u2S24 020122
32 CI77EM 051105 0w7Se2 020)22
3493 017772 081520 00SDIS 051901
3494 (20000 O438LS 01511 0942524
9 020006 020122 000040
. 34% (20012 036440 0SION0 041805 EM2: .ASCIZ / = RECEIVER ERROR PC/¢15>¢12>¢1)>/REGISTER ~
i 497 020020 044505 [4526 020122
| 2438 020026 051105 047822 J20122
. M99 0o00M 041520 00SDIS (GSIOCT
' 3500 0200N2 ON3S05 0S1511 (ON2524
. X01 (020050 020122 000040
i 3€00 020054 036440 052040 O40S22 EM3: .ASCI1Z ~ = TRANSMITTIER ERROR PC/<153¢12>(1>/REGISTER ~
. 020062 051516 O44S15 0S2124
XN 20070 05118 042940 051122
. XX 020076 051117 DSOOM0 00RSO3
506 02010 0004j2 D42See ONu4SI?
X607 020112 0S2123 0S!1105 020040
X8 020120 000
509 :DATA HEADERS FOR ERROR MESSASES
€10 peal2l 105 050130 0O4IE0S LMl "RSCI2  /EXPECTED RCTUAL/
1! 00126 042524 020104 O4O94G,
%5 020134 082103 ONCS25 0001l EVEN
3514 ¢ .DATAR TABLES FOR ERROR MESSAGES
X15 g20i42 000oS3 oTi: 3
X1e 020144 006 004 B7TE B,
X17 020i4 001164 SAVRI  ;REGISTER
X1e 020150 606 004 BYTE b4
. X519 (20182 001186 SAVRO  :EXPECTED DATA
3620 G201t 006 002 BYTE &,2
%21 020156 D01160 SAVRL  ;ACTUARL DATA
F*oe 600001 JEND

- e ar— -
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CoOUD=C MaCYLL 27 (10061
el-MAy-"¢ 02:00

DIOUDC.PLL

AR 0C2046
R TREG 0Cle2lb
RDRCNT= Q14263
BRSERD 331204
BRSEIV i2le
888 001664
BINWRD 014600
BITW = DQ2CO0
BIYC = 000001
BIT!l = 00000
BiT10 = 002000
21711 = OC4000
BlTle = 010000
EI713 = 020000
BITI4 = OND000
BITIS = 100000
81T2 = 000004
BIT3 = 000010
BIT4 = 000020
B" 7 = 0000N0
Blla - 00100
BIT? .- 22C200
BIT8 = DOO400
BIT9 = 001000
BREAK = 0000921
20 313%1Y
BRX 013616
+ARDET= 010000
ceC 013350
CHRONT 014578
SKSR = 104413
K - 3380
ONTLY = 10441
CNVRT = 1DuM1}
CONVRT= 104410
COUNT  D05142
€IS = 020000
DATABP 01S0Se
OATHD 01
DEVRDR 0IN
JEVICE 015767
Onl 0e0lel
CISPRE 002174

J1-0CT-76 09:34 PRGE 7

Cus
-

oyYrGye— mgma‘

RS
mo—-o—;o—-.—o—-o—

&3

PUN U0 0 gt 0t et Pme
N
LUN

L

n
oo
- )
o
-

B10s

2786

25

N aRTRaER

&3
Lol

{ROSS REF
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C<DUDC.PLL

DLIGHT=
DNR =
DNRINT=

0S¢

DSINTE
DSR

OSSR
DIR
0Tl

QURDOR
DUBARSE

DULEY
DUPKRT

9
el-"RY-6

:

65008

798
6868
E438
6538
6498
599s
6578
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00:03

3470
3386#%
2787%
3398
3374»

8%4
1495

3135+
28OS

1666

1303

29748

2853#
843
2951
88S
1666
2376

g8y
2784

33804
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3JSi5s

3386
3399#

3375#%
2789#%

2219

2851+

1777

1556

292
3073
835
1713
e384
928

936
33838

3387%
3400

3376#%

27%%

2274

3097%

1887

1611

3064

906

1721

930

D06

3388 3389
3401* 3402
3377% 3378
3483
2329 2384
3110 3llb#
1998 2108
1666 1721
3068 3385
Q31 941
1879 1887
2783

CEG OCe8
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0ZDUDC.PLL 21-MAy-r6 00:03

LeVELO= 0CC000
LEVELl= O0COND
LEVELe= 000100
LEVEL3= 000140
LEVELN= 000200
LEVELS= 000240
LEVEL%z

LEVEL?=
LIGHTS 001102
LINITS Q14204
LOBITS 014262

LSTERR Du: ™
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SRS sREs
SRRk
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MEYNC (1b40e
MIDATAR= <0000
MYITLE 015472
MISTPC 016277
MALTD 00)202
MVECTO 0155
MJIREY 016563
MJIRES Q016516
Ml 016450
NEXT 001116
NOPAR =

00DPAR= 001000
oor8 017472

6408
6398
6388

B4

3317
1037#
1820#%
2S40#
1047
1611}

g44s

gS4#*
29768

1003

29738
2848#
280Y4#

3006
33678
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2807
2977

99!

1165#
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1175
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c8Ses
3096#

32838

Qo—-o—
JOn
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g

2762

1229#
1988#%
2705#
123%
1942

EOQ6

3182+

1300 13t4 1428 1492
2050 2105 2160 2216

1293%  1357%  1¥21% 1485
cO43x  2098% 2153 2209x
2834 2854 3140

1303 1367 1431 1495
20583 clb3 2274 2384

1583
2e71

1294
1659
2044
2377

1546#
2cbu*

2495

1608
232b

1296
1712
2046
243l

1601#*
2319%

2605

1663
2381

1358
1714
2099
2433

1656#
2374#

2715

SEG C0e9

1360
1768
2101
2486

1711
2430#*
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QUTMUL 0020eM
OVRRUN= 040000
PRARRAN = 10440S
PRRAM] 014110
PRRCSR 017710
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POPRD
POP1SP=
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:35352
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RXERR = 100000
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828888
FERERIES

cccoccocc
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CROSS REFERENCE TRBLE -- USER SYMBOLS

979
31938 3200 3204 32lbs
27998

929

Q40w
88?7
1103#
1495#
1879+#
2219
2597+%

2938

2806#

9E7#

31928

27878

28iSs

915#
1017

908
1111%
1548%
1887#

ocbb¥
2b0S*

2947
2807

2815+

3206#

933

1167*
1556#
1934+
co74%
b5+

2957

317¢»

3216#

91S*
1023

S46
546
S46
Su4b
S46
S4b

943 1014
1.175%  1231#%
1603% 1611%
1S42%  199C#
e3elx 2329
2660* 2707*
2959 296!
24 927%

2817  2834#

3210

1239%
1658*
1998%
2376b%
2715%

2774+
2835

P 2N

1295
1665%
2Qus#
2334+
3391#%

ar??
2g54#

1303%
1713%
2053+
2432*
34768

2781#%
285%

1359#
1721#%
2100%
o940*

3140#

1367#%
1769%
c10B8#
2487+

3142

SEQ 0070

1423%
1777 %
2155+
249S#

3183
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JD~C MACYLY ar\éaagz ﬂ;-gcr-rs 09: 34 pnos *2
117 “Ter-wAv=te 0f8:0 CROSS REFERENCE TRBLE =-- USER SYMBOLS SEG 0071
0C117C ~S4s  2965# 3000
001172 7558 3157%  316M
104406 04s 3098
104460 S2s 1088 1152  lEl6 1280 1344 1408 I472 1536 1ESl  IeMB 1701  17%B
1812 1867 1833 1977 2033 20e8 2143 2198 2284 2309 2364 2419 2475
2530 2565  2eM0 2695 750

104401 7948

000020 8878 1044  1:08 1172 1236 1300 1364 1428 1492 1553 1608 1663 1718
1779 1829 1884 1939 1995 2050 2105 2160 22i6 2271  23z. 2381 2437
2492 2547 2802 2657 2712

001200 7608 975 -

104412 Bl2s 897 970 97 978 982 1001

004000 673 1175 1431 1998 2053 2108 21863

001177 7538 971

001140 7428 1051% 1069% 1115% 1133% 1179% 1197% 1243% 1261% 1307% 1325% 1371%  1389%
1435% ]4S3% ]499% 1Si7# 1560% 1578% [BIS# 1633% 1670% 1688% 1755% 1743% 1781
1793% 1B3p* [BS4# 1891% 1309% 1346* [964® 2002% 2020% 2057% 2075 2112¢ 2130
2167%  21RS* 2223% 224l¥ 2278 2296% 2333% 23IS[¥ 2389% o40b* o444E S4Bk 249Gk
2517% 2554 2572% 2609% ob27® o6E4® 2682 2719% 2737%  34iB#

002000 g72s 1111 137 1777 IB32 1887 1942

014577 3017% 303t 3035 30558

002000 B48s

001100 6028 829 988 3141 3173

000010 6558

001223 781s 832

000400 6508

014272 2968Ss

001100 7208 B44# 849 g53% 859 862 997 1010 2839 284 2863 3092 3128
3136 3138 3197

0OC176 71ls  BS53 853 3197 3213 3220

015436 3208 32188

009001 €828  Be2

000002 Egls 1010

000004 €308

000010 €794

009020 5788

000040 5778

000100 5768

000400 E758 3136

001000 G74s 2863

002000 573s 3138

004000 5728 284

010000 57218

029000 c708 3092

G40000 6e9s 2839

00000 S688

001176 7688  959% 963«

00 6698 1286 1303 1359 1367 1423 1431 1487 1495

030000 6bBs 1039 1047 1103 {111  11p7 1175 1231 1238 1S48 15856 1803 161l
1769 1777 1824 1832 1330 1998 2046 2053 2211 2219 2286 2274 2432
2440 2487 2495 2642 22550 22597 2605 2652 2660 2707  271S

000020 654

014000 6348

017074 3013 3021  3046% 3174% 3175k 33668

001 144 744¢  10S0¢ 10Se# 1lius 1120 1178%

?3: 1242%  1248%  1306% 1312% 1370% 1376%

il
1434#  1440%  |498%  |504#  1S59%  |SpS# 16 1620% 1669% 1675% i724% 1730% 1780%
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el g
B ods s o

3440 3450%  34S2#

TEMP2 DOLING k5@ 34I0# 34lex 3413k
TEMP3 001150 7468  3013% 3046 3424+
TEMPY 001182 7478
TEMPS 001154 7484 _
TKCSR  O0110M 7ccs 2842 c532 3199
KDBR 00110& 7238 oMY c894 2902
TLRST = 0]l2662 1016 27528
TPCSR 001110 7248 2875 2903
TPOBR 00llle 7058 2877%  2902x
TRPOK  (l4bbe 3083¢
017642 34554
TS7 001126 7348 B37% 1036% 1100%
1710% 1766% |82]l% ]1876%
2429  2484%  2539% 2594
1ST1 0023S0 1015 1021 10368 2817
1ST10 DOSllie 1546 1600
TST11  QOS3NM 1601 16558
TST12 005556 1656 17108
1ST13 006000 1711 17668
TSTIN 006222 1767 18218
| TSTIS  QOSH4M4 1822 18768
1ST16 (006666 1877 19318
TST17 007110 1932 1987s
1S7T18 (007332 1988 20428
IST19  DO7SS4 2043 20978
T1STe 00z602 1037 11008
; 1STe0 007776 2098 21528
' 1STel 010220 2153 cc08s
1ST22 DI104Y4e 22098 ccbis
| TST23 010664 2oty 23188
i IST2Y 011106 2319 23738
| IST2S 011330 2374 24298
157126 011552 2430 c4Bys
t IST27 011774 248s 25398
1STe8 0le2216 2540 25348
L 1ST29  Dl12440 2595 26498
l 1873 00304 1101 1164
1S130 0loeb 2650 c7048 2752
TST3] = #Eegds 2705
™ 003266 1165 122088
18718 003Se0 1229 12924
1576 003752 1293 13568
1 1SY? 004204 1357 14208
, 1878 004436 142} 14848
. 1579 004670 148S 1645s
' TTSY 013516 994# 99S%  100S*  1006#
LIXCSR 0177184 1038%  1040%  1044% 1048
' 1104 1108% lll2 1117%
‘ 1172% 1176 1181% |]182#
‘ 1240 1245%  1246%  1252%
1309%  1310% 1316% ]317#%
13748  1380% 13Bl%# 138¢

1896%
277%
blys

3414+
348

320!

1164%
1931#%
cby9*
2818

HOB
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13‘55:
5663!

3418
S431#

1208#%
1987%
2704#%

1951 %
332%
oS

3423#
J44] %

1292#
2042#

c001*
2338%
o718%

427%
J445%

1356#
2097#

2007%
23B7#%
2724#%

3440#
3448%

1420%
2152+

c0SE#*
£393%
34]11%

344Y»

1484%
c208*

2062*
244 3%
3423

1545#%
c2b3*

2llls
2449+
3433¢

1600*
2318%

SEQ 0072

cll7+
2498
3435+

1655%
2373%




CDUD-C MACYL1l a7 (10d6)
DSDUDC. P11

T™XDBUF 017720
| TXDONE= 000200
TXINTE= 000100
| IYPDAT 015042
' TYPE = 104402
TYPMSG 018012
' USER = 000000
v0ID = 000001
WRDCNT 014574
ZERO 013160
SCNTG 015444
| SE = 00C040
!
 SMNEW (15461
SMSWR 015461
SN = D00036
SY = 00001S
', = 020160
.BEGIN (002156

_.CKSWR 015316
.CNTLU 015372
JCNVRT 014362
.CCHVR 014356
ECP  013!04
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CROSS REFERENCE TRBLE -- USER SYM3OLS

2l-MAY-76 00:00

1444 %
1509
1571

144S»
1210

1681 #
1657#
1718%
1783%
1845%
1302

1969

2046
2109

2170%
2233#
2299%
2375#%
c437#
2SOl #
2563#%
2620

2687

3409%
1113#%
1889#%
cb07%

3120
B42

3179

31148

3044

iqgs

#
253

1659
1722

1784%
1846
13]2#
1989#*
c0S0#
cllyx
2176%
e234

2301

2377%
44l

2S02o#
oSEY#
2630%
2706%
3415#%
1177%
1944%
cbbe#*

31238
1022
3205

1456#%
152

1602%
1663*
1727%
1790#%
1847
1914

1991#%
20SY

2115%
el77%
ol b L
2320#
c38l#
2446

1468

1530

1604#
1667

1728%
1791+#
1857#%
1933%
1995#%
2059
glel*
2178

ec4b

2322k
2385

2447
2509#%
2575#
cbS1*
27l
3417%
1305*
2055+
3400*

2761
3215

106

1466

1547%
1608%
1672%
1734%
1792

1859

1935%
1999

2060%
cleo#
c168#%
22b5#%
23cb*
2390#%
2453
eSl10

2577

cbS3%
2716

3478s
1369%
2110%
34808

2766

1486%
1543%
16!

1673%
1735%
1802%
1878%
1939%
c00Y4*
2066%

2888

2838

2910

2914

3005

12943
1711
20448
2430

12944
1710
2044#
a4e9

810s

1502#
1569%
1626
1693
1770%
1833
1894%
1956%

099%
2160%
2c25#%
2c87#%
2344
24yll
c4B8*
2551
cblex
cb74#
2740#

1723%
24y4c#

3042

1357
17128
2098
24318

1356
12124
2097
243l

gles

SEG C073

1508#
1570%
1636#
1712%
1774%
1838%
1900%

3117
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DZDUDC.PI1  2I-MAY=76 03:00 CROSS REFERENCE TRBLE -- USER SYMBOLS SEQ 0074
.ERRTA 017650 3106 34598

CHLT 014702 702 303is

.INSTE 014016 80l 2908«

JINSTG 014022 2907 29108

JINSTR 013700 799 28848

JINSTL 013720 20888 2899 2915

'MSG 013722 2826+ gBE9s  3201*  3202¢ 3203

-PARAM  DI40S0 803  2922»

'PFAIL 0I5]52 700 830 31508 3171

-RESOS 014324 807 2935

.GAVDS 0I426Y 805  2981#

-SCOPE 013434 793 28228

.SCOPI 013620 795 28b2w

.SETFL 014602 813  30e3r 3074

.5TART 001260 712 828 838 2770

"TRPSR  OIHBSQ 204 30808

_TPPTA 001226 789 3085

LTYPE  DI3840 797 28704




<0UD-C MACYl1! 2°(1006) J1-0CT-T6 09:34 PAGE 80
DZ0UDC. P11 2l-MAY-76 00:00 CROSS REFERENCE TARBLE -- MACRO NAMES SEQ 0075

hLY eles 1066 1078 1084 1130 1142 1148 1194 1236 1212 1258 1270 1276 1322 1334
1340 1386 1338 1404 1450 1462 1468 iS14 1528 153¢ 1575 1587 1630 1642 1€85
1697 1740 1752 1796 1808 1851 1863 1906 1918 j961 1973 2017 2029 eQ7e 2084
2la? 2139 2182 2194 2238 2250 2293 2305 2348 23e0 g403 2415 2459 2471 2514
2526 2569 2581 2624 cb3b 2679 268! 2734 2746

PUSSYF SSas

RSETUP 5528

TSETUP S5es 1038 1102 1166 1230 1294 1358 1422 1486 1547 1602 1657 1712 1768 1823
éggg 1333 1988 2044 20%9 2154 2210 22bs 2320 2375 243l 2486 2541 2596 2551

SBEGIN 5528 384

SBINAR S5

S3UFFE 5528 3362

SCABLE 5524

SCNA SS2s 1025 1089 1153 1217 1281 1345 1409 1473

SGETFL 5528  B3E 968 972 976 980 339
§GETPA G528  B7Y 8gs 905 931 340 1012

SHLT S5es 3088
| SINSTR 6528 2881

$150B 652%

SMATCH 5ot

$MRR 652t

SMRRU 5528

 SPOKE  Gbes 1053 1059 1117 1123 1181 1187 1245 1251 1309 1315 1373 1379 1437 1443
, .50 1507 1552 1568 1eI? 1623 1672 1678 1727 1733 1783 1789 1838 1844 1893
]399 1398 134 2004 2010 2053  20eS  A1l4 2120 2169 2175 2225 2231 2280 2286
33 23l 20 2% e 2452 2SO0l @s07 @SSk 2Ske  2ell  eel7  aee  zere  erel
SPOKER 5528
SRCNET G2

SPESET S528 1038 1040 1102 1104 1166 1168 1230 1832 12394 1296 1358 1360 1422 1424
1486 1488 1547 1549 1602 1604 1657 1659 1712 1714 1768 1770 1823 1825 187
1880 1933 1935 1989 1891 2044 2046 2099 2101 2154 2156 2210 g2lée 2265 2267
2320 23ce 2375 e37? 2431 2433 2486 2488 984} 2543 cS%6 2598 2651 2653 2706

. SSETVE cSes £36
SSTART 5528 820
$STRIP 3524
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$SYMBO cSes 865

$SYNCR coas

$TRAPS S52s 784

$TRPRR S52s 1537 1592 1647 170 1758

l 1868 1923 1979 2034 2Ca9 2144 ee00 2255
e3id Eggg 24l e47d6 253l 2586 2

ceqt

813
£41
STRPDE 5528 794 79 798 BO0 802 809 80P B8O B10  &l2 84  BI6
STRPSR 5528 3075 _
§TSTNO  B53% 1036 1100 1164 1228 1292 1356 1420 1484 1545 1800 165 17i0 1786 1B}
1Be 1S3l 1967 ev2 0% 2082 2208 @3 238 2373 N3 2R oS3 WM 2649
$TYPE 5528 2867
SUNIBU  B5os
SVARIA 5528 IS
SWORDF 5528
$WORDQ 5523
SWORDP 5328

l
. RBS. 020160 000

ERRORS DETECTED: O
DEFAULT GLOBALS GENERATED: O

DZDUDC, DZDUDC/CRE /SOL=HELLO.P11,PARA.P11,KEET.P11,D2DUDC.P1!
RUN-TIME: 23 35 3 SECONDS

RUN-TIME RATIO: i43/61=2.3

CORE USED: 1BK (35 PARGES)
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